MRl E#RBS IEER(BA25H~31HEES)

JAL/JTA/JAC/RAC

FRFES:2/2 EEEEE

st R FAEEIS| INRAR R RMEIS| SREMNERIRBEIE]
X #ZH® | BHHO e E—75H E—75H E—75H

a0 | FE0 | EEG) 3/25-3/31 251% g% |3/25-3/31 251% g% |3/25-3/31 251% -3
RRCPA) =24 [EECHA)H| I+ (GBH) JAL/JTA[JTA/RAC 57,700 6% 28,850 53% 35,500 42%
EH% [HEGH) JTA/RAC[JAL/JTA 57,700 6% 28,850 53% 35,500 42%
RRECHA) =R\ [EFECRR) |+ (HBH) JAL/JTA| JTA 61,500 8% 30,750 54% 37,950 43%
AEHE [HEGER) JTA [JAL/JTA 61,500 8% 30,750 54% 37,950 43%
KB (7} =% @31 | KRk () [ R= CRA) JAL JAL 50,600 25% 25,300 63% 27,850 59%
HLIE (i T %) JAL JAL 50,600 24% 25,300 62% 27,850 58%
i FE | RECHEH) JAL JAL 50,600 25% 25,300 63% 27,850 59%
LR (T %) JAL JAL 50,600 24% 25,300 62% 27,850 58%
KB (B8TE) =% 3 | Kbk (B3#E) 5| = CRIEA) JAL JAL 50,600 25% 25,300 63% 27,850 59%
LR (i T %) JAL JAL 50,600 24% 25,300 62% 27,850 58%
i FE | RECHEH) JAL JAL 50,600 25% 25,300 63% 27,850 59%
HLIE (i T %) JAL JAL 50,600 24% 25,300 62% 27,850 58%
KR (FFH =8I [ KBr (R FH % | 3R CHEA) JAL JAL 47,900 28% 23,950 64% 26,200 60%
B  [HECHE) JAL JAL 47,900 28% 23,950 64% 26,200 60%
Khx (BE7E) =#BJIl | KBx (BE7E) % | 3R CHHE) JAL JAL 47,900 28% 23,950 64% 26,200 60%
BN  [HECHE) JAL JAL 47,900 28% 23,950 64% 26,200 60%
KR (FFH) =8B [ KBx (R F) %[ 3R CHEH) JAL JAL 48,400 26% 24,200 63% 26,500 60%
fipER  [HECHH) JAL JAL 48,400 26% 24,200 63% 26,500 60%
KR (BFH) =5 [ KB (R F) %[ 3R CHEH) JAL JAL 47,900 26% 23,950 63% 26,200 60%
HEE [ERE(CHHE) JAL JAL 47,900 26% 23,950 63% 26,200 60%
KR (FFH) =&E | KBR (R F) %[ 3R CHEH) JAL JAL 48,000 18% 24,000 59% 26,450 55%
BHEER [HECHHE) JAL JAL 48,000 18% 24,000 59% 26,450 55%
KR (FH ==iR [ KB (R F}) %[ 3R CHEH) JAL JAL 40,000 29% 20,000 64% 24,200 57%
ZR% [HECHH) JAL JAL 40,000 29% 20,000 64% 24,200 57%
pNAGED) R | ABx (B876) | RE CHHE) JAL JAL 40,000 29% 20,000 64% 24,200 57%
KR (A =02k [ XBR (R % ] JAC JAC 20,500 37% 10,250 69% 13,100 60%
ETES 3 JAC JAC 20,500 37% 10,250 69% 13,100 60%
KB (D) =BF8|XR(FHF| ER JAC JAC 32,600 22% 16,300 61% 20,850 50%
BrEH BRE JAC JAC 32,600 22% 16,300 61% 20,850 50%
KR (BFH == [ KB (fRFH) F[ 048 (BBI;R) JAL _[JTA/RAC 50,000 9% 25,000 55% 27,500 50%
EOX [HEGH) JTA/RAC| JAL 50,000 9% 25,000 55% 27,500 50%
KR (BAE) == [ KB (BEdE) F| P48 (BBIR) JAL/JTA|JTA/RAC 50,000 9% 25,000 55% 27,500 50%
EH% [HEGH) JTA/RAC[JAL/JTA 50,000 9% 25,000 55% 27,500 50%
KR (FH =18 [ KBk (RFH) F[ 048 (BER) JAL JTA 52,000 14% 26,000 57% 31,000 49%
AEHE [HEGER JTA JAL 52,000 14% 26,000 57% 31,000 49%
KR (BEE) =FR1E | KBx (REFE) F| P48 (BBIR) JAL/JTA| JTA 52,000 14% 26,000 57% 31,000 49%
AEH  [HEGER JTA [JAL/JTA 52,000 14% 26,000 57% 31,000 49%
LR (hE) =% 8| & EE (P &) F[4LIE T %) JAL JAL 46,000 27% 23,000 63% 25,450 60%
LT R FTR JAL JAL 46,000 27% 23,000 63% 25,450 60%
AHE (P ==& |25E (hE) £ G5 JTA [JTA/RAC 51,000 14% 25,500 57% 28,150 53%
EH% [HEGH) JTA/RAC| JTA 51,000 14% 25,500 57% 28,150 53%
AT E (FE) =RiE[25E () 2[4 G5 JTA JTA 52,000 20% 26,000 60% 28,950 55%
AiEH [HEGER) JTA JTA 52,000 20% 26,000 60% 28,950 55%
IR (BT ) =/MA[ALIR BT | R CREA) JAL JAL 39,000 35% 19,500 67% 21,450 64%
MR [FECHE) JAL JAL 39,000 35% 19,500 67% 21,450 64%
FLOR G T %) = Rel L1 [4LI% (T ) | R CHH) JAL JAL 41,000 40% 20,500 70% 22,400 67%
FELFE  [HECRA) JAL JAL 41,000 40% 20,500 70% 22,400 67%
IR FT%) =L 8 [4LIR @ T 5| HR CHEH) JAL JAL 42,000 39% 21,000 69% 23,050 66%
LEB% [FECHH) JAL JAL 42,000 39% 21,000 69% 23,050 66%
IR (B F %) = IO 8 | #LIR BT %) % R CRH) JAL JAL 49,000 32% 24,500 66% 26,900 63%
WOFER%E [HECHE) JAL JAL 49,000 32% 24,500 66% 26,900 63%
AR BT %) =HE IR @ T % HE CHH) JAL JAL 44,000 36% 22,000 68% 23,950 65%
HEH [RRCRA) JAL JAL 44,000 36% 22,000 68% 23,950 65%
IR BT %) =B AR @ T 2| HE (CHH) JAL JAL 45,000 33% 22,500 67% 24,950 63%
mEH [FECHH) JAL JAL 45,000 33% 22,500 67% 24,950 63%
IR (BT %) == [ALR G TR % R CRA) JAL JAL 46,000 32% 23,000 66% 25,550 62%
=% [FECHH) JAL JAL 46,000 32% 23,000 66% 25,550 62%
IR (BT ) == & [ALIR G T ) | =R CRA) JAL JAL 48,000 31% 24,000 65% 26,500 62%
=A% [FECHH) JAL JAL 48,000 31% 24,000 65% 26,500 62%
FLIR (BT %) =AU [ALIR G F#) | R CREA) JAL JAL 51,000 27% 25,500 63% 27,950 60%
WL [FECHHE) JAL JAL 51,000 27% 25,500 63% 27,950 60%
ALIR (BT %) =L S [ ALIR B T #%) 5| S CRIE) JAL JAL 49,000 34% 24,500 67% 26,900 64%
AMFE |RZECHEH) JAL JAL 49,000 34% 24,500 67% 26,900 64%
IR BT %) = K5 LR @ T 2| RR CHH) JAL JAL 49,000 33% 24,500 67% 26,900 63%
AH% [FECHH) JAL JAL 49,000 33% 24,500 67% 26,900 63%
IR BT %) =R 4R T % HR CHH) JAL JAL 51,000 34% 25,500 67% 28,150 63%
RB% [HECHH) JAL JAL 51,000 34% 25,500 67% 28,150 63%
IR GBI T %) = RE AR [4LIR (T 2| RR CHH) JAL JAL 50,000 33% 25,000 66% 27,500 63%
A% [HFECHH) JAL JAL 50,000 33% 25,000 66% 27,500 63%
IR BT %) = =6 [4LIR (T 2| /R CHH) JAL JAL 51,000 32% 25,500 66% 28,150 62%
ER%E [RRCRA) JAL JAL 51,000 32% 25,500 66% 28,150 62%
AR FFR) =ERS[ ARG TR | RR CRA) JAL JAL 57,000 26% 28,500 63% 31,350 59%
BRE% |RFE(CHH) JAL JAL 57,000 26% 28,500 63% 31,350 59%
IR (B FR) =BEXS LI FT%) % /R CRH) JAL JAL 58,000 31% 29,000 65% 32,000 62%
EEAEH KRR (HH) JAL JAL 58,000 31% 29,000 65% 32,000 62%
AL BT 2% =48 GBI | LR (BT F %) %[ R R (PIE) JAL _[JAL/JTA 59,000 25% 29,500 62% 32,750 58%
KB (BFE) JAL [JAL/JTA 59,000 26% 29,500 63% 32,750 59%
£EHE (PEH) JAL JTA 59,000 27% 29,500 63% 32,750 59%
128 JAL JTA 59,000 29% 29,500 64% 32,750 60%
HR (B! F|RE (BH) JAL/JTA] JAL 59,000 25% 29,500 62% 32,750 58%
KB (B FE) JAL/JTA| JAL 59,000 26% 29,500 63% 32,750 59%
128 JTA JAL 59,000 29% 29,500 64% 32,750 60%
12 =% 3l [EEEINEGACRT:) JAL JAL 60,000 27% 30,000 64% 33,350 59%
HLIE (i T %) JAL JAL 60,000 22% 30,000 61% 33,350 57%
ST ESACRED JAL JAL 60,000 27% 30,000 64% 33,350 59%
LR (T %) JAL JAL 60,000 22% 30,000 61% 33,350 57%
2=l BE% [FECHH) JAL JAL 60,000 25% 30,000 63% 33,350 59%
BII%  [HECHH) JAL JAL 60,000 25% 30,000 63% 33,350 59%
1= =2 BE% [FECHH) JAL JAL 60,000 25% 30,000 63% 33,350 58%
SipEs  [FHECHH) JAL JAL 60,000 25% 30,000 63% 33,350 58%
' =%k BE% [FECHH) JAL JAL 60,000 24% 30,000 62% 33,350 58%
HHERE  [FECHHE) JAL JAL 60,000 24% 30,000 62% 33,350 58%
12 =BKEE BE% [FECHHE) JAL JAL 59,000 19% 29,500 59% 32,700 55%
HEER [HECHH) JAL JAL 59,000 19% 29,500 59% 32,700 55%




MR EMEE| JEER (3A250~31 HIEES) gl TAR A

et HRIRBEE INRARRIRMEIS| SIRENERIRBEIE
X #ad | BHBO A= E—5E E—5E E—5H

a0 | FE0 | EEG) 3/25-3/31 251% g% |3/25-3/31 25|% g% |3/25-3/31 251% -3
ER=F% BER [FECHH) JAL JAL 49,000 31% 24,500 66% 28,100 61%
AR (EFH JAL JAL 49,000 22% 24,500 61% 28,100 55%
B S ESACED) JAL JAL 49,000 31% 24,500 66% 28,100 61%
KR (EFH JAL JAL 49,000 22% 24,500 61% 28,100 55%
B ==iR EE%E  [HERCHH) JAL JAL 48,500 31% 24,250 66% 27,800 61%
ZR% [HECHH) JAL JAL 48,500 31% 24,250 66% 27,800 61%
EE=1t5 [ e I PN A=) JAL JAL 47,500 23% 23,750 61% 27,150 56%
&R [ KRURFD JAL JAL 47,500 23% 23,750 61% 27,150 56%
BE=8[A RBER [FEECHH) JAL JAL 49,000 25% 24,500 63% 27,050 59%
KR (EFH JAL JAL 49,000 17% 24,500 59% 27,050 54%
AR [HECHH) JAL JAL 49,000 25% 24,500 63% 27,050 59%
KR (EFH JAL JAL 49,000 17% 24,500 59% 27,050 54%
2 =L RBER [FEECHH) JAL JAL 45,000 24% 22,500 62% 24,950 58%
KR (EFH JAL JAL 45,000 23% 22,500 61% 24,950 57%
W% [RRECRA) JAL JAL 45,000 24% 22,500 62% 24,950 58%
KR (FEFH JAL JAL 45,000 23% 22,500 61% 24,950 57%
=R =" BE% | XBR(URD JAL JAL 43,300 22% 21,650 61% 23,700 57%
FR% [ KBRURFD JAL JAL 43,300 22% 21,650 61% 23,700 57%
2=/ B|EE [HER(CHH) JAL JAL 43,000 32% 21,500 66% 23,550 63%
IR E S A€ET:)) JAL JAL 43,000 32% 21,500 66% 23,550 63%
wER==4 [ e I b A € ) JTA [JTA/RAC 44,000 9% 22,000 54% 24,300 50%
Bk A L 165 JTA/RAC|  JTA 44,000 9% 22,000 54% 24,300 50%
BE=FH1E BEF [ RE) JTA JTA 47,100 12% 23,550 56% 24,750 54%
AEH [HEER JTA JTA 47,100 12% 23,550 56% 24,750 54%
Es A ZHAFE IR EFHTR) JAL JAL 36,000 33% 18,000 67% 19,500 64%
e  |+REFHFH) JAL JAL 36,000 33% 18,000 67% 19,500 64%
A =M Zimp % | RECHEH) JAL JAL 48,000 29% 24,000 64% 26,350 61%
AR [FRECHE) JAL JAL 48,000 29% 24,000 64% 26,350 61%
25 Al = RE Ll Zimp % | RECHEH) JAL JAL 52,000 31% 26,000 66% 28,800 62%
EIE ESACET:)) JAL JAL 52,000 31% 26,000 66% 28,800 62%
LimAl=HE ZimpFE | RECHEH) JAL JAL 50,000 35% 25,000 67% 27,850 64%
=X |[ERCRHA) JAL JAL 50,000 35% 25,000 67% 27,850 64%
i Al =l i A R (CHH) JAL JAL 57,200 26% 28,600 63% 31,700 59%
WL [FECHH) JAL JAL 57,200 26% 28,600 63% 31,700 59%
JETTETR A MBI [HECHH) JAL JAL 48,000 27% 24,000 63% 25,350 61%
MRFE  [FECHE) JAL JAL 48,000 27% 24,000 63% 25,350 61%
TBI=ML MBI [HECHH) JAL JAL 52,000 30% 26,000 65% 28,800 61%
FEWLFE  [HECRA) JAL JAL 52,000 30% 26,000 65% 28,800 61%
BINI=HE BIFE [HECHH) JAL JAL 49,700 34% 24,850 67% 27,200 64%
EX |[ERCRHA) JAL JAL 49,700 34% 24,850 67% 27,200 64%
JENI=#211 MBI  [HECHH) JAL JAL 57,200 24% 28,600 62% 31,700 58%
WL [FECHH) JAL JAL 57,200 24% 28,600 62% 31,700 58%
SRR =/ fipEs  [HECHH) JAL JAL 45,000 31% 22,500 65% 24,950 62%
IMAFE R CHH) JAL JAL 45,000 31% 22,500 65% 24,950 62%
IR =Rl LI SipEse  [HECHHE) JAL JAL 52,000 29% 26,000 65% 28,800 61%
FELFE [HECRA) JAL JAL 52,000 29% 26,000 65% 28,800 61%
SR =HE fipEs  [HECHH) JAL JAL 49,700 33% 24,850 67% 27,850 63%
EXx |[ERCRA) JAL JAL 49,700 33% 24,850 67% 27,850 63%
SRR =410 fipEs  [HECHH) JAL JAL 57,200 24% 28,600 62% 31,700 58%
Wl [FECHHE) JAL JAL 57,200 24% 28,600 62% 31,700 58%
HIL=/M2 HHFE [RERCHEH) JAL JAL 48,000 26% 24,000 63% 25,350 61%
MR [HEECHE) JAL JAL 48,000 26% 24,000 63% 25,350 61%
HIE=RL HLEF  [FECHE) JAL JAL 52,000 29% 26,000 64% 28,800 60%
EIE ESACET:)) JAL JAL 52,000 29% 26,000 64% 28,800 60%
HL=HE HEE [ERER(CHHE) JAL JAL 49,000 34% 24,500 67% 27,200 63%
HEH [RRCRA) JAL JAL 49,000 34% 24,500 67% 27,200 63%
HIL=10 HHFE [HERCHEH) JAL JAL 57,200 23% 28,600 62% 31,700 58%
WL [FECHH) JAL JAL 57,200 23% 28,600 62% 31,700 58%
B =/ R BHEER [FECHH) JAL JAL 40,000 31% 20,000 65% 21,800 62%
MNRF [ CHE) JAL JAL 40,000 31% 20,000 65% 21,800 62%
R =Ll BHEER [HECHHE) JAL JAL 51,000 23% 25,500 61% 28,150 57%
EE ESACET:)) JAL JAL 51,000 23% 25,500 61% 28,150 57%
HEE=HE BHAER [FECHH) JAL JAL 48,700 28% 24,350 64% 27,200 60%
EX |[ERCRHA) JAL JAL 48,700 28% 24,350 64% 27,200 60%
BEE=H1L BHEER [HECHHE) JAL JAL 56,100 17% 28,050 59% 31,000 54%
WL [FECHHE) JAL JAL 56,100 17% 28,050 59% 31,000 54%
BEEE=dL M BHEER [FECHHE) JAL JAL 59,000 19% 29,500 59% 32,700 55%
A R (CHH) JAL JAL 59,000 19% 29,500 59% 32,700 55%
HEE=X% BHEER  [HECHHE) JAL JAL 47,000 34% 23,500 67% 25,900 64%
A% [FECHH) JAL JAL 47,000 34% 23,500 67% 25,900 64%
HEE=RIE BHEER  [HECHHE) JAL JAL 49,000 34% 24,500 67% 26,900 64%
RB%  [FECHH) JAL JAL 49,000 34% 24,500 67% 26,900 64%
BEE=FEA BEER [FECHHE) JAL JAL 49,000 32% 24,500 66% 26,900 63%
A% [HECHH) JAL JAL 49,000 32% 24,500 66% 26,900 63%
HE=25 BEER [HECHHE) JAL JAL 49,000 32% 24,500 66% 26,900 63%
EIR%E [RRCRA) JAL JAL 49,000 32% 24,500 66% 26,900 63%
HE=ERS BHEER [HECHHE) JAL JAL 50,000 33% 25,000 67% 27,500 63%
EREH [HECHH) JAL JAL 50,000 33% 25,000 67% 27,500 63%
HE=FEAS | EEAER [RR(CHA) JAL JAL 57,000 30% 28,500 65% 31,350 62%
BH=/M EH%E  [ER(EH) JAL JAL 37,000 34% 18,500 67% 20,500 64%
AR [FECHE) JAL JAL 37,000 34% 18,500 67% 20,500 64%
EH=RLL BEHA%  [HAECHH) JAL JAL 42,000 35% 21,000 67% 23,050 64%
L% [RECRA) JAL JAL 42,000 35% 21,000 67% 23,050 64%
EH=LE EHA%  [HECHHE) JAL JAL 43,000 34% 21,500 67% 23,700 64%
LEB% [FECHH) JAL JAL 43,000 34% 21,500 67% 23,700 64%
FEH=ILOFE EH%E [ER(EH) JAL JAL 45,000 35% 22,500 67% 24,950 64%
WOFERF [HECHE) JAL JAL 45,000 35% 22,500 67% 24,950 64%
EH=HE B =R CRE) JAL JAL 42,700 35% 21,350 68% 23,550 64%
KR (EFH JAL JAC 42,700 28% 21,350 64% 23,550 60%
HEH [ERRCRA) JAL JAL 42,700 35% 21,350 68% 23,550 64%
KR (EFH JAC JAL 42,700 28% 21,350 64% 23,550 60%
EH=HE5 EHA%  [FECHH) JAL JAL 40,000 38% 20,000 69% 21,750 66%
EE%E [HER(CHHE) JAL JAL 40,000 38% 20,000 69% 21,750 66%
EH=mi EH%E  [ER(EH) JAL JAL 42,000 34% 21,000 67% 23,050 64%
aR%  [EEREH JAL JAL 42,000 34% 21,000 67% 23,050 64%




MR EMEE| JEER (3A250~31 HIEES) gl TAR A

st R FAEEIS| INRARRIRMEIS| SIRENERIRBEIE
X Bt | BHHO A= E—75H E—75H E—75H
0 | FEe [ KEG | 3/25-3/31 251% g% |3/25-3/31 25|% g% |3/25-3/31 251% -3
=24 BEHA%  [FECHHE) JAL JAL 43,000 35% 21,500 67% 23,700 64%
=A% [FECHH) JAL JAL 43,000 35% 21,500 67% 23,700 64%
BEH=L EH%E  [ER(HEH) JAL JAL 43,000 35% 21,500 68% 23,700 64%
Wl  [FECHH) JAL JAL 43,000 35% 21,500 68% 23,700 64%
BFEHER=JdAM EH%E  [ER(EH) JAL JAL 49,000 31% 24,500 66% 28,100 61%
EAME |RFECHH) JAL JAL 49,000 31% 24,500 66% 28,100 61%
EH=K» B L ESACED) JAL JAL 45,000 36% 22,500 68% 24,950 64%
KR (EFH JAL JAL 45,000 25% 22,500 63% 24,950 59%
A% [FECHH) JAL JAL 45,000 36% 22,500 68% 24,950 64%
EH=R% B ESACED) JAL JAL 49,000 33% 24,500 67% 26,900 63%
KR (EFH JAL JAL 49,000 27% 24,500 63% 26,900 60%
RB% [HECHH) JAL JAL 49,000 33% 24,500 67% 26,900 63%
EH=EX B ESACED) JAL JAL 47,000 34% 23,500 67% 25,900 64%
KR (EFH JAL JAL 47,000 27% 23,500 64% 25,900 60%
AR [HECHH) JAL JAL 47,000 34% 23,500 67% 25,900 64%
KR (EFH JAL JAL 47,000 27% 23,500 64% 25,900 60%
EH=24 B T ESACED) JAL JAL 47,000 34% 23,500 67% 25,900 64%
KR (EFH JAL JAL 47,000 27% 23,500 64% 25,900 60%
BEFE [RRECRA) JAL JAL 47,000 34% 23,500 67% 25,900 64%
AR (EFH JAL JAL 47,000 27% 23,500 64% 25,900 60%
EH=ERS B ESACED) JAL JAL 49,000 33% 24,500 67% 26,900 63%
KR (EFH JAL JAC 49,000 28% 24,500 64% 26,900 60%
BREX |[RE(HH) JAL JAL 49,000 33% 24,500 67% 26,900 63%
KR (EFH JAC JAL 49,000 28% 24,500 64% 26,900 60%
EH=BEXS EHE [ER(BH) JAL JAL 53,000 34% 26,500 67% 29,700 63%
BEXER [RE(HH) JAL JAL 53,000 34% 26,500 67% 29,700 63%
KR (FH JAL JAL 53,000 31% 26,500 66% 29,700 62%
ZIR=/ ZR%  [HECHH) JAL JAL 37,000 34% 18,500 67% 20,500 63%
MRFE [FECHE) JAL JAL 37,000 34% 18,500 67% 20,500 63%
=iR=EW ZiR% [HECHH) JAL JAL 42,000 34% 21,000 67% 23,050 64%
EE ESACET:)) JAL JAL 42,000 34% 21,000 67% 23,050 64%
ZR=IE% ZiR%  [HECHH) JAL JAL 43,000 34% 21,500 67% 23,700 63%
LEB% [FFECHH) JAL JAL 43,000 34% 21,500 67% 23,700 63%
ZR=WOFE ZiR%  [HECHH) JAL JAL 45,000 34% 22,500 67% 24,950 64%
% |HECRHA) JAL JAL 45,000 34% 22,500 67% 24,950 64%
ZIR=HZE £ |RECHH) JAL JAL 43,900 33% 21,950 66% 24,250 63%
£ [EHEFECRMA) JAL JAL 43,900 33% 21,950 66% 24,250 63%
ZR=#5 £ [RRCHA) JAL JAL 40,000 37% 20,000 68% 21,750 66%
£ |RECHH) JAL JAL 40,000 37% 20,000 68% 21,750 66%
ZiR=@i £ [EHEFECRMA) JAL JAL 42,000 34% 21,000 67% 23,050 64%
£ |RECHH) JAL JAL 42,000 34% 21,000 67% 23,050 64%
ZiR=14H £ |RECHH) JAL JAL 42,000 36% 21,000 68% 23,050 65%
£ |RECHH) JAL JAL 42,000 36% 21,000 68% 23,050 65%
ZiR=#1 £ |RECHH) JAL JAL 43,000 35% 21,500 67% 23,700 64%
£ |RECHH) JAL JAL 43,000 35% 21,500 67% 23,700 64%
ZiR=dchm £ [EHFECRMA) JAL JAL 48,500 31% 24,250 66% 27,800 61%
R (CHH) JAL JAL 48,500 31% 24,250 66% 27,800 61%
ZIR=X% £ |RECHH) JAL JAL 45,000 35% 22,500 68% 24,950 64%
£ |RECHH) JAL JAL 45,000 35% 22,500 68% 24,950 64%
ZiR=R& £ |RECHH) JAL JAL 49,000 33% 24,500 66% 26,900 63%
£ |RECHH) JAL JAL 49,000 33% 24,500 66% 26,900 63%
ZIR=RER £ |RECHEH) JAL JAL 47,000 33% 23,500 67% 25,900 63%
£ |RECHEH) JAL JAL 47,000 33% 23,500 67% 25,900 63%
ZiR=8& £ |RECHH) JAL JAL 47,000 33% 23,500 67% 25,900 63%
£ |RECHH) JAL JAL 47,000 33% 23,500 67% 25,900 63%
ZR=ERS £ |RECHH) JAL JAL 49,000 33% 24,500 66% 26,900 63%
% [HECHH) JAL JAL 49,000 33% 24,500 66% 26,900 63%
SR=FEXE | EEXEH [AR(CHHA) JAL JAL 53,000 34% 26,500 67% 29,700 63%
FE=/ PEE [FRERCEH) JAL JAL 36,000 29% 18,000 65% 19,800 61%
MR [FECHE) JAL JAL 36,000 29% 18,000 65% 19,800 61%
FE =L PEEX [FRERCHEH) JAL JAL 37,000 37% 18,500 69% 20,500 65%
FELFE  [HECRA) JAL JAL 37,000 37% 18,500 69% 20,500 65%
MHE=L5 PEEX [HRERCEH) JAL JAL 40,000 33% 20,000 67% 21,750 64%
LEB% [FECHH) JAL JAL 40,000 33% 20,000 67% 21,750 64%
#EA=LAFE PEEX [FRERCEH) JAL JAL 43,000 32% 21,500 66% 23,700 63%
WOFEFE [HECHE) JAL JAL 43,000 32% 21,500 66% 23,700 63%
MHE=HE AR [HECHH) JAL JAL 37,000 39% 18,500 69% 20,500 66%
AR (EFH JAL JAC 37,000 33% 18,500 67% 20,500 63%
EX [ERCRA) JAL JAL 37,000 39% 18,500 69% 20,500 66%
KR (EFH JAC JAL 37,000 33% 18,500 67% 20,500 63%
MHE=ES ThEF [EECHH) JAL JAL 37,000 37% 18,500 68% 20,500 65%
mE%E [HER(CHHE) JAL JAL 37,000 37% 18,500 68% 20,500 65%
MHA=E1 BEEX [FRRERCEH) JAL JAL 40,000 32% 20,000 66% 21,750 63%
2% [HRER(CHEH) JAL JAL 40,000 32% 20,000 66% 21,750 63%
MEA=2% BEE [FRRERCEH) JAL JAL 40,000 34% 20,000 67% 21,750 64%
2% [HERCHEH) JAL JAL 40,000 34% 20,000 67% 21,750 64%
FE=L PEZEX [FRERCEH JAL JAL 42,000 31% 21,000 66% 23,050 62%
WL [FECHHE) JAL JAL 42,000 31% 21,000 66% 23,050 62%
FE=dt M PEE [ERER(CEH) JAL JAL 49,000 25% 24,500 63% 27,050 59%
LAME |RZECHH) JAL JAL 49,000 25% 24,500 63% 27,050 59%
ME=X% MEFEX [REREH JAL JAL 43,000 33% 21,500 67% 23,700 63%
KR (EFH JAL JAL 43,000 24% 21,500 62% 23,700 58%
A% [FECHH) JAL JAL 43,000 33% 21,500 67% 23,700 63%
MEH=RI& AR [HECHH) JAL JAL 45,000 34% 22,500 67% 24,950 63%
KR (EFH JAL JAL 45,000 29% 22,500 64% 24,950 60%
RB% [HAECHH) JAL JAL 45,000 34% 22,500 67% 24,950 63%
FHE=REAX AR [FHECHH) JAL JAL 45,000 32% 22,500 66% 24,950 62%
AR (EFH JAL JAL 45,000 26% 22,500 63% 24,950 59%
A% [HAECHH) JAL JAL 45,000 32% 22,500 66% 24,950 62%
KR (EFH JAL JAL 45,000 26% 22,500 63% 24,950 59%
MEH==I& AR [HECHH) JAL JAL 45,000 32% 22,500 66% 24,950 62%
KR (EFH JAL JAL 45,000 26% 22,500 63% 24,950 59%
BEFE [RRECRA) JAL JAL 45,000 32% 22,500 66% 24,950 62%
KR (EFH JAL JAL 45,000 26% 22,500 63% 24,950 59%




MRl E#RBS IEER(BA25H~31HEES)

JAL/JTA/JAC/RAC

FRFES:2/2 EEEEE

st R FAEEIS| INREBIEHREIS] SAREANVERFRIRMEES]
BXF #ad | BHBO A= E—55 E—5E E—5E

0 | FEe [ KEG | 3/25-3/31 251% g% |3/25-3/31 25|% g% |3/25-3/31 251% -3
ME=FERS HEE [ERCEH) JAL JAL 47,000 31% 23,500 65% 25,900 62%
KR (EFH JAL JAC 47,000 27% 23,500 63% 25,900 60%
EREH [HECHH) JAL JAL 47,000 31% 23,500 65% 25,900 62%
KR (EFH JAC JAL 47,000 27% 23,500 63% 25,900 60%
MEA=EXXE AR [FECHH) JAL JAL 51,000 32% 25,500 66% 29,700 61%
EBEXER [RE(HH) JAL JAL 51,000 32% 25,500 66% 29,700 61%
KR (EFH JAL JAL 51,000 31% 25,500 65% 29,700 60%
Wiz =/k Wiz %  |[RECRA) JAL JAL 35,000 21% 17,500 61% 18,950 57%
MAE  [EFE(CHHE) JAL JAL 35,000 21% 17,500 61% 18,950 57%
IRz =Rl W% [RECRA) JAL JAL 37,000 30% 18,500 65% 20,500 61%
EE ES-ACET:)) JAL JAL 37,000 30% 18,500 65% 20,500 61%
W =55 W% |[RECRA) JAL JAL 38,000 29% 19,000 64% 21,100 60%
LEB% [FECHH) JAL JAL 38,000 29% 19,000 64% 21,100 60%
Wiz =110 54 W% |[RECRA) JAL JAL 43,000 25% 21,500 62% 23,700 58%
WOFERFE [ R CHE) JAL JAL 43,000 25% 21,500 62% 23,700 58%
WR=H=E W% [RRECRA) JAL JAL 38,000 30% 19,000 65% 21,100 61%
KR (EFH JAL JAC 38,000 30% 19,000 65% 21,100 61%
EX |[ERCRA) JAL JAL 38,000 30% 19,000 65% 21,100 61%
AR (EFH JAC JAL 38,000 30% 19,000 65% 21,100 61%
=% W% |[RECRA) JAL JAL 37,000 29% 18,500 64% 20,500 61%
mEH [FECHH) JAL JAL 37,000 29% 18,500 64% 20,500 61%
iR =mn W% [EFECRA) JAL JAL 37,000 29% 18,500 64% 20,500 61%
2% [HRERCHEH) JAL JAL 37,000 29% 18,500 64% 20,500 61%
iR =m=% W% |[RECRA) JAL JAL 38,000 30% 19,000 65% 21,100 61%
=A% [FECHH) JAL JAL 38,000 30% 19,000 65% 21,100 61%
Wiz =#xl W% |[RECRA) JAL JAL 38,000 30% 19,000 65% 21,100 61%
WL [FECHHE) JAL JAL 38,000 30% 19,000 65% 21,100 61%
iRz =L A EAME |RFECHH) JAL JAL 45,000 24% 22,500 62% 24,950 58%
wk=X% W% [RRECRA) JAL JAL 44,000 24% 22,000 62% 24,300 58%
AR (EFH JAL JAL 44,000 21% 22,000 60% 24,300 56%
A% [FECHH) JAL JAL 44,000 24% 22,000 62% 24,300 58%
W =Ki& W% [RRECRA) JAL JAL 47,000 24% 23,500 62% 26,250 57%
AR (EFH JAL JAL 47,000 24% 23,500 62% 26,250 58%
RE% [HECHH) JAL JAL 47,000 24% 23,500 62% 26,250 57%
KR (EFH JAL JAL 47,000 24% 23,500 62% 26,250 58%
=X W% [RRECRA) JAL JAL 45,000 24% 22,500 62% 24,950 58%
KR (EFH JAL JAL 45,000 25% 22,500 62% 24,950 58%
A% [HECHH) JAL JAL 45,000 24% 22,500 62% 24,950 58%
KR (EFH JAL JAL 45,000 25% 22,500 62% 24,950 58%
W =gEi& W% [RRECRA) JAL JAL 45,000 24% 22,500 62% 24,950 58%
AR (EFH JAL JAL 45,000 25% 22,500 62% 24,950 58%
R ESACET:)) JAL JAL 45,000 24% 22,500 62% 24,950 58%
KR (EFH JAL JAL 45,000 25% 22,500 62% 24,950 58%
W =ERSE W% [RRECRA) JAL JAL 47,000 24% 23,500 62% 26,250 57%
KR (EFH JAL JAC 47,000 26% 23,500 63% 26,250 58%
EREH [HECHH) JAL JAL 47,000 24% 23,500 62% 26,250 57%
KRR (FEFH JAC JAL 47,000 26% 23,500 63% 26,250 58%
e =HE wEFE [ XREREEFD JAL JAC 37,000 31% 18,500 65% 20,500 62%
HEHX [ KREEF JAC JAL 37,000 31% 18,500 65% 20,500 62%
e =X &R [ XREREEFD JAL JAL 42,000 23% 21,000 61% 23,050 58%
KoFE | KREEFD JAL JAL 42,000 23% 21,000 61% 23,050 58%
s =RiE &R [ XREREEFD JAL JAL 45,000 26% 22,500 63% 24,950 59%
RIBFE [ KREEFD JAL JAL 45,000 26% 22,500 63% 24,950 59%
s =HReAR &R [ XREREEFD JAL JAL 43,000 27% 21,500 63% 23,700 60%
REAFE [ KR(EFD JAL JAL 43,000 27% 21,500 63% 23,700 60%
& ==& &R [ KEREEFD JAL JAL 45,000 23% 22,500 62% 24,950 57%
=B [ KKR(EF JAL JAL 45,000 23% 22,500 62% 24,950 57%
me=ERrRS &R [ XREREEFD JAL JAC 45,000 27% 22,500 64% 24,950 60%
BREXE |XKRGEFD JAC JAL 45,000 27% 22,500 64% 24,950 60%
[MEEESESN-] &R [ KEREEFD JAL JAL 50,800 29% 25,400 64% 28,300 60%
BEAESH |KREFD JAL JAL 50,800 29% 25,400 64% 28,300 60%
FR=HE B¥ | XKRGEPD JAL JAC 34,000 34% 17,000 67% 18,550 64%
HEHX [ KREEF JAC JAL 34,000 34% 17,000 67% 18,550 64%
FR=K £ |RBR(FFD JAL JAL 40,000 24% 20,000 62% 21,750 59%
£ [ KBR(FD JAL JAL 40,000 24% 20,000 62% 21,750 59%
FR=RIE £ |XBR(FFD JAL JAL 43,000 27% 21,500 64% 23,700 60%
£ [ KBR(FD JAL JAL 43,000 27% 21,500 64% 23,700 60%
FR=EEX £ | XBR(FFD JAL JAL 42,000 26% 21,000 63% 23,050 59%
£ [ KBR(FD JAL JAL 42,000 26% 21,000 63% 23,050 59%
FR=E4 £ |RBR(FFD JAL JAL 42,000 26% 21,000 63% 23,050 59%
EiEFE [ XR(EF JAL JAL 42,000 26% 21,000 63% 23,050 59%
FR=ERS FE% [ KERUFRFD JAL JAC 43,000 29% 21,500 64% 23,700 61%
BERE KR (EFH JAC JAL 43,000 29% 21,500 64% 23,700 61%
M= M [FHECHH) JAL JAL 35,000 38% 17,500 69% 19,350 66%
FELFE [HECRA) JAL JAL 35,000 38% 17,500 69% 19,350 66%
IMA=TRE MM [FHRECHH) JAL JAL 36,000 37% 18,000 68% 19,800 65%
LEB% [FECHH) JAL JAL 36,000 37% 18,000 68% 19,800 65%
MY =LA FE IR E S-A€EL:)) JAL JAL 40,000 34% 20,000 67% 22,200 63%
WOFEF [HECHE) JAL JAL 40,000 34% 20,000 67% 22,200 63%
IMNR=HE IR E S-A€EL:)) JAL JAL 37,000 36% 18,500 68% 20,150 65%
HEH [RRCRA) JAL JAL 37,000 36% 18,500 68% 20,150 65%
INR=TES MR [FECHE) JAL JAL 34,000 39% 17,000 70% 18,900 66%
EEH [FECHH) JAL JAL 34,000 39% 17,000 70% 18,900 66%
INR=FH IR E S-ACEL:)) JAL JAL 35,000 37% 17,500 69% 18,950 66%
2% [HRERCHEH) JAL JAL 35,000 37% 17,500 69% 18,950 66%
INR=TE4 IR E S-1CEL:)) JAL JAL 37,000 36% 18,500 68% 20,150 65%
2% [HRERCHEH) JAL JAL 37,000 36% 18,500 68% 20,150 65%
MY=HALL MR [HECHE) JAL JAL 37,000 36% 18,500 68% 20,500 65%
WL [FECHHE) JAL JAL 37,000 36% 18,500 68% 20,500 65%
INR=FERM MM [RHRECHH) JAL JAL 43,000 32% 21,500 66% 23,550 63%
e R (CHH) JAL JAL 43,000 32% 21,500 66% 23,550 63%
INR=K5 MRF [FECHE) JAL JAL 42,000 32% 21,000 66% 22,850 63%
A% [FECHH) JAL JAL 42,000 32% 21,000 66% 22,850 63%
IMY=RIE IR E S-ACEL:)) JAL JAL 45,000 31% 22,500 65% 24,950 62%
K% [HECHH) JAL JAL 45,000 31% 22,500 65% 24,950 62%




MRl E#RBS IEER(BA25H~31HEES)

JAL/JTA/JAC/RAC

FRFES:2/2 EEEEE

et HRIRBEE INRARRIRMEIS| SIRENERIRBEIE
X Bt | BHHO A= E—75H E—75H E—75H

0 | FEe [ KEG | 3/25-3/31 25| = g% |3/25-3/31 25| = g% |3/25-3/31 e -3
INY=RER MMAFE [RHECHH) JAL JAL 43,000 32% 21,500 66% 23,550 63%
BEA% [HECHH) JAL JAL 43,000 32% 21,500 66% 23,550 63%
INR=FIF MMAFE [HECHH) JAL JAL 43,000 32% 21,500 66% 23,550 63%
=% [RRECRA) JAL JAL 43,000 32% 21,500 66% 23,550 63%
IMA=ERE AR [FECHE) JAL JAL 45,000 31% 22,500 65% 24,950 62%
EREH [HECHH) JAL JAL 45,000 31% 22,500 65% 24,950 62%
IMA=TEXES NAFE  [EE(CHHE) JAL JAL 49,000 32% 24,500 66% 29,700 59%
EBEAEH |RE(HH) JAL JAL 49,000 32% 24,500 66% 29,700 59%
IMA=FTH NS [ (RER) JTA [JTA/RAC 57,700 6% 28,850 53% 35,500 42%
EaHE [FEGR JTA/RAC| JTA 57,700 6% 28,850 53% 35,500 42%
IMNR=F1E AMNFE B (BRER) JTA JTA 61,500 8% 30,750 54% 37,950 43%
AiEHE [HEGER JTA JTA 61,500 8% 30,750 54% 37,950 43%
==& EE €T JTA [JTA/RAC 50,000 9% 25,000 55% 27,500 50%
EH% [EGH) JTA/RAC|  JTA 50,000 9% 25,000 55% 27,500 50%
[EITEE=E] ENE I ET 16 ) JTA JTA 52,000 14% 26,000 57% 31,000 49%
AEHE [HEER JTA JTA 52,000 14% 26,000 57% 31,000 49%
EH == =l (] JAL/JAC| JAC 27,700 42% 13,850 71% 17,750 63%
=0T 12E JAC [JAL/JAC 27,700 42% 13,850 71% 17,750 63%
BEXE=5H | EEXEH | DkBEH JAC JAC 19,650 27% 9,850 63% 12,550 53%
FXa Sk BER JAC JAC 19,650 27% 9,850 63% 12,550 53%
BERE=HKRE| EEXEH EX JAC JAC 16,800 43% 8,400 72% 12,650 57%
Sk BERSE B JAC JAC 16,800 43% 8,400 72% 12,650 57%
BN =F & R4 (BRER) H | 3R CHE) JAL/JTA] JAL 54,000 28% 27,000 64% 29,750 60%
EHA%  [FAECHH) JAL _[JAL/JTA 54,000 28% 27,000 64% 29,750 60%
SPB(INER) ==IR [ h#8 (ARER) % | 3R CHEH) JAL/JTA] JAL 54,000 28% 27,000 64% 29,750 60%
ZR% [HECHH) JAL _[JAL/JTA 54,000 28% 27,000 64% 29,750 60%
SPB(INER) =FAE [h4E (BRER) H | 3R CHEH) JAL/JTA] JAL 52,000 25% 26,000 63% 28,800 59%
AR [FECHH) JAL _[JAL/JTA 52,000 25% 26,000 63% 28,800 59%
SPHB(INER) = LT [ih48 (ARER) % | 3R CHE) JAL/JTA] JAL 52,000 18% 26,000 59% 28,800 55%
W% |[RECRA) JAL _[JAL/JTA 52,000 18% 26,000 59% 28,800 55%
BT =Ile MEGRE |  ERE JTA JAL 52,800 30% 26,400 65% 28,950 62%
=3 128 JAL JTA 52,800 30% 26,400 65% 28,950 62%
SPHB(IRER) =/ SR 48 (ARER) % | 3R CHH) JAL/JTA] JAL 48,000 28% 24,000 64% 26,200 61%
NRRE  [HE CHE) JAL _[JAL/JTA 48,000 28% 24,000 64% 26,200 61%
SRR =nM (TEGRX] & JTA [JAL/JAC 32,400 42% 16,200 71% 20,150 64%
=] & JAL/JAC| JTA 32,400 42% 16,200 71% 20,150 64%
ShEE(RER) =L [(MEGERIX] & JTA JAC 33,500 36% 16,750 68% 17,850 66%
FALLFE 12 JAC JTA 33,500 36% 16,750 68% 17,850 66%
RR(PE) =ZEAB|ZR(ABX| ERE JAL JAC 45,800 31% 22,900 66% 28,100 58%
KR (FFH JAL JAL 45,800 27% 22,900 64% 28,100 55%
EBEXER | ERS JAC JAL 45,800 31% 22,900 66% 28,100 58%
KR (FFH JAL JAL 45,800 27% 22,900 64% 28,100 55%
ER(CAR)=ERB(ER(FAE)%] ERSE JAL JAC 45,350 31% 22,700 65% 28,150 57%
BEAE JAL JAC 45,350 22% 22,700 61% 28,100 51%
EREH ERS JAC JAL 45,350 31% 22,700 65% 28,150 57%
BEAE JAC JAL 45,350 22% 22,700 61% 28,100 51%
ER(CABR) =#zB[ZR(FHE) %] ERS JAL JAC 46,950 33% 23,500 66% 28,850 59%
BEAE JAL JAC 47,800 23% 23,900 61% 29,400 52%
[FFAEES BRE JAC JAL 46,950 33% 23,500 66% 28,850 59%
BEAE JAC JAL 47,800 23% 23,900 61% 29,400 52%
HRE) =k RH|ERCIA)%| ERS JAL JAC 48,350 32% 24,200 66% 30,050 57%
HKRER | ERS JAC JAL 48,350 32% 24,200 66% 30,050 57%
BEAE JAC JAL 48,350 26% 24,200 63% 30,050 54%
i BEKXE [ JAC JAC JAL | 48350 38% 24,200 69% 30,050 61%
RROPE)=5# AR (PR ERS JAL JAC 48,750 32% 24,400 66% 30,300 58%
5w ERS JAC JAL 48,750 32% 24,400 66% 30,300 58%
BEAE JAC JAL 48,700 28% 24,350 64% 30,250 56%
ShKBER | BEKAE [ JAC JAC JAL | 48700 35% 24,350 68% 30,250 60%
KR (D) =BEARE[ AR (B E| ERS JAC JAC 40,700 25% 20,350 63% 24,700 55%
BEAEHR | BERE JAC JAC 40,700 25% 20,350 63% 24,700 55%
KB (D =ERE| KR (FHFE| _ERS JAC JAC 40,600 24% 20,300 62% 25,000 53%
BELE JAL JAC 40,600 15% 20,350 58% 24,950 48%
ERER ERS JAC JAC 40,600 24% 20,300 62% 25,000 53%
BEAE JAC JAL 40,600 15% 20,350 58% 24,950 48%
KR (B =EZB|XKR(FM %] ERS JAC JAC 42,100 27% 21,050 64% 25,700 56%
BEAE JAL JAC 42,900 17% 21,450 59% 26,250 49%
[FFAEES BRE JAC JAC 42,100 27% 21,050 64% 25,700 56%
BELE JAC JAL 42,900 17% 21,450 59% 26,250 49%
KR () =hk RE | KBR P | ER JAC JAC 43,250 26% 21,650 63% 26,700 54%
HKBEHE | BERE JAC JAC 43,250 26% 21,650 63% 26,700 54%
KRB =5# [KR(FFH%] ERS JAC JAC 43,650 27% 21,850 64% 26,950 55%
S5 BRS JAC JAC 43,650 27% 21,850 64% 26,950 55%
BE=EXXE B BERE JAC JAC 32,750 29% 16,400 64% 19,700 57%
BEAEHR | BERE JAC JAC 32,750 29% 16,400 64% 19,700 57%
ER=ER5 [EEES ERE JAC JAC 33,650 25% 16,850 63% 20,600 54%
BEAE JAC JAC 33,650 23% 16,850 62% 20,600 53%
ERER ERS JAC JAC 33,650 25% 16,850 63% 20,600 54%
BELE JAC JAC 33,650 23% 16,850 62% 20,600 53%
ER=z5 FEES ERE JAC JAC 34,150 31% 17,100 66% 20,700 58%
BEAE JAC JAC 34,150 28% 17,100 64% 20,700 57%
[FFAEES ERS JAC JAC 34,150 31% 17,100 66% 20,700 58%
BEAE JAC JAC 34,150 28% 17,100 64% 20,700 57%
BE=4KBE BE BERE JAC JAC 35,300 30% 17,650 65% 21,700 57%
HKBREHHE | BERE JAC JAC 35,300 30% 17,650 65% 21,700 57%
BEAE JAC JAC 35,300 31% 17,650 65% 21,700 58%
i BEKXE [ JAC JAC JAC | 35,300 45% 17,650 72% 21,700 66%
EE=5#H B ERE JAC JAC 35,700 31% 17,850 66% 21,950 58%
EX-t3 BRE JAC JAC 35,700 31% 17,850 66% 21,950 58%
BEAE JAC JAC 35,700 34% 17,850 67% 21,950 59%
HKBRER | BEKX JAC JAC JAC 35,700 42% 17,850 71% 21,950 64%




MFRIRBESI EER(4A1H~5A31RERS)

JAL/JTA/JAC/RAC

FRFES:2/2 EEEEE

st R FAEEIS] INRAR R R EIS| SIREMN BRI RBEIE]
X #FH® | BHHO e BEH BEH BEH

RE0 [ EEe [ KEG 4/1-5/31 225 &% |4/1-5/31 22| % &% |4/1-5/31 22| % w5
RRCPA) =24 [EECHA)H| I+ (GBH) JAL/JTA[JTA/RAC 55,500 5% 27,750 52% 35,500 39%
EH% [HEGH) JTA/RAC[JAL/JTA 55,500 5% 27,750 52% 35,500 39%
RRECHA) =R\ [EFECRR) |+ (HBH) JAL/JTA| JTA 59,300 7% 29,650 54% 37,950 41%
AEHE [HEGER) JTA [JAL/JTA 59,300 7% 29,650 54% 37,950 41%
KB (7} =% @31 | KRk () [ R= CRA) JAL JAL 43,500 32% 21,750 66% 27,850 56%
HLIE (i T %) JAL JAL 43,500 31% 21,750 65% 27,850 56%
i FE | RECHEH) JAL JAL 43,500 32% 21,750 66% 27,850 56%
LR (T %) JAL JAL 43,500 31% 21,750 65% 27,850 56%
KB (B8TE) =% 3 | Kbk (B3#E) 5| = CRIEA) JAL JAL 43,500 32% 21,750 66% 27,850 56%
LR (i T %) JAL JAL 43,500 31% 21,750 65% 27,850 56%
i FE | RECHEH) JAL JAL 43,500 32% 21,750 66% 27,850 56%
HLIE (i T %) JAL JAL 43,500 31% 21,750 65% 27,850 56%
KR (FFH =8I [ KBr (R FH % | 3R CHEA) JAL JAL 40,900 34% 20,450 67% 26,200 58%
B  [HECHE) JAL JAL 40,900 34% 20,450 67% 26,200 58%
Khx (BE7E) =#BJIl | KBx (BE7E) % | 3R CHHE) JAL JAL 40,900 34% 20,450 67% 26,200 58%
BN  [HECHE) JAL JAL 40,900 34% 20,450 67% 26,200 58%
KR (FFH) =8B [ KBx (R F) %[ 3R CHEH) JAL JAL 41,400 33% 20,700 66% 26,500 57%
fipER  [HECHH) JAL JAL 41,400 33% 20,700 66% 26,500 57%
KR (BFH) =5 [ KB (R F) %[ 3R CHEH) JAL JAL 40,900 33% 20,450 66% 26,200 57%
HEE [ERE(CHHE) JAL JAL 40,900 33% 20,450 66% 26,200 57%
KR (FFH) =&E | KBR (R F) %[ 3R CHEH) JAL JAL 41,300 23% 20,650 62% 26,450 51%
BHEER [HECHHE) JAL JAL 41,300 23% 20,650 62% 26,450 51%
KR (FH ==iR [ KB (R F}) %[ 3R CHEH) JAL JAL 37,800 27% 18,900 64% 24,200 53%
ZR% [HECHH) JAL JAL 37,800 27% 18,900 64% 24,200 53%
pNAGED) R | ABx (B876) | RE CHHE) JAL JAL 37,800 27% 18,900 64% 24,200 53%
KR (A =02k [ XBR (R % ] JAC JAC 20,500 35% 10,250 67% 13,100 58%
ETES 3 JAC JAC 20,500 35% 10,250 67% 13,100 58%
KB (D) =BF8|XR(FHF| ER JAC JAC 32,600 17% 16,300 59% 20,850 47%
BYEH BRE JAC JAC 32,600 17% 16,300 59% 20,850 47%
KR (BFH == [ KB (fRFH) F[ 048 (BBI;R) JAL _[JTA/RAC 43,000 17% 21,500 58% 27,500 47%
EOX [HEGH) JTA/RAC| JAL 43,000 17% 21,500 58% 27,500 47%
KR (BAE) == [ KB (BEdE) F| P48 (BBIR) JAL/JTA|JTA/RAC 43,000 17% 21,500 58% 27,500 47%
EH% [HEGH) JTA/RAC[JAL/JTA 43,000 17% 21,500 58% 27,500 47%
KR (FH =18 [ KBk (RFH) F[ 048 (BER) JAL JTA 48,400 15% 24,200 58% 31,000 46%
AEHE [HEGER JTA JAL 48,400 15% 24,200 58% 31,000 46%
KR (BEE) =FR1E | KBx (REFE) F| P48 (BBIR) JAL/JTA| JTA 48,400 15% 24,200 58% 31,000 46%
AEH  [HEGER JTA [JAL/JTA 48,400 15% 24,200 58% 31,000 46%
LR (hE) =% 8| & EE (P &) F[4LIE T %) JAL JAL 39,800 32% 19,900 66% 25,450 57%
LT R FTR JAL JAL 39,800 32% 19,900 66% 25,450 57%
AHE (P ==& |25E (hE) £ G5 JTA [JTA/RAC 44,000 22% 22,000 61% 28,150 50%
EH% [HEGH) JTA/RAC| JTA 44,000 22% 22,000 61% 28,150 50%
2EE (P =HiE[ 2R hEh) &[54 GLEH) JTA JTA 45,200 27% 22,600 63% 28,950 53%
AiEH [HEGER) JTA JTA 45,200 27% 22,600 63% 28,950 53%
LR G F %) =/MA[ALIR i Fad) [ H R CHE) JAL JAL 33,500 40% 16,750 70% 21,450 61%
MR [FECHE) JAL JAL 33,500 40% 16,750 70% 21,450 61%
FLOR G T %) = Rel L1 [4LI% (T ) | R CHH) JAL JAL 35,000 45% 17,500 72% 22,400 65%
FELFE  [HECRA) JAL JAL 35,000 45% 17,500 72% 22,400 65%
IR FT%) =L 8 [4LIR @ T 5| HR CHEH) JAL JAL 36,000 44% 18,000 72% 23,050 64%
LEB% [FECHH) JAL JAL 36,000 44% 18,000 72% 23,050 64%
IR (B F %) = IO 8 | #LIR BT %) % R CRH) JAL JAL 42,000 38% 21,000 69% 26,900 60%
WOFER%E [HECHE) JAL JAL 42,000 38% 21,000 69% 26,900 60%
AR BT %) =HE IR @ T % HE CHH) JAL JAL 37,400 42% 18,700 71% 23,950 63%
HEH [RRCRA) JAL JAL 37,400 42% 18,700 71% 23,950 63%
IR BT %) =B AR @ T 2| HE (CHH) JAL JAL 39,000 38% 19,500 69% 24,950 60%
mEH [FECHH) JAL JAL 39,000 38% 19,500 69% 24,950 60%
IR BT %) == [4LIR # T 2| "R CHE) JAL JAL 39,900 37% 19,950 68% 25,550 59%
=% [FECHH) JAL JAL 39,900 37% 19,950 68% 25,550 59%
IR (BT ) == & [ALIR G T ) | =R CRA) JAL JAL 41,400 36% 20,700 68% 26,500 59%
=A% [FECHH) JAL JAL 41,400 36% 20,700 68% 26,500 59%
FLIR (BT %) =AU [ALIR G F#) | R CREA) JAL JAL 43,700 33% 21,850 67% 27,950 57%
WL ["ERCHH) JAL JAL 43,700 33% 21,850 67% 27,950 57%
ALIR (BT %) =L S [ ALIR B T #%) 5| S CRIE) JAL JAL 42,000 40% 21,000 70% 26,900 62%
AMFE |RZECHEH) JAL JAL 42,000 40% 21,000 70% 26,900 62%
IR BT %) = K5 LR @ T 2| RR CHH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
AH% [FECHH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
IR BT %) =R 4R T % HR CHH) JAL JAL 44,000 39% 22,000 70% 28,150 61%
RB% [HECHH) JAL JAL 44,000 39% 22,000 70% 28,150 61%
IR GBI T %) = RE AR [4LIR (T 2| RR CHH) JAL JAL 43,000 39% 21,500 69% 27,500 61%
A% [HFECHH) JAL JAL 43,000 39% 21,500 69% 27,500 61%
IR BT %) = =6 [4LIR (T 2| /R CHH) JAL JAL 44,000 37% 22,000 69% 28,150 60%
ER%E [RRCRA) JAL JAL 44,000 37% 22,000 69% 28,150 60%
AR FFR) =ERS[ ARG TR | RR CRA) JAL JAL 49,000 32% 24,500 66% 31,350 57%
BRE% |RFE(CHH) JAL JAL 49,000 32% 24,500 66% 31,350 57%
IR (B FR) =BEXS LI FT%) % /R CRH) JAL JAL 50,000 37% 25,000 69% 32,000 60%
EEAEH KRR (HH) JAL JAL 50,000 37% 25,000 69% 32,000 60%
AL BT 2% =48 GBI | LR (BT F %) %[ R R (PIE) JAL _[JAL/JTA 51,200 31% 25,600 66% 32,750 56%
KB (BFE) JAL [JAL/JTA 51,200 32% 25,600 66% 32,750 57%
£EHE (PEH) JAL JTA 51,200 33% 25,600 66% 32,750 57%
128 JAL JTA 51,200 35% 25,600 67% 32,750 58%
HR (B! F|RE (BH) JAL/JTA] JAL 51,200 31% 25,600 66% 32,750 56%
KB (B FE) JAL/JTA| JAL 51,200 32% 25,600 66% 32,750 57%
128 JTA JAL 51,200 35% 25,600 67% 32,750 58%
12 =% 3l [EEEINEGACRT:) JAL JAL 52,100 33% 26,050 67% 33,350 57%
HLIE (i T %) JAL JAL 52,100 28% 26,050 64% 33,350 54%
ST ESACRED JAL JAL 52,100 33% 26,050 67% 33,350 57%
LR (T %) JAL JAL 52,100 28% 26,050 64% 33,350 54%
2=l BE% [FECHH) JAL JAL 52,100 32% 26,050 66% 33,350 56%
BII%  [HECHH) JAL JAL 52,100 32% 26,050 66% 33,350 56%
1= =2 BE% [FECHH) JAL JAL 52,100 31% 26,050 66% 33,350 56%
SipEs  [FHECHH) JAL JAL 52,100 31% 26,050 66% 33,350 56%
' =%k BE% [FECHH) JAL JAL 52,100 31% 26,050 65% 33,350 56%
HHERE  [FECHHE) JAL JAL 52,100 31% 26,050 65% 33,350 56%
12 =BKEE BE% [FECHHE) JAL JAL 51,100 25% 25,550 62% 32,700 52%
HEER [HECHH) JAL JAL 51,100 25% 25,550 62% 32,700 52%
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et HRIRBEE INRAR R RMEIS| SIRENERIRBEIE
P BEBO | EHE e EEH EEH EER
e 14/1-5/31 2 fmE |a-5/31 BEE L g 1445731 BEA fese
REO® | KEQ | XREG EEIES EEIES EEIES
ER=F% BER [FECHH) JAL JAL 43,900 34% 21,950 67% 28,100 58%
AR (EFH JAL JAL 43,900 25% 21,950 63% 28,100 52%
B S ESACED) JAL JAL 43,900 34% 21,950 67% 28,100 58%
KR (EFH JAL JAL 43,900 25% 21,950 63% 28,100 52%
B ==iR BE% [FECHH) JAL JAL 43,400 34% 21,700 67% 27,800 58%
ZR% [HECHH) JAL JAL 43,400 34% 21,700 67% 27,800 58%
EE=1t5 [ e I PN A=) JAL JAL 42,400 26% 21,200 63% 27,150 52%
&R [ KRURFD JAL JAL 42,400 26% 21,200 63% 27,150 52%
BE=8[A RBER [FEECHH) JAL JAL 42,300 31% 21,150 65% 27,050 56%
KR (EFH JAL JAL 42,300 23% 21,150 61% 27,050 51%
AR [HECHH) JAL JAL 42,300 31% 21,150 65% 27,050 56%
KR (EFH JAL JAL 42,300 23% 21,150 61% 27,050 51%
2 =L RBER [FEECHH) JAL JAL 39,000 29% 19,500 64% 24,950 55%
KR (EFH JAL JAL 39,000 28% 19,500 64% 24,950 54%
W% [RRECRA) JAL JAL 39,000 29% 19,500 64% 24,950 55%
KR (FEFH JAL JAL 39,000 28% 19,500 64% 24,950 54%
=R =" BE% | XBR(URD JAL JAL 37,000 27% 18,500 64% 23,700 53%
FR% [ KBRURFD JAL JAL 37,000 27% 18,500 64% 23,700 53%
2=/ B|EE [HER(CHH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
IR E S A€ET:)) JAL JAL 36,800 37% 18,400 69% 23,550 60%
wER==4 [ e I b A € ) JTA [JTA/RAC 38,000 16% 19,000 58% 24,300 46%
Bk A L 165 JTA/RAC|  JTA 38,000 16% 19,000 58% 24,300 46%
BE=FH1E BEF [ RE) JTA JTA 38,700 23% 19,350 62% 24,750 51%
AEH [HEER JTA JTA 38,700 23% 19,350 62% 24,750 51%
Es A ZHAFE IR EFHTR) JAL JAL 30,500 39% 15,250 69% 19,500 61%
e  |+REFHFH) JAL JAL 30,500 39% 15,250 69% 19,500 61%
A =M Zimp % | RECHEH) JAL JAL 41,200 35% 20,600 67% 26,350 58%
IR E S-I€EL:)) JAL JAL 41,200 35% 20,600 67% 26,350 58%
25 Al = RE Ll Zimp % | RECHEH) JAL JAL 45,000 37% 22,500 68% 28,800 60%
EIE ESACET:)) JAL JAL 45,000 37% 22,500 68% 28,800 60%
LimAl=HE ZimpFE | RECHEH) JAL JAL 43,500 40% 21,750 70% 27,850 62%
=X |[ERCRHA) JAL JAL 43,500 40% 21,750 70% 27,850 62%
i Al =l i A R (CHH) JAL JAL 49,500 32% 24,750 66% 31,700 57%
WL [HERCHEH) JAL JAL 49,500 32% 24,750 66% 31,700 57%
T =/ MBI [HECHH) JAL JAL 39,600 36% 19,800 68% 25,350 59%
IR E S-1CEL:)) JAL JAL 39,600 36% 19,800 68% 25,350 59%
TBI=ML MBI [HECHH) JAL JAL 45,000 35% 22,500 68% 28,800 59%
FEWLFE  [HECRA) JAL JAL 45,000 35% 22,500 68% 28,800 59%
BINI=HE MBI  [FHECHH) JAL JAL 42,500 40% 21,250 70% 27,200 62%
EX |[ERCRHA) JAL JAL 42,500 40% 21,250 70% 27,200 62%
JENI=#211 MBI  [HECHH) JAL JAL 49,500 31% 24,750 65% 31,700 56%
WL [HERCHEH) JAL JAL 49,500 31% 24,750 65% 31,700 56%
SRR =/ fipEs  [HECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
IMAFE R CHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
IR =Rl LI SipEse  [HECHHE) JAL JAL 45,000 35% 22,500 67% 28,800 58%
FELFE [HECRA) JAL JAL 45,000 35% 22,500 67% 28,800 58%
SR =HE fipEs  [HECHH) JAL JAL 43,500 38% 21,750 69% 27,850 60%
EXx |[ERCRA) JAL JAL 43,500 38% 21,750 69% 27,850 60%
gipg =421 HiEHE [HECHH) JAL JAL 49,500 30% 24,750 65% 31,700 55%
Wl [FECHHE) JAL JAL 49,500 30% 24,750 65% 31,700 55%
HIL=/M2 HHFE [RERCHEH) JAL JAL 39,600 34% 19,800 67% 25,350 58%
MM [HECHH) JAL JAL 39,600 34% 19,800 67% 25,350 58%
HIE=RL HLEF  [FECHE) JAL JAL 45,000 34% 22,500 67% 28,800 58%
EIE ESACET:)) JAL JAL 45,000 34% 22,500 67% 28,800 58%
HL=HE HEE [ERER(CHHE) JAL JAL 42,500 39% 21,250 70% 27,200 61%
HEH [RRCRA) JAL JAL 42,500 39% 21,250 70% 27,200 61%
HIL=10 HHFE [HERCHEH) JAL JAL 49,500 30% 24,750 65% 31,700 55%
WL [HERCHEH) JAL JAL 49,500 30% 24,750 65% 31,700 55%
B =/ R BHEER [FECHH) JAL JAL 34,100 36% 17,050 68% 21,800 59%
MNRF [ CHE) JAL JAL 34,100 36% 17,050 68% 21,800 59%
R =Ll BHEER [HECHHE) JAL JAL 44,000 28% 22,000 64% 28,150 54%
EE ESACET:)) JAL JAL 44,000 28% 22,000 64% 28,150 54%
HEE=HE BHAER [FECHH) JAL JAL 42,500 32% 21,250 66% 27,200 57%
EX |[ERCRHA) JAL JAL 42,500 32% 21,250 66% 27,200 57%
BEE=H1L BHEER [HECHHE) JAL JAL 48,400 24% 24,200 62% 31,000 51%
WL [FECHHE) JAL JAL 48,400 24% 24,200 62% 31,000 51%
BEEE=dL M BHEER [FECHHE) JAL JAL 51,100 25% 25,550 62% 32,700 52%
A R (CHH) JAL JAL 51,100 25% 25,550 62% 32,700 52%
HEE=X% BHEER  [HECHHE) JAL JAL 40,500 40% 20,250 70% 25,900 61%
A% [FECHH) JAL JAL 40,500 40% 20,250 70% 25,900 61%
HEE=RIE BHEER  [HECHHE) JAL JAL 42,000 40% 21,000 70% 26,900 62%
RB%  [FECHH) JAL JAL 42,000 40% 21,000 70% 26,900 62%
BEE=FEA BEER [FECHHE) JAL JAL 42,000 38% 21,000 69% 26,900 60%
A% [HECHH) JAL JAL 42,000 38% 21,000 69% 26,900 60%
HE=25 BEER [HECHHE) JAL JAL 42,000 38% 21,000 69% 26,900 60%
EIR%E [RRCRA) JAL JAL 42,000 38% 21,000 69% 26,900 60%
HE=ERS BHEER [HECHHE) JAL JAL 43,000 39% 21,500 69% 27,500 61%
EREH [HECHH) JAL JAL 43,000 39% 21,500 69% 27,500 61%
HE=FEAS | EEAER [RR(CHA) JAL JAL 49,000 37% 24,500 68% 31,350 60%
BH=/M EH%E  [ER(EH) JAL JAL 32,000 38% 16,000 69% 20,500 61%
AR [FECHE) JAL JAL 32,000 38% 16,000 69% 20,500 61%
EH=RLL BEHA%  [HAECHH) JAL JAL 36,000 40% 18,000 70% 23,050 62%
L% [RECRA) JAL JAL 36,000 40% 18,000 70% 23,050 62%
EH=LE EHA%  [HECHHE) JAL JAL 37,000 39% 18,500 70% 23,700 61%
LEB% [FECHH) JAL JAL 37,000 39% 18,500 70% 23,700 61%
FEH=ILOFE EH%E [ER(EH) JAL JAL 39,000 40% 19,500 70% 24,950 61%
WOFERF [HECHE) JAL JAL 39,000 40% 19,500 70% 24,950 61%
EH=HE B =R CRE) JAL JAL 36,800 40% 18,400 70% 23,550 62%
KR (EFH JAL JAC 36,800 34% 18,400 67% 23,550 58%
HEH [ERRCRA) JAL JAL 36,800 40% 18,400 70% 23,550 62%
KR (EFH JAC JAL 36,800 34% 18,400 67% 23,550 58%
EH=HE5 EHA%  [FECHH) JAL JAL 34,000 43% 17,000 71% 21,750 64%
EE%E [HER(CHHE) JAL JAL 34,000 43% 17,000 71% 21,750 64%
EH=mi EH%E  [ER(EH) JAL JAL 36,000 40% 18,000 70% 23,050 61%
aR%  [EEREH JAL JAL 36,000 40% 18,000 70% 23,050 61%
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st R FAEEIS| INRAR R RMEIS| SIRENERIRBEIE
X #ad | BHBO A= BEE BEH BE
e 14/1-5/31 2 fmE |a-5/31 BEE L g 1445731 BEA fese
REO® | KEQ | XREG EEIES EEES EEIES
=24 BEHA%  [FECHHE) JAL JAL 37,000 40% 18,500 70% 23,700 61%
=A% [FECHH) JAL JAL 37,000 40% 18,500 70% 23,700 61%
BEH=L EH%E  [ER(HEH) JAL JAL 37,000 40% 18,500 70% 23,700 62%
Wl  [FECHH) JAL JAL 37,000 40% 18,500 70% 23,700 62%
BFEHER=JdAM EH%E  [ER(EH) JAL JAL 43,900 34% 21,950 67% 28,100 58%
EAME |RFECHH) JAL JAL 43,900 34% 21,950 67% 28,100 58%
EH=K» B L ESACED) JAL JAL 39,000 41% 19,500 70% 24,950 62%
KR (EFH JAL JAL 39,000 30% 19,500 65% 24,950 55%
A% [FECHH) JAL JAL 39,000 41% 19,500 70% 24,950 62%
EH=R% B ESACED) JAL JAL 42,000 39% 21,000 70% 26,900 61%
KR (EFH JAL JAL 42,000 33% 21,000 66% 26,900 57%
RB% [HECHH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
EH=EX B ESACED) JAL JAL 40,500 39% 20,250 70% 25,900 61%
KR (EFH JAL JAL 40,500 33% 20,250 66% 25,900 57%
AR [HECHH) JAL JAL 40,500 39% 20,250 70% 25.900 61%
KR (EFH JAL JAL 40,500 33% 20,250 66% 25,900 57%
EH=24 B T ESACED) JAL JAL 40,500 39% 20,250 70% 25,900 61%
KR (EFH JAL JAL 40,500 33% 20,250 66% 25,900 57%
BEFE [RRECRA) JAL JAL 40,500 39% 20,250 70% 25,900 61%
AR (EFH JAL JAL 40,500 33% 20,250 66% 25,900 57%
EH=ERS B ESACED) JAL JAL 42,000 39% 21,000 70% 26,900 61%
KR (EFH JAL JAC 42,000 34% 21,000 67% 26,900 58%
BREX |[RE(HH) JAL JAL 42,000 39% 21,000 70% 26,900 61%
KR (EFH JAC JAL 42,000 34% 21,000 67% 26,900 58%
EH=BEXS EHE [ER(BH) JAL JAL 46,400 39% 23,200 70% 29,700 61%
BEXER [RE(HH) JAL JAL 46,400 39% 23,200 70% 29,700 61%
KR (FH JAL JAL 46,400 36% 23,200 68% 29,700 59%
ZIR=/ ZR%  [HECHH) JAL JAL 32,000 38% 16,000 69% 20,500 60%
MRFE [FECHE) JAL JAL 32,000 38% 16,000 69% 20,500 60%
=iR=EW ZiR% [HECHH) JAL JAL 36,000 40% 18,000 70% 23,050 61%
EE ESACET:)) JAL JAL 36,000 40% 18,000 70% 23,050 61%
ZR=IE% ZiR%  [HECHH) JAL JAL 37,000 39% 18,500 69% 23,700 61%
LEB% [FFECHH) JAL JAL 37,000 39% 18,500 69% 23,700 61%
ZR=WOFE ZiR%  [HECHH) JAL JAL 39,000 39% 19,500 70% 24,950 61%
% |HECRHA) JAL JAL 39,000 39% 19,500 70% 24,950 61%
ZIR=HZE £ |RECHH) JAL JAL 37,900 38% 18,950 69% 24,250 60%
£ [EHEFECRMA) JAL JAL 37,900 38% 18,950 69% 24,250 60%
ZR=#5 £ [RRCHA) JAL JAL 34,000 42% 17,000 71% 21,750 63%
£ |RECHH) JAL JAL 34,000 42% 17,000 71% 21,750 63%
ZiR=@i £ [EHEFECRMA) JAL JAL 36,000 39% 18,000 69% 23,050 61%
£ |RECHH) JAL JAL 36,000 39% 18,000 69% 23,050 61%
ZiR=14H £ |RECHH) JAL JAL 36,000 41% 18,000 70% 23,050 62%
£ |RECHH) JAL JAL 36,000 41% 18,000 70% 23,050 62%
ZiR=#1 £ |RECHH) JAL JAL 37,000 40% 18,500 70% 23,700 61%
£ |RECHH) JAL JAL 37,000 40% 18,500 70% 23,700 61%
ZiR=dchm £ [EHFECRMA) JAL JAL 43,400 34% 21,700 67% 27,800 58%
FR CHHE) JAL JAL 43,400 34% 21,700 67% 27,800 58%
ZIR=X% £ |RECHH) JAL JAL 39,000 40% 19,500 70% 24,950 62%
£ |RECHH) JAL JAL 39,000 40% 19,500 70% 24,950 62%
ZiR=R& £ |RECHH) JAL JAL 42,000 39% 21,000 69% 26,900 61%
£ |RECHH) JAL JAL 42,000 39% 21,000 69% 26,900 61%
ZIR=RER £ |RECHEH) JAL JAL 40,500 39% 20,250 69% 25,900 61%
£ [EHEFECRA) JAL JAL 40,500 39% 20,250 69% 25,900 61%
ZiR=8& £ |RECHH) JAL JAL 40,500 39% 20,250 69% 25,900 61%
£ [EHEFECRMA) JAL JAL 40,500 39% 20,250 69% 25,900 61%
ZR=ERS £ |RECHH) JAL JAL 42,000 39% 21,000 69% 26,900 61%
% [HECHH) JAL JAL 42,000 39% 21,000 69% 26,900 61%
SR=FEXE | EEXEH [AR(CHHA) JAL JAL 46,400 39% 23,200 69% 29,700 61%
FE=/ PEE [FRERCEH) JAL JAL 30,900 34% 15,450 67% 19,800 57%
IR E S-A€EL:)) JAL JAL 30,900 34% 15,450 67% 19,800 57%
FE =L PEEX [FRERCHEH) JAL JAL 32,000 41% 16,000 71% 20,500 63%
FELFE  [HECRA) JAL JAL 32,000 41% 16,000 71% 20,500 63%
MHE=L5 PEEX [HRERCEH) JAL JAL 34,000 39% 17,000 69% 21,750 61%
LEB% [FECHH) JAL JAL 34,000 39% 17,000 69% 21,750 61%
#EA=LAFE PEEX [FRERCEH) JAL JAL 37,000 38% 18,500 69% 23,700 60%
WOFEFE [HECHE) JAL JAL 37,000 38% 18,500 69% 23,700 60%
MHE=HE AR [HECHH) JAL JAL 33,100 41% 16,550 70% 20,500 63%
AR (EFH JAL JAC 33,100 37% 16,550 68% 20,500 61%
EX [ERCRA) JAL JAL 33,100 41% 16,550 70% 20,500 63%
KR (EFH JAC JAL 33,100 37% 16,550 68% 20,500 61%
MHE=ES ThEF [EECHH) JAL JAL 32,000 41% 16,000 70% 20,500 62%
mE%E [HER(CHHE) JAL JAL 32,000 41% 16,000 70% 20,500 62%
MHA=E1 BEEX [FRRERCEH) JAL JAL 34,000 37% 17,000 69% 21,750 60%
2% [HRER(CHEH) JAL JAL 34,000 37% 17,000 69% 21,750 60%
MEA=2% BEE [FRRERCEH) JAL JAL 34,000 39% 17,000 70% 21,750 61%
2% [HERCHEH) JAL JAL 34,000 39% 17,000 70% 21,750 61%
FE=L PEZEX [FRERCEH JAL JAL 36,000 36% 18,000 68% 23,050 59%
WL [FECHHE) JAL JAL 36,000 36% 18,000 68% 23,050 59%
FE=dt M PEE [ERER(CEH) JAL JAL 42,300 31% 21,150 65% 27,050 56%
LAME |RZECHH) JAL JAL 42,300 31% 21,150 65% 27,050 56%
ME=X% MEFEX [REREH JAL JAL 37,000 39% 18,500 69% 23,700 61%
KR (EFH JAL JAL 37,000 29% 18,500 65% 23,700 55%
A% [FECHH) JAL JAL 37,000 39% 18,500 69% 23,700 61%
MEH=RI& AR [HECHH) JAL JAL 39,000 39% 19,500 69% 24,950 61%
KR (EFH JAL JAL 39,000 34% 19,500 67% 24,950 57%
RB% [HAECHH) JAL JAL 39,000 39% 19,500 69% 24,950 61%
FHE=REAX AR [FHECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
AR (EFH JAL JAL 39,000 31% 19,500 65% 24,950 56%
A% [HAECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
KR (EFH JAL JAL 39,000 31% 19,500 65% 24,950 56%
MEH==I& AR [HECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
KR (EFH JAL JAL 39,000 31% 19,500 65% 24,950 56%
BEFE [RRECRA) JAL JAL 39,000 36% 19,500 68% 24,950 59%
KR (EFH JAL JAL 39,000 31% 19,500 65% 24,950 56%
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ME=FERS HEE [ERCEH) JAL JAL 40,500 36% 20,250 68% 25,900 59%
KR (EFH JAL JAC 40,500 32% 20,250 66% 25,900 57%
EREH [HECHH) JAL JAL 40,500 36% 20,250 68% 25,900 59%
KR (EFH JAC JAL 40,500 32% 20,250 66% 25,900 57%
MEA=EXXE AR [FECHH) JAL JAL 46,400 34% 23,200 67% 29,700 58%
EBEXER [RE(HH) JAL JAL 46,400 34% 23,200 67% 29,700 58%
KR (EFH JAL JAL 46,400 33% 23,200 66% 29,700 57%
Wiz =/k Wiz %  |[RECRA) JAL JAL 29,600 26% 14,800 63% 18,950 53%
MAE  [EFE(CHHE) JAL JAL 29,600 26% 14,800 63% 18,950 53%
IRz =Rl W% [RECRA) JAL JAL 32,000 34% 16,000 67% 20,500 58%
EE ES-ACET:)) JAL JAL 32,000 34% 16,000 67% 20,500 58%
W =55 W% |[RECRA) JAL JAL 33,000 33% 16,500 66% 21,100 57%
LEB% [FECHH) JAL JAL 33,000 33% 16,500 66% 21,100 57%
Wiz =110 54 W% |[RECRA) JAL JAL 37,000 30% 18,500 65% 23,700 55%
WOFERFE [ R CHE) JAL JAL 37,000 30% 18,500 65% 23,700 55%
WR=H=E W% [RRECRA) JAL JAL 33,000 33% 16,500 67% 21,100 57%
KR (EFH JAL JAC 33,000 35% 16,500 68% 21,100 59%
EX |[ERCRA) JAL JAL 33,000 33% 16,500 67% 21,100 57%
AR (EFH JAC JAL 33,000 35% 16,500 68% 21,100 59%
=% W% |[RECRA) JAL JAL 32,000 33% 16,000 66% 20,500 57%
mEH [FECHH) JAL JAL 32,000 33% 16,000 66% 20,500 57%
iR =mn W% [EFECRA) JAL JAL 32,000 33% 16,000 66% 20,500 57%
2% [HRERCHEH) JAL JAL 32,000 33% 16,000 66% 20,500 57%
iR =m=% W% |[RECRA) JAL JAL 33,000 33% 16,500 67% 21,100 57%
=A% [FECHH) JAL JAL 33,000 33% 16,500 67% 21,100 57%
Wiz =#xl W% |[RECRA) JAL JAL 33,000 34% 16,500 67% 21,100 58%
WL [FECHHE) JAL JAL 33,000 34% 16,500 67% 21,100 58%
iRz =L A EAME |RFECHH) JAL JAL 39,000 29% 19,500 64% 24,950 55%
wk=X% W% [RRECRA) JAL JAL 38,000 29% 19,000 65% 24,300 55%
AR (EFH JAL JAL 38,000 26% 19,000 63% 24,300 53%
A% [FECHH) JAL JAL 38,000 29% 19,000 65% 24,300 55%
W =Ki& W% [RRECRA) JAL JAL 41,000 28% 20,500 64% 26,250 54%
AR (EFH JAL JAL 41,000 29% 20,500 64% 26,250 54%
RE% [HECHH) JAL JAL 41,000 28% 20,500 64% 26,250 54%
KR (EFH JAL JAL 41,000 29% 20,500 64% 26,250 54%
=X W% [RRECRA) JAL JAL 39,000 29% 19,500 64% 24,950 55%
KR (EFH JAL JAL 39,000 30% 19,500 65% 24,950 55%
A% [HECHH) JAL JAL 39,000 29% 19,500 64% 24,950 55%
KR (EFH JAL JAL 39,000 30% 19,500 65% 24,950 55%
W =gEi& W% [RRECRA) JAL JAL 39,000 29% 19,500 64% 24,950 55%
AR (EFH JAL JAL 39,000 30% 19,500 65% 24,950 55%
R ESACET:)) JAL JAL 39,000 29% 19,500 64% 24,950 55%
KR (EFH JAL JAL 39,000 30% 19,500 65% 24,950 55%
W =ERSE W% [RRECRA) JAL JAL 41,000 28% 20,500 64% 26,250 54%
KR (EFH JAL JAC 41,000 30% 20,500 65% 26,250 55%
EREH [HECHH) JAL JAL 41,000 28% 20,500 64% 26,250 54%
KRR (FEFH JAC JAL 41,000 30% 20,500 65% 26,250 55%
e =HE wEFE [ XREREEFD JAL JAC 32,000 36% 16,000 68% 20,500 59%
HEHX [ KREEF JAC JAL 32,000 36% 16,000 68% 20,500 59%
e =X &R [ XREREEFD JAL JAL 36,000 28% 18,000 64% 23,050 54%
KoFE | KREEFD JAL JAL 36,000 28% 18,000 64% 23,050 54%
s =RiE &R [ XREREEFD JAL JAL 39,000 31% 19,500 65% 24,950 56%
RIBFE [ KREEFD JAL JAL 39,000 31% 19,500 65% 24,950 56%
s =HReAR &R [ XREREEFD JAL JAL 37,000 32% 18,500 66% 23,700 56%
REAFE [ KR(EFD JAL JAL 37,000 32% 18,500 66% 23,700 56%
& ==& &R [ KEREEFD JAL JAL 39,000 28% 19,500 64% 24,950 54%
=B [ KKR(EF JAL JAL 39,000 28% 19,500 64% 24,950 54%
me=ERrRS &R [ XREREEFD JAL JAC 39,000 32% 19,500 66% 24,950 57%
BREXE |XKRGEFD JAC JAL 39,000 32% 19,500 66% 24,950 57%
[MEEESESN-] &R [ KEREEFD JAL JAL 44,200 34% 22,100 67% 28,300 58%
BEAESH |KREFD JAL JAL 44,200 34% 22,100 67% 28,300 58%
FR=HE B¥ | XKRGEPD JAL JAC 29,000 40% 14,500 70% 18,550 62%
HEHX [ KREEF JAC JAL 29,000 40% 14,500 70% 18,550 62%
FR=K £ |RBR(FFD JAL JAL 34,000 30% 17,000 65% 21,750 55%
£ [ KBR(FD JAL JAL 34,000 30% 17,000 65% 21,750 55%
FR=RIE £ |XBR(FFD JAL JAL 37,000 32% 18,500 66% 23,700 57%
£ [ KBR(FD JAL JAL 37,000 32% 18,500 66% 23,700 57%
FR=EEX £ | XBR(FFD JAL JAL 36,000 31% 18,000 66% 23,050 56%
£ [ KBR(FD JAL JAL 36,000 31% 18,000 66% 23,050 56%
FR=E4 £ |RBR(FFD JAL JAL 36,000 31% 18,000 66% 23,050 56%
EiEFE [ XR(EF JAL JAL 36,000 31% 18,000 66% 23,050 56%
FR=ERS FE% [ KERUFRFD JAL JAC 37,000 34% 18,500 67% 23,700 58%
BERE KR (EFH JAC JAL 37,000 34% 18,500 67% 23,700 58%
M= M [FHECHH) JAL JAL 30,200 42% 15,100 71% 19,350 63%
FELFE [HECRA) JAL JAL 30,200 42% 15,100 71% 19,350 63%
IMA=TRE MM [FHRECHH) JAL JAL 30,900 41% 15,450 71% 19,800 62%
LEB% [FECHH) JAL JAL 30,900 41% 15,450 71% 19,800 62%
MY =LA FE IR E S-A€EL:)) JAL JAL 34,700 39% 17,350 69% 22,200 61%
WOFEF [HECHE) JAL JAL 34,700 39% 17,350 69% 22,200 61%
IMNR=HE IR E S-A€EL:)) JAL JAL 31,500 41% 15,750 70% 20,150 62%
HEH [RRCRA) JAL JAL 31,500 41% 15,750 70% 20,150 62%
INR=TES MR [FECHE) JAL JAL 29,500 43% 14,750 71% 18,900 63%
EEH [FECHH) JAL JAL 29,500 43% 14,750 71% 18,900 63%
INR=FH IR E S-ACEL:)) JAL JAL 29,600 42% 14,800 71% 18,950 63%
2% [HRERCHEH) JAL JAL 29,600 42% 14,800 71% 18,950 63%
INR=TE4 IR E S-1CEL:)) JAL JAL 31,500 41% 15,750 70% 20,150 62%
2% [HRERCHEH) JAL JAL 31,500 41% 15,750 70% 20,150 62%
MY=HALL MR [HECHE) JAL JAL 32,000 41% 16,000 70% 20,500 62%
WL [FECHHE) JAL JAL 32,000 41% 16,000 70% 20,500 62%
Y=L MM [RHRECHH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
e R (CHH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
M=K MMAFE R CHH) JAL JAL 35,700 38% 17,850 69% 22,850 60%
A% [FECHH) JAL JAL 35,700 38% 17,850 69% 22,850 60%
IMY=RIE IR E S-ACEL:)) JAL JAL 39,000 36% 19,500 68% 24,950 59%
K% [HECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
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et HRIRBEE INRAR R RMEIS| SIRENERIRBEIE
X #ad | BHBO A= = = =
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REO® | KEQ | XREG EEIES EEES EEIES
INY=RER MMAFE [RHECHH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
BEA% [HECHH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
INR=FIF MMAFE [HECHH) JAL JAL 36,800 37% 18,400 69% 23,550 60%
=% [RRECRA) JAL JAL 36,800 37% 18,400 69% 23,550 60%
IMA=ERE AR [FECHE) JAL JAL 39,000 36% 19,500 68% 24,950 59%
EREH [HECHH) JAL JAL 39,000 36% 19,500 68% 24,950 59%
IMA=TEXES NAFE  [EE(CHHE) JAL JAL 46,400 32% 23,200 66% 29,700 56%
EBEAEH |RE(HH) JAL JAL 46,400 32% 23,200 66% 29,700 56%
IMA=FTH NS [ (RER) JTA [JTA/RAC 55,500 5% 27,750 52% 35,500 39%
EaHE [FEGR JTA/RAC| JTA 55,500 5% 27,750 52% 35,500 39%
IMNR=F1E AMNFE B (BRER) JTA JTA 59,300 7% 29,650 54% 37,950 41%
AiEHE [HEGER JTA JTA 59,300 7% 29,650 54% 37,950 41%
==& EE €T JTA [JTA/RAC 43,000 17% 21,500 58% 27,500 47%
EH% [EGH) JTA/RAC|  JTA 43,000 17% 21,500 58% 27,500 47%
[EITEE=E] ENE I ET 16 ) JTA JTA 48,400 15% 24,200 58% 31,000 46%
AEHE [HEER JTA JTA 48,400 15% 24,200 58% 31,000 46%
EH == =l (] JAL/JAC| JAC 27,700 36% 13,850 68% 17,750 59%
=0T 12E JAC [JAL/JAC 27,700 36% 13,850 68% 17,750 59%
BEXE=5H | EEXEH | DkBEH JAC JAC 19,650 27% 9,850 63% 12,550 53%
FXa Sk BER JAC JAC 19,650 27% 9,850 63% 12,550 53%
BERE=HKRE| EEXEH EX JAC JAC 16,800 43% 8,400 72% 12,650 57%
Sk BERSE B JAC JAC 16,800 43% 8,400 72% 12,650 57%
BN =F & R4 (BRER) H | 3R CHE) JAL/JTA] JAL 46,500 34% 23,250 67% 29,750 58%
EHA%  [FAECHH) JAL _[JAL/JTA 46,500 34% 23,250 67% 29,750 58%
SPB(INER) ==IR [ h#8 (ARER) % | 3R CHEH) JAL/JTA] JAL 46,500 34% 23,250 67% 29,750 58%
ZR% [HECHH) JAL _[JAL/JTA 46,500 34% 23,250 67% 29,750 58%
SPB(INER) =FAE [h4E (BRER) H | 3R CHEH) JAL/JTA] JAL 45,000 31% 22,500 66% 28,800 56%
AR [FECHH) JAL _[JAL/JTA 45,000 31% 22,500 66% 28,800 56%
SPHB(INER) = LT [ih48 (ARER) % | 3R CHE) JAL/JTA] JAL 45,000 24% 22,500 62% 28,800 51%
W% |[RECRA) JAL _[JAL/JTA 45,000 24% 22,500 62% 28,800 51%
BT =Ile MEGRE |  ERE JTA JAL 45,200 36% 22,600 68% 28,950 59%
=3 128 JAL JTA 45,200 36% 22,600 68% 28,950 59%
SPHB(IRER) =/ SR 48 (ARER) % | 3R CHH) JAL/JTA] JAL 40,900 35% 20,450 67% 26,200 58%
NRRE  [HE CHE) JAL _[JAL/JTA 40,900 35% 20,450 67% 26,200 58%
SRR =nM (TEGRX] & JTA [JAL/JAC 31,500 38% 15,750 69% 20,150 61%
=] & JAL/JAC| JTA 31,500 38% 15,750 69% 20,150 61%
ShEE(RER) =L [(MEGERIX] & JTA JAC 27,900 42% 13,950 71% 17,850 63%
FALLFE 12 JAC JTA 27,900 42% 13,950 71% 17,850 63%
RR(PE) =ZEAB|ZR(ABX| ERE JAL JAC 43,850 29% 21,950 65% 28,100 55%
KR (FFH JAL JAL 43,850 25% 21,950 63% 28,100 52%
EBEXER | ERS JAC JAL 43,850 29% 21,950 65% 28,100 55%
KR (FFH JAL JAL 43,850 25% 21,950 63% 28,100 52%
ER(CAR)=ERB(ER(FAE)%] ERSE JAL JAC 43,950 30% 22,000 65% 28,150 55%
BEAE JAL JAC 43,950 21% 22,000 61% 28,100 50%
EREH ERS JAC JAL 43,950 30% 22,000 65% 28,150 55%
BEAE JAC JAL 43,950 21% 22,000 61% 28,100 50%
ER(CABR) =#zB[ZR(FHE) %] ERS JAL JAC 45,050 31% 22,550 66% 28,850 56%
BEAE JAL JAC 45,900 23% 22,950 61% 29,400 51%
[FFAEES BRE JAC JAL 45,050 31% 22,550 66% 28,850 56%
BEAE JAC JAL 45,900 23% 22,950 61% 29,400 51%
HRE) =k RH|ERCIA)%| ERS JAL JAC 46,950 31% 23,500 66% 30,050 56%
HKRER | ERS JAC JAL 46,950 31% 23,500 66% 30,050 56%
BEAE JAC JAL 46,950 25% 23,500 63% 30,050 52%
i BEKXE [ JAC JAC JAL | 46,950 38% 23,500 69% 30,050 60%
RROPE)=5# AR (PR ERS JAL JAC 47,350 32% 23,700 66% 30,300 57%
5w ERS JAC JAL 47,350 32% 23,700 66% 30,300 57%
BEAE JAC JAL 47,300 28% 23,650 64% 30,250 54%
ShKBER | BEKAE [ JAC JAC JAL | 47,300 35% 23,650 68% 30,250 59%
KR (D) =BEARE[ AR (B E| ERS JAC JAC 38,550 23% 19,300 61% 24,700 51%
BEAEHR | BERE JAC JAC 38,550 23% 19,300 61% 24,700 51%
KB (D =ERE| KR (FHFE| _ERS JAC JAC 39,000 24% 19,500 62% 25,000 51%
BELE JAL JAC 39,000 15% 19,550 57% 24,950 45%
ERER ERS JAC JAC 39,000 24% 19,500 62% 25,000 51%
BEAE JAC JAL 39,000 15% 19,550 57% 24,950 45%
KR (B =EZB|XKR(FM %] ERS JAC JAC 40,100 25% 20,050 63% 25,700 52%
BEAE JAL JAC 41,000 17% 20,500 59% 26,250 47%
[FFAEES BRE JAC JAC 40,100 25% 20,050 63% 25,700 52%
BELE JAC JAL 41,000 17% 20,500 59% 26,250 47%
KR () =hk RE | KBR P | ER JAC JAC 41,650 26% 20,850 63% 26,700 53%
HKBEHE | BERE JAC JAC 41,650 26% 20,850 63% 26,700 53%
KRB =5# [KR(FFH%] ERS JAC JAC 42,050 27% 21,050 64% 26,950 53%
S5 BRS JAC JAC 42,050 27% 21,050 64% 26,950 53%
BE=EXXE B BERE JAC JAC 30,800 26% 15,400 63% 19,700 53%
BEAEHR | BERE JAC JAC 30,800 26% 15,400 63% 19,700 53%
ER=ER5 [EEES ERE JAC JAC 32,250 25% 16,150 62% 20,600 52%
BEAE JAC JAC 32,250 22% 16,150 61% 20,600 50%
ERER ERS JAC JAC 32,250 25% 16,150 62% 20,600 52%
BELE JAC JAC 32,250 22% 16,150 61% 20,600 50%
ER=z5 [EEES ERE JAC JAC 32,350 29% 16,200 64% 20,700 54%
BEAE JAC JAC 32,350 29% 16,200 64% 20,700 54%
[FFAEES ERS JAC JAC 32,350 29% 16,200 64% 20,700 54%
BEAE JAC JAC 32,350 29% 16,200 64% 20,700 54%
BE=4KBE BE BERE JAC JAC 33,900 30% 16,950 65% 21,700 55%
HKBREHHE | BERE JAC JAC 33,900 30% 16,950 65% 21,700 55%
BEAE JAC JAC 33,900 31% 16,950 65% 21,700 56%
i BEKXE [ JAC JAC JAC | 33,900 45% 16,950 73% 21,700 65%
EE=5#H B ERE JAC JAC 34,300 31% 17,150 65% 21,950 56%
EX-t3 BRE JAC JAC 34,300 31% 17,150 65% 21,950 56%
BEAE JAC JAC 34,300 34% 17,150 67% 21,950 58%
HKBRER | BEKX JAC JAC JAC 34,300 42% 17,150 71% 21,950 63%
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E 4/1-4/27 | BEE 3/25-3/31 | B@HEH

XFH Ei3=25 Q) = ~ frrtiiacs "E - frrtiiied

RO [ EEe] ¥ | BEE 4/28-5/6 | BI5|I%E
RERCPA) =24 [EECHA)F|H#E (BBI) [JAL/JTA[JTA/RAC| 36,000 38% p— p—
Ea%  [F#E G | JTA/RAC[JAL/JTA[ 36,000 38% p— p—
RECPA)=F1E [ERCHA) [ H4# GRH) [JAL/JTA[ JTA 36,300 43% — J—
AiEX  [HEEEH)| JTA [JAL/JTA| 36,300 43% p— p—
KB (7 =% @31 | KB (D) & [RE CRE) | JAL JAL 34,800 45% — —
AR F TR JAL JAL 34,800 44% p— p—
ZmAl%E [EECHE)| JAL JAL 34,800 45% p— p—
AR F TR JAL JAL 34,800 44% p— p—
KB (BETE) =% 3 | KPR (B8#E) & [RE CRIE) | JAL JAL 34,800 45% — —
AR F TR JAL JAL 34,800 44% — p—
ZmAl%E [EECHE)| JAL JAL 34,800 45% p— p—
HIEF TR JAL JAL 34,800 44% p— p—
KR (R =N [ KPR (B FH) F ﬁa(:ﬂﬂa) JAL JAL 32,700 47% [ J—
JENEE S-4€E JAL JAL 32,700 47% p— p—
KB (B82E) =ABJIl [ KRR (BE7E) ¢ JAL JAL 32,700 47% j— J—
— N V1T JAL JAL 32,700 47% j— J—
KB (RFH) =8I% [ KR (1) % JAL JAL 33,500 45% — J—
SRR JAL JAL 33,500 45% p— p—
KB (RFH =I5 [ KR (1) 5[ RE CP JAL JAL 32,700 46% — J—
DN P JAL JAL 32,700 46% p— p—
KR (R FH) =R [ ABR (5 % P JAL JAL 32,400 40% — J—
e bR JAL JAL 32,400 40% p— p—
KR (FH ==iR [ KBk RFH) F P JAL JAL 30,200 42% — J—
= P JAL JAL 30,200 42% — —
KR (BEFE) ==:R | KBz (Bi#E) % P JAL JAL 30,200 42% — J—
KR (R FH) =Rk [ ABR (R F1) = JAC JAC 19,500 38% — J—
[EGES HE JAC JAC 19,500 38% J— p—
KR () =EFB [ AREDE| ERS JAC JAC 31,000 21% — J—
BYEH BRS JAC JAC 31,000 21% p— p—
KR (FFH =& [KBR(FFDF[H#EFBEH)| JAL [JTA/RAC| 34,400 33% J— p—
Eo¥  [P#GRE) [UTA/RAC]  JAL 34,400 33% J— p—
KR (BAPE) == | KBx (B7E) F | 448 (FRE) | JAL/JTA[JTA/RAC| 34,400 33% J— p—
Eo¥ P4 (GRE) [UTA/RACIJAL/JTA] 34,400 33% — -
KR (FFH =F1E [ KB (FFH F[HEFHBH) | JAL JTA 36,100 37% — -
AEH  [FEGE3)| JTA JAL 36,100 37% p— p—
KR (BA7E) =F1E | KBx (BE7FE) F | 448 (BBE) [JAL/JTA]  JTA 36,100 37% [ J—
AiE% [T JTA [JAL/JTA| 36,100 37% p— p—
ZEE (hE) =kEH | BHE (D) R[FEFFR)|  JAL JAL 31,900 46% — —
GEmAFE [AREHTFHR| JAL JAL 31,900 46% — -
AHE(FE) == 2B hE E P BT | JTA [JITA/RAC| 34,200 39% p— p—
Eo¥  [P# L&) [UTA/RAC]  JTA 34,200 39% J— p—
AHE(FH) =RiE|25E M PR FH) [ JIJTA JTA 36,200 41% — J—
AiEH  [HEGRE)| JTA JTA 36,200 41% p— p—
IR T =/MA[ALIR T R[ERCAE) [ JAL JAL 25,800 53% — -
RN P JAL JAL 25,800 53% p— p—
FLOR G T %) = Rel 1L [ 4LIR (B F ) ¢ JAL JAL 31,300 51% — -
IS JAL JAL 31,300 51% p— p—
HIRFHTR) = LB ARG TR R JAL JAL 32,100 50% — J—
LB% JAL JAL 32,100 50% p— p—
FUIR (BT F#%) = L O &8 4LIR B T %) % JAL JAL 33,600 51% — —
OFEF JAL JAL 33,600 51% p— p—
HIRFHTR) =HE[ARG TR R JAL JAL 30,000 54% — J—
HER JAL JAL 30,000 54% — —
IR TR) =B [1REFH TR % JAL JAL 31,200 50% j— J—
EEH JAL JAL 31,200 50% p— p—
LR BT %) == 4 [4LIR (B T 5| /R JAL JAL 32,000 49% p— p—
S%  [EE (231 H)| JAL JAL 32,000 49% p— p—
MIRFTE) == ALRGTFH [ R CAHE) | JAL JAL 33,200 49% — —
SHI%  [EECHEH)|[ JAL JAL 33,200 49% p— p—
IR BT %) =L [AIR F T R[ERCAE) [ JAL JAL 35,000 46% p— p—
WL [FHE (231 H)[ JAL JAL 35,000 46% p— p—
AR EFFR) =AM AR FFH) R JAL JAL 33,600 52% — J—
E[&RE: JAL JAL 33,600 52% p— p—
FLIR G T %) = K5 AR F T8 % JAL JAL 33,600 51% j— J—
Ko % JAL JAL 33,600 51% p— p—
FLIR G T %) = RIG [#LIR T T%) % JAL JAL 35,200 51% j— J—
RIGH JAL JAL 35,200 51% p— p—
FLIR G T %) = REAR [ALIR T T%) % JAL JAL 34,400 51% j— J—
REARFE JAL JAL 34,400 51% J— p—
FLIR G T %) = S8 [#LIR T T%) % JAL JAL 35,200 50% j— J—
=5 JAL JAL 35,200 50% p— p—
ARFTFR) =ERE[ARFTFH R JAL JAL 39,200 46% — J—
BREH R (CH JAL JAL 39,200 46% p— p—
AU (HFF ) =l (IR | ALIR (T F#) [ RE CRE) | JAL  [JAL/JTA] 41,000 45% p— p—
AR (BE7E)| JAL [JAL/JTA[ 41,000 46% p— p—
ZHE(PED)]  JAL JTA 41,000 46% — p—
128 JAL JTA 41,000 48% p— p—
S48 (BRER) R [ Emm CRE) [JAL/JTA[  JAL 41,000 45% — p—
XBR (B878) [JAL/JTA]  JAL 41,000 46% p— p—
12 JTA JAL 41,000 48% p— p—
12 =2 3l 'A% [ERGH)| JAL JAL 39,800 49% — p—
AR F TR JAL JAL 39,800 45% p— p—
iR |[RECHE)| JAL JAL 39,800 49% — p—
HIEF TR JAL JAL 39,800 45% p— p—
= =hel E|EE [ERHE)| JAL JAL 35,700 53% — p—
BIIFE [FRERCHH)| JAL JAL 35,700 53% p— p—
1= =2 [ :ﬁa(ﬂa&) JAL JAL 35,200 53% p— p—
SIpE 5 JAL JAL 35,200 53% p— p—
' =%k [ERES JAL JAL 35,700 52% — p—
L JAL JAL 35,700 52% p— p—
12E =t 12 H JAL JAL 39,500 42% p— p—
e R JAL JAL 39,500 42% p— p—
ER=F% FEES :ﬁa(ﬂa&) JAL JAL 39,400 41% p— p—
KR (EFH|  JAL JAL 39,400 33% p— p—
EH%E [EmERGEHE)| JAL JAL 39,400 41% p— p—
KR (EFH|  JAL JAL 39,400 33% p— p—

JAL/JTA/JAC/RAC



[EHEB57 EEXR(3A25H~5A318EES) JAL/JTA/JAC/RAC

SEEEAR . 2012/1/24 ~

E—Pa — IE s e,

XEO | XE@ = =
‘|E==R E\EE [EREE)| JAL JAL 39,000 41% — —
£ [EHEFECRHE)| JAL JAL 39,000 41% p— p—
EE=1t% BEFE [ KREFED| JAL JAL 38,600 32% p— p—
&R [ KBRUFFD| JAL JAL 38,600 32% p— p—
fBE=%A BEH [ERCEH)| JAL JAL 33,900 45% p— p—
KER(EFH|  JAL JAL 33,900 38% p— p—
MEF [EEREH]| JAL JAL 33,900 45% p— p—
KR (EFH|  JAL JAL 33,900 38% p— p—
= =1L ‘A% [ERCIHE)| JAL JAL 29,600 46% — —
KR (EFH|  JAL JAL 29,600 45% p— p—
W% [EERECRHE)| JAL JAL 29,600 46% p— p—
KR REFH|  JAL JAL 29,600 45% p— p—
=R =" BREE [ KREFFD| JAL JAL 29,600 42% — —
Fa%k  [KREF] JAL JAL 29,600 42% — —
2 =/ BE% [EECHE)|[ JAL JAL 29,500 50% p— p—
MAFE [FERCHE)| JAL JAL 29,500 50% p— p—
wER=2 fBE% [ P# BT JTA [JTA/RAC| 31,200 31% p— p—
BEhH  [PEGEH) |JTA/RAC]  JTA 31,200 31% p— p—
ER=FH18 w|EE [FEERE;)| JTA JTA 34,900 31% — —
AiEX BT JTA JTA 34,900 31% — —
ZiEal=lE ZERIE  [AREGTFH) | JAL JAL 24,400 51% j— J—
EFE [HIE@GETFHR)| JAL JAL 24,400 51% — —
i A =M ZomAl%E |EERCHE)| JAL JAL 32,700 48% — -
MMAFE [FRERCHE)| JAL JAL 32,700 48% p— p—
i pl =FRE L Zipl FIE)|  JAL JAL 36,000 49% — —
FEILZ [EERFCHHE)| JAL JAL 36,000 49% p— p—
LibAl=HE ZomAl%E |ERERCHE)| JAL JAL 34,700 52% — J—
HER [RRCAE)| JAL JAL 34,700 52% — -—
i A =Hl i A FE)|[  JAL JAL 39,600 46% — p—
[NIIE: CRA)|[  JAL JAL 39,600 46% j— J—
JETTENA JBIIZE [EFECHE)|[ JAL JAL 32,700 47% p— p—
MMAFE [FRERCHEE)| JAL JAL 32,700 47% p— p—
TBII=ML JBII% [RFECHE)| JAL JAL 36,000 48% — J—
FLZE [EERFCHHE)| JAL JAL 36,000 48% p— p—
BINI=HE BIFE [FERCHEH)| JAL JAL 34,700 51% — J—
=% |RFCAE) JAL JAL 34,700 51% — —
JBJI=#210 JENEES JAL JAL 39,600 45% j— J—
[ANIIE: JAL JAL 39,600 45% j— J—
SIBE =2 SER T JAL JAL 32,700 46% p— p—
R JAL JAL 32,700 46% p— p—
=Rl R3S JAL JAL 36,000 48% p— p—
[EIES JAL JAL 36,000 48% p— p—
fipg=H=E SIpE S JAL JAL 34,700 51% p— p—
=% JAL JAL 34,700 51% — J—
SIER =410 EEES JAL JAL 39,600 44% — J—
FALLFE JAL JAL 39,600 44% — p—
HIR=/M HILFE JAL JAL 32,700 46% — p—
N EE JAL JAL 32,700 46% — —
IR =Rl HILR JAL JAL 36,000 47% — J—
IS JAL JAL 36,000 47% p— p—
HR=HE HIRFE JAL JAL 34,700 50% — p—
HER JAL JAL 34,700 50% p— p—
HIR=H1 HIRE JAL JAL 39,600 44% p— p—
[NIIE JAL JAL 39,600 44% — J—
B =R BHAEH JAL JAL 26,800 50% p— p—
AV FE R JAL JAL 26,800 50% [ J—
ERAE =R L BEES Eﬁama&) JAL JAL 34,900 43% p— p—
FILZ [EERFCHHE)| JAL JAL 34,900 43% p— p—
HEE=HE BEEER [HE(CHHE)| JAL JAL 33,700 46% — J—
E% |[FERERGHA)| JAL JAL 33,700 46% — J—
BEE=HL BufER [HEMCHHE)|[ JAL JAL 38,400 39% p— p—
PNITE:S Eﬁa(ﬂa&) JAL JAL 38,400 39% — J—
BREE=dL A EREES JAL JAL 32,400 52% j— J—
JE AL JAL JAL 32,400 52% p— p—
HEE=X% EREESE JAL JAL 32,400 52% — J—
N JAL JAL 32,400 52% p— p—
HEE=RIE e JAL JAL 33,600 52% — p—
RIGH JAL JAL 33,600 52% p— p—
HEE=REA E JAL JAL 33,600 51% — —
REARFE JAL JAL 33,600 51% p— p—
HEE=HI& e JAL JAL 33,600 51% — p—
e JAL JAL 33,600 51% — -—
HE=ERS BEEF JAL JAL 34,400 51% — p—
BRE JAL JAL 34,400 51% p— p—
EH=/ EH% JAL JAL 25,600 51% p— p—
MRS JAL JAL 25,600 51% p— p—
HFHE=MEL EHH JAL JAL 28,800 52% p— p—
[EIES JAL JAL 28,800 52% p— p—
EHR=L8 AR JAL JAL 29,600 51% p— p—
NEES JAL JAL 29,600 51% p— p—
HFH=WOFH EH% JAL JAL 31,200 52% — —
WOFERHE JAL JAL 31,200 52% p— p—
EH=HE 55 JAL JAL 28,800 53% — p—
JAL JAC 28,800 48% p— p—
HER JAL JAL 28,800 53% — —
KR (EFH| JAC JAL 28,800 48% p— p—
BEHR=1S BHRR (P JAL JAL 30,600 49% p— p—
EEH JAL JAL 30,600 49% p— p—
EHR=mi AR JAL JAL 28,800 52% p— p—
BN JAL JAL 28,800 52% p— p—
EH=2H EHR JAL JAL 29,600 52% p— p—
EAIF JAL JAL 29,600 52% p— p—
BEH=L EH% JAL JAL 29,600 52% p— p—
[NIIE: JAL JAL 29,600 52% j— J—
BEH=dAM .t LY JAL JAL 31,200 53% — p—
JEhm Eﬁa(ﬂa&) JAL JAL 31,200 53% p— p—




[FEHBIG]7 15E

EERX(BA25A~5A31AEES)

EEEAA 2012/1/24 ~
BRERHM 4/1-4/27 | EEH 3/25-3/31 | @EHEH
XFH Ei3=:5 Q) _ feriiifeds "E C frrtiiied
lZﬁﬁ@ Ema] 5753 HETES 4/28-5/6 @ EI5|%E
BEHR=K EHR%E [EERGHE)| JAL JAL 31,200 53% p— p—
KER(EFH|  JAL JAL 31,200 44% p— p—
A% [HERCHEH)| JAL JAL 31,200 53% p— p—
EHR=FR& EHR¥E [EERGEHE)| JAL JAL 33,600 51% p— p—
KR (EFH|  JAL JAL 33,600 46% p— p—
EB% [RERCHEEH)| JAL JAL 33,600 51% p— p—
BEH=EX EHR%E [EERGHE)| JAL JAL 32,400 51% p— p—
KR (EFH|  JAL JAL 32,400 46% p— p—
BAZ [EEREEH)]| JAL JAL 32,400 51% p— p—
KBR R [  JAL JAL 32,400 46% p— p—
EH=E5 EHR¥E [EERGHE)| JAL JAL 32,400 51% p— p—
KER(EFH|  JAL JAL 32,400 46% p— p—
BEHE [EECRHE)| JAL JAL 32,400 51% p— p—
KR (EFH|  JAL JAL 32,400 46% p— p—
BEHR=ERS EHR%E [EERGEHE)| JAL JAL 33,600 51% p— p—
KR (EFH|  JAL JAC 33,600 47% p— p—
BEREX [EERGH)| JAL JAL 33,600 51% p— p—
RER(FF| JAC JAL 33,600 47% p— p—
ZIR=/# =R% DR JAL JAL 25,600 50% p— p—
/NVA 3 JAL JAL 25,600 50% p— p—
=IR=FR 3 JAL JAL 28,800 52% p— p—
£ JAL JAL 28,800 52% p— p—
ZiR=IE% £ JAL JAL 29,600 51% p— p—
£ JAL JAL 29,600 51% p— p—
ZR=1LAFE £ JAL JAL 31,200 51% p— p—
% JAL JAL 31,200 51% p— p—
ZR=HE 3 JAL JAL 28,800 53% p— p—
3 JAL JAL 28,800 53% p— p—
ZR=#S 3 JAL JAL 30,100 49% p— p—
3 JAL JAL 30,100 49% p— p—
ZiR=@1 3 Eﬁa(ﬂa&) JAL JAL 28,800 51% p— p—
£ [EHEFECRHE)| JAL JAL 28,800 51% p— p—
ZIR=2% £ [EHEFECRHE)| JAL JAL 28,800 53% p— p—
£ [EHEFECRHE)| JAL JAL 28,800 53% p— p—
=IR=#1l ¢ |ERmCHAE)| JAL JAL 29,600 52% p— p—
AL (231 H)[ JAL JAL 29,600 52% p— p—
ZiR=dt M L B JAL JAL 31,200 53% j— j—
NS JAL JAL 31,200 53% p— p—
ZR=X% 3 JAL JAL 31,200 52% p— p—
£ JAL JAL 31,200 52% p— p—
ZR=RI& 3 JAL JAL 33,600 51% p— p—
£ JAL JAL 33,600 51% p— p—
ZIR=KEX £ JAL JAL 32,400 51% p— p—
£ JAL JAL 32,400 51% p— p—
ZIR=EI& 3 JAL JAL 32,400 51% p— p—
£ JAL JAL 32,400 51% p— p—
ZR=ERS 3 JAL JAL 33,600 51% p— p—
S JAL JAL 33,600 51% p— p—
E=/MR 3 JAL JAL 24,800 47% j— j—
£ JAL JAL 24,800 47% p— p—
FE =L 3 JAL JAL 25,600 53% j— j—
£ JAL JAL 25,600 53% p— p—
ME=LS £ JAL JAL 27,200 51% p— p—
£ JAL JAL 27,200 51% p— p—
ME=LAF 3 JAL JAL 29,600 50% p— p—
WOFEHE | JAL JAL 29,600 50% p— p—
MEH=HE MEF Eﬁa(ﬂa&) JAL JAL 25,600 54% p— p—
KR (EFH|  JAL JAC 25,600 51% p— p—
E% |[ERERGHA)| JAL JAL 25,600 54% p— p—
KR (EFH| JAC JAL 25,600 51% p— p—
ME=#5 BEE  [EmHE)| JAL JAL 25,600 53% — p—
EEH [HERCHH)| JAL JAL 25,600 53% p— p—
MHA=E1 ThEF [EECHEH)| JAL JAL 27,200 50% p— p—
=% [ERERCHEH)| JAL JAL 27,200 50% p— p—
ME=85 TR [EFECEEH)| JAL JAL 27,200 51% p— p—
2% [ERERCHEH)| JAL JAL 27,200 51% p— p—
FE=1L BEAF [RFECHEH)| JAL JAL 28,800 49% — —
Wil  |ERCEHE)| JAL JAL 28,800 49% p— J—
FE=JtAM BEAR [RFECHEH)| JAL JAL 29,600 52% — —
A% |[EFERCEHE)| JAL JAL 29,600 52% p— p—
ME=X5 MEF [EEREEH]| JAL JAL 29,600 51% p— p—
KER(EFH|  JAL JAL 29,600 43% p— p—
A% [RECHEH)| JAL JAL 29,600 51% p— p—
MHE=R& MEE [EERGEH)| JAL JAL 31,200 51% — —
KER(EFH|  JAL JAL 31,200 47% p— p—
RB% [RFECHEH)| JAL JAL 31,200 51% p— p—
FE=RF BEHFE [ERGEH)| JAL JAL 31,200 49% p— p—
KER(EFH|  JAL JAL 31,200 45% p— p—
BAZ [EEREEH)]| JAL JAL 31,200 49% p— p—
KR (EFH|  JAL JAL 31,200 45% p— p—
ME=2& BEHFE [ERGEH)| JAL JAL 31,200 49% p— p—
KR (EFH|  JAL JAL 31,200 45% p— p—
=% [ERERCRH)| JAL JAL 31,200 49% p— p—
KR (EFH|  JAL JAL 31,200 45% p— p—
ME=FERS MEE [EERGEH)| JAL JAL 32,400 49% — —
KER(EFH|  JAL JAC 32,400 46% p— p—
ERER [RER(CHH)| JAL JAL 32,400 49% J— p—
RER(FF|  JAC JAL 32,400 46% p— p—
LWz =/k NZ3 ¥ JAL JAL 23,700 41% p— p—
INRFE JAL JAL 23,700 41% p— p—
LRz =FE W NZ3 JAL JAL 24,800 49% p— p—
IS JAL JAL 24,800 49% p— p—
W =IE8 L5 JAL JAL 27,100 45% -— —
NEES JAL JAL 27,100 45% p— p—
W =1LOFE 2 AESE: JAL JAL 28,800 45% p— p—
A& Eﬁa(ﬂa&) JAL JAL 28,800 45% p— p—

JAL/JTA/JAC/RAC



[FEHBIG]7 15E

EERX(BA25A~5A31AEES)

EEEAA 2012/1/24 ~
=4t 4/1-4/21 | BEH 3/25-3/31 | @EH
XFH Ei3=:5 Q) = ~ frrtiiacs "E C =
EEo [ EEa ] ¥ HETES 4/28-5/6 @ EI5|%E
W =H=E W% [EERECRHE)| JAL JAL 27.100 45% p— p—
KER(EFH|  JAL JAC 27,100 47% p— p—
HEH [ERCRH)| JAL JAL 27,100 45% p— p—
KR (EFH| JAC JAL 27,100 47% p— p—
=% W% [EERFECRE)| JAL JAL 25,800 46% — p—
wEEH [EER(CHEH)| JAL JAL 25,800 46% p— p—
Wi =mn W% [EERFECRE)| JAL JAL 24,800 48% p— p—
2% [ERERCEH)| JAL JAL 24,800 48% p— p—
Wi =m=% LI 38 :ﬁa(ﬂa&) JAL JAL 25,600 48% p— p—
e JAL JAL 25,600 48% p— p—
Wiz =#xl £ JAL JAL 25,600 49% p— p—
3 JAL JAL 25,600 49% p— p—
WLz =gk i S JAL JAL 29,600 46% p— p—
wk=X% 23 JAL JAL 28,800 46% p— p—
JAL JAL 28,800 44% p— p—
JAL JAL 28,800 46% p— p—
W =Ki& JAL JAL 31,200 45% p— p—
JAL JAL 31,200 46% p— p—
JAL JAL 31,200 45% p— p—
JAL JAL 31,200 46% p— p—
Wz =REAR JAL JAL 29,600 46% p— p—
JAL JAL 29,600 47% p— p—
JAL JAL 29,600 46% p— p—
JAL JAL 29,600 47% p— p—
W =gEi& JAL JAL 29,600 46% p— p—
JAL JAL 29,600 47% p— p—
JAL JAL 29,600 46% p— p—
JAL JAL 29,600 47% p— p—
WW=ERS JAL JAL 31,200 45% — —
JAL JAC 31,200 47% p— p—
JAL JAL 31,200 45% p— p—
JAC JAL 31,200 47% p— p—
WE=HE JAL JAC 25,600 49% j— J—
JAC JAL 25,600 49% p— p—
wE=xX% JAL JAL 28,800 43% p— p—
JAL JAL 28,800 43% p— p—
i =Rix JAL JAL 31,200 45% p— p—
JAL JAL 31,200 45% p— p—
s =RER JAL JAL 29,600 45% — J—
JAL JAL 29,600 45% p— p—
E=52 JAL JAL 31,200 43% — J—
JAL JAL 31,200 43% p— p—
me=ERrRS JAL JAC 31,200 46% p— p—
JAC JAL 31,200 46% p— p—
FR=HE JAL JAC 23,200 52% — J—
JAC JAL 23,200 52% p— p—
HFR=K5 JAL JAL 27,200 44% — —
JAL JAL 27,200 44% p— p—
FR=RIE JAL JAL 29,600 46% p— p—
JAL JAL 29,600 46% p— p—
FR=EEX JAL JAL 28,800 45% p— p—
JAL JAL 28,800 45% p— p—
FR=25 JAL JAL 28,800 45% — J—
JAL JAL 28,800 45% p— p—
FR=ERS JAL JAC 29,600 47% p— p—
JAC JAL 29,600 47% p— p—
INA=FEIL JAL JAL 24,200 53% p— p—
JAL JAL 24,200 53% p— p—
IMNR=IEE JAL JAL 24,800 53% — p—
JAL JAL 24,800 53% p— p—
IME=ILAFE JAL JAL 27,800 51% p— p—
JAL JAL 27,800 51% p— p—
IMR=HZE £ JAL JAL 25,200 53% p— p—
£ JAL JAL 25,200 53% p— p—
IMA=EE 3 JAL JAL 26,400 49% — p—
£ JAL JAL 26,400 49% p— p—
IMNE=FH £ JAL JAL 23,700 54% — J—
£ JAL JAL 23,700 54% p— p—
IMNA=F £ JAL JAL 25,200 53% p— p—
£ JAL JAL 25,200 53% p— p—
IMR=HL £ JAL JAL 25,600 52% p— p—
£ JAL JAL 25,600 52% p— p—
IR =LA £ JAL JAL 29,500 50% [ J—
% JAL JAL 29,500 50% p— p—
IMNR=K% £ JAL JAL 28,600 50% p— p—
£ JAL JAL 28,600 50% p— p—
Mr=RI§ £ JAL JAL 31,200 49% p— p—
3 JAL JAL 31,200 49% p— p—
IMR=FER £ JAL JAL 29,500 50% — J—
3 JAL JAL 29,500 50% p— p—
MNR=F5 AF JAL JAL 29,500 50% — J—
£ JAL JAL 29,500 50% p— p—
IMA=ERES 3 JAL JAL 31,200 49% — p—
S JAL JAL 31,200 49% p— p—
IMA=FTH / AE JTA [JTA/RAC| 36,000 38% J— p—
Eo% |48 (R%) [JTA/RAC]  JTA 36,000 38% p— p—
IMR=F1E AR R ORER) | JTA JTA 36,300 43% — J—
AiEH  [PEGRE)| JTA JTA 36,300 43% p— p—
L= FAWL%E  [F#GRE)| JTA [JTA/RAC] 34,400 33% J— p—
BEhH  [HEGLEH |JTA/RAC] JTA 34,400 33% p— p—
[EITEE=F] L%  [FEGERE)| JTA JTA 37,000 35% p— p—
AiEH  [FEGRE)| JTA JTA 37,000 35% p— p—
EH==5 =l & JAL/JAC| JAC 26,300 39% p— p—
EGES 2 JAC [JAL/JAC] 26,300 39% p— p—
BERE=5H/ | EEXEH | HKBRE JAC JAC 18,700 30% p— p—
Bim% MKERER [ JAC JAC 18,700 30% p— p—

JAL/JTA/JAC/RAC



ME#eEIs|7 BER(SA25A~5A31BEES)

SEEEAR . 2012/1/24 ~
RERH 4/1-4/27 | BEE 3/25-3/31 | BHEH
XFH Ei3=:5 Q) ~ frrtiiacs "E o jrertiide
D [ KR 5/7-5/31 | EI5|%E 4/28-5/6 | EI5IE
BEXE=KRA| EEXXEH 5 JAC JAC 16,000 46% — —
ok RERSE 55 JAC JAC 16,000 46% p— p—
B (E) =FF [ AH) F|FRCHEA) [JAL/JTA]  JAL 37,200 48% — -
AR FCRE)| JAL [JAL/JTA[ 37,200 48% p— p—
SPRB(INER) ==IR [fh#E (FRER) FH) [JAL/JTA[  JAL 37,200 47% — J—
ZR% [® JAL [JAL/JTA] 37,200 47% — -
SPAB(IRER) =FAE [fh#E GRER) JAL/JTA] JAL 36,000 45% — J—
AR JAL _[JAL/JTA] 36,000 45% p— p—
SPHB(IRER) = LT [h#E (RER) JAL/JTA] JAL 36,000 39% — J—
W%  [EmCAE)|] JAL [JAL/JTA] 36,000 39% p— p—
R (BB =LA PEXB R EBE JTA JAL 38,900 45% j— J—
=3 128 JAL JTA 38,900 45% p— p—
SR (ARER) =/ R (IRER) | 3R CBHHE) [JAL/JTA]  JAL 34,900 44% — -
MMAFE  [EERCEE)| JAL [JAL/JTA[ 34,900 44% p— p—
REB) =2 PEGBRR # JTA [JAL/JAC| 25,200 51% — —
EAIH = JAL/JAC] JTA 25,200 51% p— p—
SREB(ARER) =L PEGRERR] B JTA JAC 24,000 50% — —
FALLFE = JAC JTA 24,000 50% — -
HRPA) =EEXB|(RRCIE)%| ERE JAL JAC 41,700 33% [ J—
KR (EFH|  JAL JAL 41,700 29% p— p—
EBEXER | ERS JAC JAL 41,700 33% p— p—
KR (EFH|  JAL JAL 41,700 29% p— p—
RRCPAH) =ERB[RRCIE)%| ERE JAL JAC 41,800 34% j— J—
BERE | JAL JAC 41,800 25% — -
ERER ERS JAC JAL 41,800 34% p— p—
BEKRE | JUAC JAL 41,800 25% p— p—
RRCPHR) =#zZB[RRCIE)%| ERE JAL JAC 42,800 35% j— J—
BERE | JAL JAC 43,600 27% p— p—
[FFAEES ERS JAC JAL 42,800 35% p— p—
BEKRE | JUAC JAL 43,600 27% — -
HRCHA) =$XBH|HRERCAE)%| ERE JAL JAC 44,600 35% [ J—
HKRER | ERS JAC JAL 44,600 35% p— p—
BEKRE | JUAC JAL 44,600 29% — -
FRCPR)=5# [RRCHE)%| ERS JAL JAC 45,000 36% — J—
EE 13 BERS JAC JAL 45,000 36% p— p—
BEKRE | JUAC JAL 44,900 32% — -
KR (P =EEXB|XREFDFE| ERS JAC JAC 36,000 28% — J—
| | ®mEXEBHE | ERS JAC JAC 36,000 28% p— p—
KR () =ERB| KR (B E|_ERS JAC JAC 37,100 27% — J—
BERE | JAL JAC 37,100 19% p— p—
ERER ERS JAC JAC 37,100 27% p— p—
BEKRE | JUAC JAL 37,100 19% — -
KB (D) =2 8| KR (R | ERS JAC JAC 38,100 29% — J—
BERE [ JAL JAC 39,000 21% p— p—
[EFAEES ERS JAC JAC 38,100 29% p— p—
BEKRE | JUAC JAL 39,000 21% p— p—
KR () =hk RE | KBR R | ER JAC JAC 39,600 30% — -
HKBREH | BERS JAC JAC 39,600 30% p— p—
KRB =5# [KR(FFH%| ERS JAC JAC 39,900 31% — -
5% ERS JAC JAC 39,900 31% p— p—
BR=BEXS [ERES BERS JAC JAC 29,300 30% — —
EBEAEH | BERS JAC JAC 29,300 30% p— p—
BER=ER5 [EEES ERS JAC JAC 30,600 29% — —
BEKRE | JUAC JAC 30,600 26% — -
ERER ERS JAC JAC 30,600 29% p— p—
BEKRE | JUAC JAC 30,600 26% p— p—
ER=z5 [EEES ERS JAC JAC 30,700 32% — —
BEKRE | JUAC JAC 30,700 32% p— p—
[FFAEES ERS JAC JAC 30,700 32% p— p—
BEKRE | JUAC JAC 30,700 32% — -
12 =ik RED [ERES BERS JAC JAC 32,200 33% — —
HKRER | ERS JAC JAC 32,200 33% p— p—
BEKRE | JAC JAC 32,200 34% — -
ER=5#H [ERES BERS JAC JAC 32,600 34% — —
EE 13 ERS JAC JAC 32,600 34% p— p—
\BEXE [ JAC JAC 32,600 37% p— —

JAL/JTA/JAC/RAC



[FEHBTI28 BEER(3A25H~31HERES)

EE#EAR 2012/1/24 ~
P o
=45 #Eeh® RERH 3/25-3/31 ':E“gféﬂ HE
EED | EEQ@ i
RRECHA) =52 [RZECHHA)F| 4 GR%) |[JAL/JTA[JTA/RAC| 28,100 54% | H:28,700
Eos |8(E8%F) [JTA/RAC[JAL/JTA[ 27,900 55%  +:27,700, H:30,300
RRECHE)=FE [REZECHHA)F| P GREH) [JAL/JTA[ JTA 29,300 56% % 1:29,800
RiIEH [PEEGBEH)| JTA |JAL/JTA| 29,200 56%  +:27,200, H:30,800
KR (R FH =% Bl | KBR (R FH S| BRECRHE) | JAL JAL 23,600 65% | H:24,400, £ +:25600, H:24,000
AR TR | JAL JAL 25,600 62% & 1:27,200
iRl |[RECHHE)| JAL JAL 22,900 66% | AK:24,100, £:24,900, +:24,500, H:26,800
AR TR | JAL JAL 25,600 62%  H:27,200
KR (BA7E) =% Bl | KBR (B8 7E) S| B CRIH) | JAL JAL 23,600 65% | H:24,400, £ +:25600, H:24,000
AR TR | JAL JAL 25,600 62% & 1:27,200
iRl |[RECHHE)| JAL JAL 22,900 66% | AK:24,100, £:24,900, +:24,500, H:26,800
AR EF TR | JAL JAL 25,600 62% H:27,200
KR (FFH =N [ KR () F|R/RRCHAE) |  JAL JAL 24,000 64% | F:24,400, %:25,800, £:25,100, H:24,100
JBJI%E [RECHHE)| JAL JAL 23,200 65% | A%:24,400, H:24,600
KR (B#E) =1l [ KPR (BHPE) F|RTCHHAE)| JAL JAL 24,000 64% | F:24,400, %:25,800, £:25,100, H:24,100
JBJIZE [HEECHHE)| JAL JAL 23,200 65% | A%:24,400, H:24,600
KR (FFH =888 [ KR (P F|RRCHHE) | JAL JAL 21,000 68% |%:22,600, H:23,000
HIERFE [RECHH)| JAL JAL 23,400 64% | AR%£:24,600, H:26,300
KB (RFH =5 | KBR FFH) F|RFCHE)|  JAL JAL 22,800 65% | H:23,200, +:23,600, H:25,100
A% |REECHEA)| JAL JAL 22,000 66% | A:23,200, £:24,000, 1:23,600, H:24,400
KR (FFH =B [ KR (FFH) FE|RRCHHE) | JAL JAL 22,300 62% % +:24,800, H:21,900
BREER  [HHECPRH)| JAL JAL 23,100 60% | A%:24,300, H:27,600
KR (FFH ==ZR [ KBRUFFD FE|ERCHHE)| JAL JAL 23,000 59% | H:23,800, H:22,200
ZRE |[HEFCHHAE)| JAL JAL 23,000 59%  A%:24,200, H:23,800
Ak (BFE) ==R | KB (Bi#E) F|R/RCHHA)| JAL JAL 23,000 59% | H:23,800, H:22,200
KR (FFH =2 [ KR (FFH) F|H#EGRE)| JAL [JTA/RAC| 27,200 51% % 1:29,200
Eos  |B(EE) [JTA/RAC] JAL 27,200 51% | H:29,200
KR (BdE) == [ KB (BFE) 5| ih#E (FR%F) [JAL/JTA[JTA/RAC| 27,200 51% % 1:29,200
Eo% 74 (F8%) [UTA/RACIJAL/JTA[ 27,200 51% | H:29,200
KR (FFH =F1E [ KBRFF) F|HEGREH) | JAL JTA 25,900 57% % 1:27,500
AiEE  [MEERHE)| JTA JAL 28,900 52% | H:30,900
KR (BdE) =FH1E [ KBk (BFE) F|h#E (FB%) [JAL/JTA[ JTA 25,900 57% % 1:27,500
AiEF  [HEEREH)| JTA [JAL/JTA[ 28,900 52% | H:30,900
ZHE (P =%m5 | £ EE (P R[AREGFH |  JAL JAL 23,600 63% | % 1:25,000
S VES IR (FHFH) | JAL JAL 24,400 61% |%:25,200, H:29,000
Z2HE(PE) =25 (242 (P R PEFFHE)| JTA [JTA/RAC| 27,200 54% % 1:29,200
Eos  |[EB(EF) [JTA/RAC] JTA 27,800 53% | H:30,600
ZHE (D) =RiE[2ER (P X BT JTA JTA 28,900 55% % 1:30,900
RiEE  [MEERHE)| JTA JTA 28,900 55% | H:30,600
AR (BT =/MA[AURF TR | RECAE) [ JAL JAL 25,800 57% %:26,600, 1:27,000, H:29,000
MAFE [ERERFECHEA)| JAL JAL 25,500 57% | AH:26,300, £:28,800, 1:26,600
AR (%) =RIL [ ARG TR | RECAE) [ JAL JAL 25,600 62%  |%:26,000, H:28,000
RS |EFCHH)| JAL JAL 24,800 63% | A:25,200, % 1:27,200
AR TR =LE[AREFTH X RICAHE)|[  JAL JAL 26,800 61% | H:29,200
LEE% |EFECHA)| JAL JAL 26,500 61% | A:27,300. £:29,200, F:28,000
HIRETR) =ILOFH LR FFR) E[ERCAE) [ JAL JAL 28,000 61% | £:28,400, £:27,200, H:30,000
WWOF8%E [RRCEA)| JAL JAL 25,400 65% | 1:26,400
AR T =HEREGTH) X|RTCAHE)|[  JAL JAL 28,100 59%  %:30,900, H:32,200
HES |ERECHH)| JAL JAL 26,700 61% 30,900, +:29,600, H:27,100
AR TR =ES[AREF TR X|RECAHE)|[  JAL JAL 24,500 64%  |$:24,900, H:27,300
®mER [HECHH)| JAL JAL 24,800 63% | AK:25,400, £:27,100, £:26,000, H:24,600
AR TR =R [AURETH) X RECAHE)|[  JAL JAL 28,200 58% | %:29,000, 1:27,400, H:29,600
=M% |EFECHIA)| JAL JAL 27,400 59% £ +:29,800, H:25,600
AR TR = [AREFHTH) X R CAHE) | JAL JAL 27,200 61% |%:28,400, H:30,400
=A% |[EFECHA)| JAL JAL 27,200 61% % +:29,200
AR (%) =AU [AR TR | RE CAE) [ JAL JAL 28,000 60% _ |%:30,000, H:30,600
wmilFE  [EECHHE)| JAL JAL 27,300 61% |AKH:28,100, %:30,600, £:29.600
HREFFR) =AM AR FFHR[ERCARE) | JAL JAL 29,400 61% |£:30,800, H:31,800
JdEAMFE [RECHH)| JAL JAL 28,200 62% | K:28,600. £:31,200, £:30,600, H:27,600
AR TR =KD [AUREF TR X R CAHE) [ JAL JAL 29,200 60% |%:29,600, +:27,600, H:31,600
AHFE |[HFECHHAE)| JAL JAL 29,300 60% | K:30,100. %:31,800, £:30,000, H:29,700
AR T =RB[ ARG TR X|RECAHE)|[  JAL JAL 27,200 65% | +:28,800, H:30,800
RBE |[HFECHAE)| JAL JAL 28,400 63% |£:30,200, 1:28,800
AR (T =REAR[AURF TR | R CAE) [ JAL JAL 28,800 61% % +:29,600, H:30,800
BEAE |[HFCHHA)| JAL JAL 29,300 61% |A:30,100. £:31,800, $:30,000
AR T == [AREFTH) X R CAHE)|[  JAL JAL 29,600 60% _ |%:30,400, H:31,600
=FE |[HEFECHAE)| JAL JAL 29,300 61%  |A:30,100, %:31,800
WEFFR) =ERE[ARFTR X[/ FA)| JAL JAL 30,200 61% |£:31,000, H:31,200
BREX |[HECHH)| JAL JAL 28,400 63% |%:30,200, 1:29,200, H:29,800
LR (T8 = GBE) [ IR (T ) | R CHHE) | JAL |JAL/JTA| 30,300 61% | £:33,600, £:31,200, H:32,700
ABR (BEFE) [ JAL [JAL/JTA[ 30,200 62% % 1:31,800. H:31,400
ZEE(hE) | JAL JTA 32,000 60% | % 1:34,400
12 JAL JTA 27,600 67% |£:29,300, H:29,200
JRHE (FRER) H | _RE CRHA) [JAL/JTA|  JAL 31,200 60% | K:32,000, %:33,700, £:30,700, H:33,600
KB (BETE) [JAL/JTA[  JAL 31,400 61% | H:33,000
12 JTA JAL 27,600 67% % 1:30,100. H:28,500
[HEEE S F] wBE%E [EECHHE)| JAL JAL 27,400 67% |%:30,400, 1:29,600, H:30,000
AR EF TR | JAL JAL 25,400 67% % 1:27,000
iRl |[RECHHE)| JAL JAL 26,700 68%  |%:29,900, 1:30,100, H:29,100
AR TR JAL JAL 25,400 67%  H:27,000
&R =he )1l BE%E [RECHHE)| JAL JAL 27,200 66% 31,800, £:30,700, H:28,800
nBJIFE [HECHHE)| JAL JAL 26,600 67%  7:28,000, £:30,100, H:30,300
1= =8I B% @R  [RECHHE)| JAL JAL 25,600 68% |%:28,200, 1:26,100, H:29,000
SRR [HECHH)| JAL JAL 26,800 67% | K:28,200. £:32,000, £:27,000, H:30,800
&=k BE%E  [RECHHE)| JAL JAL 26,000 67% |%:28,400, 1:27,600, H:30,000
wLF  |EECHEA)| JAL JAL 25,000 69% |£:29,000, £:29,200, H:26,600
12 = EHEE BE%E  [RECHHE)| JAL JAL 26,100 64%  |7X:26,900, £ 1:29,600, H:27,900
BREER [HHECPRH)| JAL JAL 27,700 62% |%:28,500, 1:28,700, H:29,800
RE=7% B%E  [RECHHE)| JAL JAL 29,000 59% | %:31,400, 1:28,500, H:30,600
BHA%  |[ERRECHHE)| JAL JAL 28,400 60% | A H:27,600, A:29,800, %:30,800, £:28,200
BRE==iR BE%E  [RECHHE)| JAL JAL 26,000 63% % +:27,000, H:27,800
ZR%E [EERCHEAE)| JAL JAL 26,400 63%  A:27,800, £:31,600, £:27,000

JAL/JTA/JAC/RAC



[FEHBTI28 BEER(3A25H~31HERES)

SEEEAR . 2012/1/24 ~

P o
=4 EE3=:E O] BB 3/25-3/31 ':E“gféﬂ s
EED | EE@ =
&R =FE wE%E [EECHHE)| JAL JAL 25,100 62% | K:25,300, %:26,100, £:25,200, H:27,300
KRR RFD|  JAL JAL 22,400 62% % 1:23.200
MER [EECHH)| JAL JAL 26,300 60% | A:27,300. £:30,200, H:26,700
KRR RFD|  JAL JAL 24,400 50% | % H:24,800
2R = L fz BE%E  [RECHHE)| JAL JAL 24,800 58% % 1:25900, H:25,400
W% |EFECHHE)| JAL JAL 24,700 58%  %:25,600, 1:25,300
&R =% BEFE [ KRUEPEFD| JAL JAL 19,400 65% % H:21,000
Fia% [ ARURFD| JAL JAL 21,000 62% |4 H:21,800
[ EUSA BR%E  [RECHHE)| JAL JAL 26,800 57% %:30,000, +:27,200, H:29,200
M |RFECHA)| JAL JAL 26,800 57% |7:28,400, £:30,500, H:27,600
ER=2 arE% A @RE)| JTA [JTA/RAC| 22,700 53% |%:24,400
Eos  |[EB(EE) [JTA/RAC] JTA 23,600 51% £ H:25,200
&R =H1E | A3 JTA JTA 24,400 55% |%:25,700
RiEE  [MEERHE)| JTA JTA 24,400 55% & H:25,500, 1:24,900
ZimBl=Il&E ZEAIFE  [AREFTHE| JAL JAL 24,900 54% | H:26,800
WEeEF  [HREFH)| JAL JAL 24,000 56% % 1:26,000
iR = /MR A |RECHHE)| JAL JAL 24,700 63% % +:26,100, H:28,600
MMAFE |ERFECHE)| JAL JAL 25,400 62% % +:26,600, H:26,900
i Bl = e L A% |RECHHE)| JAL JAL 24,900 67% % +:26,600, H:28,000
fEL  |EFCHH)| JAL JAL 25,900 66% & +:27,600, H:26,700
Zimpl=HE iR |RECHHE)| JAL JAL 27,400 64%  |%:29,800, 1:29,400, H:32,900
HES |EZECHH)| JAL JAL 27,200 65% | +:30,800, H:28,000
il =4l iRl |RECHHE)| JAL JAL 27,300 65% |%:28,900, 1:28,100, H:32,000
wmilFE  [HECHHE)| JAL JAL 28,000 64% % +:28,400, H:28,800
JENTETSA neJIFE [HEECHHE)| JAL JAL 25,000 62% |%:25,800, H:28,100
MAFE [ERFECHAE)| JAL JAL 24,200 63% |%:28,000, 1:27,300, H:25,700
JBJII=FRL0 nBJIFE [HECHHE)| JAL JAL 25,200 66% | H:27,200
FEWL |EFCHH)| JAL JAL 24,700 67% % +:27,600, H:25,500
BII=HE neJI%E [HEECHHE)| JAL JAL 27,700 63%  |%:30,100, H:30,700
HES |ERECHH)| JAL JAL 27,100 64% % +:28,600, H:28,300
TENI=#x10 nBJIFE [REECHHE)| JAL JAL 27,600 64% % H:29,100
wmilFE  [HECHHE)| JAL JAL 27,600 64%  |%:30,300, 1:29,600
EEEINA HIERFE [HECHH)| JAL JAL 25,200 61% |%:26,000, 1:23,400, H:29,800
M |EHERFECHAE)| JAL JAL 23,600 64% |%:25,200, H:25,900
SI¥E =10 SRR [RECHH)| JAL JAL 25,400 65% | H:28,900
FEL  |EFCHH)| JAL JAL 24,100 67% |%:26,200, 1:23,800, H:25,700
SR =HE HIEEFE [HECHH)| JAL JAL 27,900 63% _ |%:30,300, H:32,400
HES |ERECHH)| JAL JAL 25,400 66% |%:28,600, 1 H:27,000
S =410 SRR [RECHH)| JAL JAL 27,800 63%  |%:29,400, H:30,800
milFE  [EECHHE)| JAL JAL 26,200 65% % H:27,800
L=/ HwLa%  |EFECHEA)| JAL JAL 23,800 63% % +:25,200. H:26,200
MAFE |ERFECHE)| JAL JAL 23,000 64% | +:24,600, H:26,900
HLE=El wLa%  |EECHEA)| JAL JAL 24,000 67% % 125,700, H:25,600
FEL  |EFECHH)| JAL JAL 24,000 67% | +:25,600, H:26,700
HLh=HE WL |EFECHEA)| JAL JAL 26,500 64% | £::28,900., 1:28,500,
HES |EFECHH)| JAL JAL 25,900 65% |%:27,200, 1:28,800,
HLE=m wLaF  |EECHA)| JAL JAL 26,400 65% | %::28,000, £:27,600, H:29,600
WmilFE  [HERCHHE)| JAL JAL 26,400 65% | +:28,000, H:28,800
BEEE =/ BREER [HHECPRH)| JAL JAL 24,900 57% %:25,700, 1:24,700, H:29,400
MAFE |ERFECHE)| JAL JAL 24,100 58% % 1:26,600, H:24,800
EEE=E Ll BREER [HHECPRH)| JAL JAL 25,200 62% | H:28,800
fELFE  |EFCHH)| JAL JAL 25,100 62% % 1:27,600
HEE=HE BREER [HHECPRHE)| JAL JAL 28,000 58%  %:30,000, H:33,700
HES |EZECHH)| JAL JAL 26,700 60% | 1:30,800
EEE=#1l BREER [HHECPRH)| JAL JAL 27,500 59% %:29,100, H:32,800
WmilFE  [HECHHE)| JAL JAL 25,900 62% % +:28,400, H:26,700
BEEE =AM BREER [HHECPRH)| JAL JAL 29,300 60%  |%:29,900, H:32,200
JdEAMFE |[RECHH)| JAL JAL 27,700 62% % +:30,200, H:27,900
EE=X5 BREER [HHECPRH)| JAL JAL 28,700 60% | H:32,400
AnFE |HFECHHAE)| JAL JAL 28,700 60% % +:31,200
EEE=RIE BREER [HHECPRH)| JAL JAL 28,700 62% | H:31,600
RBE |[HFERCHA)| JAL JAL 27,700 63% % 1:29,200, H:28,700
EEE=FEX BREER [HHECPRHE)| JAL JAL 28,300 61% |%:28,700, H:31,600
BEAZE |[HFECHHAE)| JAL JAL 25,900 64% % +:28,400, H:27,500
EE=2I& BREER [HHECPH)| JAL JAL 28,300 61% % +:29,500, H:32,400
=E |RERFECHAE)| JAL JAL 27,900 62% | 1:30,400
HE=ERS BREER [HHECPRH)| JAL JAL 30,100 60%  |%:31,700, H:32,400
ERER [HRERCHA)| JAL JAL 27,300 63% % +:29,600, H:28,300
BFR=/H BHA%  [ERRECHHE)| JAL JAL 26,800 52% | A +:25200, £:27,300, H:26,000
MAFE [EHERFECHE)| JAL JAL 26,000 54% | H:27,500
FH=FLL BHa%  |[ERRECHHE)| JAL JAL 27,000 58% | B+ H:25,400
FEL  |EFCHH)| JAL JAL 26,500 59% |£:27,000, 1:26,200, H:27.300
EH=L5 EHE  [EmCEE)| JAL JAL 27,000 59% | A T H:26,200, £:27,800
LEE% |EFECHHA)| JAL JAL 27,800 57% | %:28,000, 1:26,200, H:28,600
EH=ILOFE BHAX |RERFECHHE)| JAL JAL 29,400 57% | A H:27,800, 1:26,200
WWOF8%E [RRCEA)| JAL JAL 26,200 62%
FH=HE BEHAX  [ERRECHHE)| JAL JAL 27,100 59% |£:29,100, H:28,700
HES |ERECHH)| JAL JAL 28,900 56%  %:29,300, H:30,100
EH=S BHA%  [ERFCHHE)| JAL JAL 25,900 60% |A 1+ H:25100
®mER [HECHH)| JAL JAL 25,900 60% | H:26,700
FH=ai EHE  [EmCEE)| JAL JAL 29,600 54% | H H:28,000. £:29,800. 1:26,800
=M% |EFECHIA)| JAL JAL 28,000 56% |%::28,800, 1:27,200, H:27.800
EH=aH BHA%  |[ERECHHE)| JAL JAL 28,600 57% | A +:27,000, £:29.400. H:27,.800
=A% |EFECHA)| JAL JAL 28,600 57%  %:30,200, H:29,800
HHR=L BEHAXE [ERFECHHE)| JAL JAL 29,400 56% | A 1:27,800, £:31,000
wmilFE  [HECHHE)| JAL JAL 29,400 56% | 1:28,600
EH=dAM BHAX |RERRCHHE)| JAL JAL 30,400 57% | A T H:28,800., £:31,800
JdEAMFE |[RECHH)| JAL JAL 29,800 58%
FH=KS BHa%  [ERRECHHE)| JAL JAL 30,600 56% | B+ H:29,000
AHnFE |HFECHHAE)| JAL JAL 30,600 56%  1:30,200, H:31,400
EH=RI& BHA%  [ERRECHHE)| JAL JAL 28,600 61% | A1+ H:28,200, £:29,800
REFE [ERERCEAE)| JAL JAL 30,600 58% | H:31,400

JAL/JTA/JAC/RAC



[FEHBTI28 BEER(3A25H~31HERES)

EEEAA 2012/1/24 ~
P o
=45 #Eeh® RERH 3/25-3/31 ':E“gféﬂ w5
[ EEO | REQ i
BEHR=ER ERCHE)| JAL JAL 27,800 61% |%:29,800, 1:28,600, H:28,200
BEECAE)|[ JAL JAL 27,800 61% | H:29,000
EHR=8& ERCHE)| JAL JAL 28,600 60% |%:31,400, 1 H:29,000
BEECAE)|[ JAL JAL 28,600 60% | H:30,600
BER=ERS BEECAE)|[ JAL JAL 30,200 59% B+ H:29,600, £:31,200
BEECAE)|[ JAL JAL 30,600 58% | H:32,300
ZiR=/ 2 HECHHE)| JAL JAL 24,800 56% % H:25,600, 1+:23,000
BEECAE)|[ JAL JAL 24,000 57% | H:24,700
ZiR=FWL HECHHE)| JAL JAL 25,000 61%
REECAE)|[ JAL JAL 24,200 62% | H:25000
=R=L5 BEECAE)|[ JAL JAL 24,600 62% % H:25,200, 1:24,800
BEECAE)|[ JAL JAL 25,000 61% % H:25.800
ZR=ILAFH HECHHE)| JAL JAL 27,400 60% | 1:25.800
REECAE)|[ JAL JAL 25,800 62%
ZR=HZE HECHHE)| JAL JAL 27,500 58% % H:29,900
BEECAE)|[ JAL JAL 26,600 50% | % 1:28,200
SR=ES HECHHE)| JAL JAL 23,900 62%
BEECAE)|[ JAL JAL 23,900 62%
ZR=m BEECAE)|[ JAL JAL 27,600 56% |%:28,000, 1:26.400
BEECAE)|[ JAL JAL 26,800 58% | % 1:27,600, H:25.800
=R==% HECHHE)| JAL JAL 26,600 59% % H:27,400
BEECRAE)|[ JAL JAL 24,200 63% | % 1:25,000
ZiR=#x0 HECHHE)| JAL JAL 27,400 58% % H:29,000
BEECAE)|[ JAL JAL 26,600 60%
ZiR=4nM ZRE |[HEFCHHAE)| JAL JAL 28,400 60% |%:29,800
JdEAMFE |[RECHH)| JAL JAL 27,800 61%
ZiR=X% ZRE |HEFCHHAE)| JAL JAL 28,600 59% | 1:27,000
BEECAE)|[ JAL JAL 28,600 59%
ZR=RK& HECHHE)| JAL JAL 26,600 63% % H:27,800
BEECAE)|[ JAL JAL 28,600 61%
ZiR=8X HECHHE)| JAL JAL 26,600 62% % H:27,800
BEECAE)|[ JAL JAL 25,800 63% | H:27,400
ZiR=E’ HECHHE)| JAL JAL 26,600 62%  |%:29,400, 1:27,800, H:28,600
BEECAE)|[ JAL JAL 27,800 61%
ZR=ERS HECHHE)| JAL JAL 28,200 61% % H:28,600
REECAE)|[ JAL JAL 28,200 61%
FE =/ REECAE)|[ JAL JAL 24,300 52% £ H:25,900
REECAE)|[ JAL JAL 22,700 55% | H:24,200
FE=[Ll HECHHE)| JAL JAL 24,500 59% % H:25,300
REECAE)|[ JAL JAL 23,300 61%  %:23,700, H:24,500
MHE=LE8 REECAE)|[ JAL JAL 25,300 58% £ H:26,100
BEECAE)|[ JAL JAL 24,100 60%  %:24,500, H:25300
MEBE=LOFH HECHHE)| JAL JAL 26,900 58%  #H:27,700, 1:26,500
REECAE)|[ JAL JAL 24,500 61% | H:25300
ME=HE HECHHE)| JAL JAL 27,400 55% % H:27,800
RERRFD|  JAL JAC 22,800 50% &+ H:23,200
HE HECHHE)| JAL JAL 24,900 59% £ +:26,500, H:25,300
KR (FFD|  JAC JAL 19,600 65% % H:20,400, 1:19,200
MEA=ES FEFE [HECHH)| JAL JAL 24,200 59%
wmER |[HECHH)| JAL JAL 22,100 62% | H:22,900
MEA=5K EFE [HECHH)| JAL JAL 27,100 54% |£:28,300, 1:26,700, H:27.900
=% |EFECHA)| JAL JAL 25,100 57% £ +:25900, H:25,300
MEA=540 EFE [HECHH)| JAL JAL 26,100 57% £ H:27,700
=A% |EFECHA)| JAL JAL 23,300 61% % +:24,100, H:23,700
#E=1 RS [BRECPHE)| JAL JAL 26,900 56% % H:29,300
NLFE  [BRECPHE)| JAL JAL 25,700 58% | H:26,100
FE =AM IR [BRECPHE)| JAL JAL 27,900 58%  %:30,100, H:28,700
JdEAMFE [RECHH)| JAL JAL 26,700 59% £ H:27,300
MEA=X5 MER [EECHH)| JAL JAL 28,100 57% | % H:28,900, 1:27,300
RERFFD|  JAL JAL 24,800 56% | % H:26,000
AHnFE |HFECHHAE)| JAL JAL 27,300 58%  1:26,900, H:28,100
MA=FIF MEF [ERCHHE)| JAL JAL 27,300 60% % H:28,100
KRR RFD|  JAL JAL 23,800 62% % 1:25600, H:24,800
RBE |[HFECHAE)| JAL JAL 27,300 60% | H:28,100
MEA=RX MEF [ERCHHE)| JAL JAL 28,100 57% £ +:28,900
KRR RFD|  JAL JAL 24,900 59% | % H:25,300, 1:25,200
REA% |[ERCIHA)| JAL JAL 26,100 60% | H:26,900
KRR RFD|  JAL JAL 24,800 59% |£:25600, 1:24,400, H:25,700
MEA=2& MEF [ERCHHE)| JAL JAL 26,900 59% |£:29,700, 1:28,100. H:28.900
KRR FFD|  JAL JAL 26,400 57% | £::28,800, H:28,400
=R [ERCHEA)| JAL JAL 25,300 61% | H:27,300
RERRFD|  JAL JAL 25,900 57% |% H:27,500, 1:26,400
MHE=ERS MEF [ERCHHE)| JAL JAL 28,700 58% |£:30,300, H:28.900
KRR RFD|  JAL JAC 24,800 61% % 1:26,800, H:25,200
BREX [EECHH)| JAL JAL 26,900 60% | H:27,700
KR (FFD|  JAC JAL 24,000 63% | £::24,800, £:25,200, H:26,000
i =hin W% |EECHHE)| JAL JAL 21,400 52% | H:22,800
MM |EHERFECHE)| JAL JAL 22,500 49% | H:23,300
LRz =Rl Wfz%  |EECHHE)| JAL JAL 22,400 57%
FELF  |EFCHH)| JAL JAL 22,800 57% | H:23,700
W =1L8 W% |EECHHE)| JAL JAL 22,000 59% % H:23,500
LEE% |HFECHHAE)| JAL JAL 22,300 58%
Wtz =1L O3 Wfz%  |EECHHE)| JAL JAL 24,600 57% % H:25500
WWOF8ME [RRCEA)| JAL JAL 23,700 58%
Iz =HZ=E W% |EECHHE)| JAL JAL 26,400 51% % H:28,200
HES |EZECHH)| JAL JAL 25,500 53% % 1:27,300
=R W% |EECHHE)| JAL JAL 22,400 57%
®mER [HECHH)| JAL JAL 21,900 58%
it == Wz %  |EECHHE)| JAL JAL 22,800 56%
=M% |[EFECHA)| JAL JAL 22,800 56%
WL ==4n W% |EECHHE)| JAL JAL 23,700 56% % H:24,600
=% [ERGGH)| JAL JAL 22,800 58% % 1:23,700

JAL/JTA/JAC/RAC



[EME|T128 &

EER(BA25A~31BERS)

EEEAA 2012/1/24 ~
oA '
=P oD | BERR g5 08 e
[ EEO [ XE | i
iz =420 Wfz%  |EECHHE)| JAL JAL 24,100 56% % H:24,600
wmilFE  [HECHHE)| JAL JAL 24,600 55% | H:25,500
Ltz =Jk JdEAMFE |[RECHH)| JAL JAL 26,600 55% | H:25,500
Iz =K% Wfz%  |EECHHE)| JAL JAL 25,900 55%
AHFE |HFECHHAE)| JAL JAL 24,600 58% | H:26,800
Lz =R Wz%  |EECHHE)| JAL JAL 24,600 60% | H:26,800
RBE |[HFERCHAE)| JAL JAL 25,500 59%
Iifz=8EK g% |EFCHHE)| JAL JAL 25,500 57% |%:25,900
BEAE |[HFCHHA)| JAL JAL 24,600 59%
I == W% |EECHHE)| JAL JAL 25,500 57% % 1:26,800
=E |[HERFECHAE)| JAL JAL 25,500 57% | H:26,800
L=ERS W% |EECHHE)| JAL JAL 24,600 60% % H:27,300
;m.%% HECHHE)| JAL JAL 25,900 58%
E=H=E e KBRRFD | JAL JAC 22,200 58% | H:21,400
Hi;% KR (FFD|  JAC JAL 18,800 65% | H:20,200, 1:19,400
&E=xX% wEaEs [ KERUEPFD| JAL JAL 24,200 56% % H:25,400
A% | KBRUFFH| JAL JAL 22,200 59% % 1:23,000, H:23,800
&E=RKig e [ KERUFFD| JAL JAL 25,400 58% % 1:26,600, H:26,200
RBE [ KROFFD|[ JAL JAL 24,600 60%  |%:25,400, H:26,200
B =rX W&ER [ KEREPEFD| JAL JAL 24,200 59% % H:24,700
BAE | KRUFFD|[ JAL JAL 24,600 58%  %:25,400, H:25,500
&E==1k e [ KERUFFD| JAL JAL 25,800 56%  %:29,000, 1:27,000, H:28,200
Eﬂtﬁ% KR (FFD | JAL JAL 25,700 56% % H:27,300
WE=ERS & KB (FFD|  JAL JAC 25,800 58% £ +:27,000, H:26,600
EJL%% KR (FFD|  JAC JAL 25,300 59% |%:27,000, 1:26,200, H:26,300
FiR=HE Fia% [ ARURFD| JAL JAC 21,800 58% |£:22,800, H:19.800
HER | XRUEFEM)| JAC JAL 18,800 63% % H:19,400
FiR=X% #Fin% [ KRUPRFD| JAL JAL 22,200 58% £ H:23,800
AnFE | KRUFFD|[ JAL JAL 21,400 59%  %:23,000, H:23,800
FR=RE % [ KRUPRFD| JAL JAL 24,800 58% & 1 H:25,400
RBE | KROFFD|[ JAL JAL 24,600 58% | H:25,400
Fim=REX i [ KBRUPRFD| JAL JAL 25,000 56%
BEAE | KRUFFD|[ JAL JAL 24,600 57% | H:24,700
Fin==& Mm% [ KBROUPEFD| JAL JAL 26,600 53% £ +:27,800
HEF [ KBRUEFFD|  JAL JAL 25,700 55% % H:26,500
HR=ERS Fia% [ ARURFD| JAL JAC 25,800 57%
BREX |KRUEFD| JAC JAL 23,800 60% |+ H:25,000
Y=Ll M |ERFECHAE)| JAL JAL 22,900 59%  %:23,200, H:23,600
FELF  |EFCHH)| JAL JAL 24,300 57%  %:25,600, 1:24, H:25,100
INR=]EE MMAFE |ERFECHE)| JAL JAL 24,200 58% |£:25200, 1:24, H:24,900
LEE% |HFECHHAE)| JAL JAL 25,600 55%  %:26,600, , H:26,400
MA=1L0OFH MMAFE |EHERFECHE)| JAL JAL 24,800 59%  %:25,600, H:26,300
WWOF8E [RRCEA)| JAL JAL 24,000 61% | +:25,200, H:25,000
IMA=HE MMAFE [ERERFECHAE)| JAL JAL 26,500 54% |£:28,900, H:29,600
HES |ERECHH)| JAL JAL 26,700 54% £ H:27,900, :26,200
IMAY=1E5 MM [ERFECHAE)| JAL JAL 23,700 58% | % H:24,500
®mER [HECHH)| JAL JAL 23,700 58% £ H:24,500, 1:24,400
IMNR=FH MMAFE [EHERFECHE)| JAL JAL 27,400 51% | %:28,500, 1:26,200, H:28,200
=M% |EFECHA)| JAL JAL 25,800 54% £ +:26,600, H:26,400
IMNA=T5 MMAFE |ERERFECHAE)| JAL JAL 24,000 58%  %:24,800, H:25,500
=A% |EFECHA)| JAL JAL 26,400 54% %:28,300, 1:27,600, H:27,300
M=l MR HECHHE)| JAL JAL 26,400 55%  %:28,000, H:28,700
wmilFE  [HECHHE)| JAL JAL 27,200 53% % H:28,000, 1:28,400
IMRA=JE M MR HECHHE)| JAL JAL 28,200 55%  %:29,600, H:29,000
JdEAMFE [RECHH)| JAL JAL 28,200 55% | %:28,800, 1:29,400, H:27,000
IMA=K5 MM |ERERFECHAE)| JAL JAL 26,000 58% | A#:27,600, 1:27,200. H:28,300
AnFE |HFECHHAE)| JAL JAL 28,400 54% %:29,300, 1:28,000, H:29,600
A=K MAFE |ERFECHE)| JAL JAL 26,000 60% |%:26,800, 1:26,400, H:27,500
RBE |[HFERCHAE)| JAL JAL 28,400 56% £ H:29,200
IMNR=FER MAFE |ERERFECHE)| JAL JAL 25,800 59% |£:27,600, 1:27,200, H:27,500
BEAE |[HFECHHA)| JAL JAL 28,400 55% % H:29,200, 1:28,800
IMNA=ZIE MM |EHERFECHAE)| JAL JAL 26,800 57% | £:27,600, 1:27,200, H:27,500
=E |HEFECHAE)| JAL JAL 28,400 55% % H:29,200
IMA=EEIRE MMAFE |EHERFECHAE)| JAL JAL 27,400 58% | %:29,000, +:27,800, H:27,900
BREX |[HECHH)| JAL JAL 28,400 56%  %:29,200, 1:26,800, H:30,600
M= RS PR (BBER) | JTA  |JTA/RAC| 28400 54% % 1:30,800
EoE | ERE) [JTA/RAC]  JTA 25,300 59% | A H:27.700
IMA=FR1E MMAFE B ERE)|[ JTA JTA 26,700 60% % +:29,100
AiEE  [MEERHE)| JTA JTA 26,700 60% | HH:29.100
El=2% FELF A& GRE)| JTA [JTA/RAC| 24,000 56% % 1:26,400
Eosx 8% [JTA/RAC] JTA 27,100 51% | H:29,500
L =518 RELF GRS | JTA JTA 25,400 58% % 1:27,800
AEE  [MEERHE)| JTA JTA 25,400 58% | H:27,800
RGN =55 [ GREH) F|RECHE) [JAL/JTA|  JAL 32,500 57%  1:30,700, H:35,200
EHE  [Em@E)|[ JAL [JAL/JTA[ 30,500 59% | A A:29,700, £:34,200, 1:30,600
iR (BBER) == ,q:fr%(ﬂrs%) | ERFCRE) |JAL/JTA|  JAL 30,500 59% | H:32,900
ZR%¥ |[HEHECHHA)| JAL |JAL/JTA| 28500 62%  |%:32,600, H:30,600
iR (BRER) =FNE 48 (RER) R CHHA) [JAL/JTA[  JAL 29,200 58%  1:29,000, H:32,400
MEFE [EmEHEH)| JAL [JAL/JTA[ 28,800 59% | %:32,900, 1:29,700, H:29,600
iR (BRER) = Lfs s (BRER) FE| R CHHE) [JAL/JTA[  JAL 27,600 56% | H:29,600
W% |RECHAE)| JAL  [JAL/JTA| 27,600 56% | H:28,500
iR (BBER) =& ,q:fr%(ﬂrs%) *| & JTA JAL 29,300 61% %+ H:30,200
12 JAL JTA 29,300 61% | %:31,000
s (GIRER) =/ F‘f%(ﬂﬂ?a)% HHCHE) [JAL/JTA|  JAL 30,300 55% | %:31,100, 1:28,300, H:33,500
M R CHE)|  JAL  [JAL/JTA[ 28,300 58% _|£:33,200, +:28,400. H:30,300

JAL/JTA/JAC/RAC



IRMEIS28:EER(4A1B~5A108E%ES)

EEEAE 2012/1/24 ~
[N s - . . .
=M ) il BVAR A i) % wy ERE o EEM o, ERM 428450 @Rl
EED | EEe 5/7-5/10  #I5|% EIEES EIEES #I51% | 5/3-5/6 A5IFE
RR(HR) =21 Rz CRME)F [ 8 [JAL/JTA[JTA/RAC| 21,900 62%  H:23,000 25,800 56% 24,200 58% 24,200 58% — —
JTA/RAC|JAL/JTA| 23,100 60%  +:21,900, H:25500 23,100 60% | 24,200 58% | 24,200 58% —
RRE(HA) =% [&E JAL/JTA[ _JTA 23,100 64%  H:24,300 26,300 59% 25,500 60% 25,500 60% —
RiE% [ JTA__|[JAL/JTA| 23,100 64%  +:22,300 23,100 64 25,500 60% | 25500 60% — —
ENACEE S B ACOES JAL JAL 21,600 66%  H:22,400, & 1:23,200, H:22,800 23,600 63 21,600 66% | 21,600 66% — —
E JAL JAL 24,000 62% _ %1:25600 25,600 59 24,000 62% | 24,000 62% —
ESSEESS JAL JAL 21,700 66%  /:22,900, %:23,700, £:23,300, H:25200 | 23,700 63 21,700 66% | 21,700 66% —
B JAL JAL 24,000 62%  H:25.600 24,000 62 24,000 62% | 24,000 62% — —
ENAGTS) PG IE JAL JAL 21,600 66%  :22.400, £ 1:23,200. B:22,800 23,600 63% | 21,600 66% | 21,600 66% — —
E JAL JAL 24,000 62% _ %1:25600 25,600 59% | 24,000 62% | 24,000 62% —
ESEESS JAL JAL 21,700 66%  /:22,900, %:23,700, £:23,300, H:25200 | 23,700 63% | 21,700 66% | 21,700 66% —
JAL JAL 24,000 62%  H:25.600 24,000 62% | 24,000 62% | 24,000 62% — —
K (FFH) =1 [ KB (5 % JAL JAL 22,800 63%  F:23,200. £:24,300, £:24,100, H:23,100 24,300 61% 22,800 63% 22,800 63% — —
JENIES JAL JAL 22,000 65%  A%:23.200. H:23.100 23,200 63% | 22,000 65% | 22,000 65% —
Kig (B#E) =181l [ KPR (BF8) % JAL JAL 22,800 63% 3,200, £:24,300, 1+:24,100. H:23,100 24,300 61% 22,800 63% 22,800 63% —
JENIES JAL JAL 22,000 65% 7 H:23,100 23,200 63% | 22,000 65% | 22,000 65% —
KB (A =8B [ KBk (FHF1) |3 JAL JAL 19,800 68% 2 H:21,800 20,600 66% 19,800 68% 19,800 68% —
FIEES JAL JAL 22,200 64% 4 . H:24,800 23,400 62% 22,200 64% 22,200 64% —
KR (D) =FIE [ AR % JAL JAL 22,000 64% :22,400, £:22,800, H:24,100 22,800 63% 22,000 64% 22,000 64% —
FLEE JAL JAL 21,200 65%  4:22400, £:23,200, £:22.800, H:23,600 | 24,000 61% | 21.200 65% | 21,200 65% —
KRR () =BREE | KRR (51 5|3 JAL JAL 20,700 62% 23,200 24,300 55% 20,700 62% 20,700 62% —
BEER JAL JAL 21,900 59% 23,100, H:26.000 23,100 57% | 21.900 59% | 21,900 59% —
KR () = KBR (51 |2 JAL JAL 22,200 57% 3,000, H:21,400 22,600 57% 22,600 57% 22,600 57% —
ZR% JAL JAL 2,200 57%  A%£:23.400. H:23.000 23,800 54% 1.800 58% 1,800 58% —
KB (B#E) ==iR | KBk (RAFE) % JAL JAL 2,200 57% _ F:23,000. H:21,400 22,600 57% 2,600 57% 2,600 57% —
KB () I | KBR (7 58| JAC JAC 8,700 41 H:15,100 — -— 8,700 41% 8,700 41% —
JAC JAC 5100 52% 15,100 52% 5100 52% 5100 52% —
KB () =1F8 JAC JAC 8,100 54%  #1:18600 18,600 53% 8,100 54% 8,100 54% —
JAC JAC 0,300 48% _ 1:21,300. H:21,800 20,300 48% 0,300 48% 0,300 48% —
AR (D) =& JAL _[JTA/RAC[ 21,200 59% 23,200 55% 22,200 57% 22,200 57% —
JTA/RAC| JAL 23,200 55%  H:24,200 23,200 55% | 23200 55% | 23200 55% —
AR () ==& JAL/JTA[JTA/RAC| 21,200 59% 23,200 55% 22,200 57% 22,200 57% —
JTA/RAC|JAL/JTA| 23,200 55% 23,200 55% | 23200 55% | 23200 55% —
KR (D) =RiE JAL JTA 21,500 62 23,100 60% 21,500 62% 21,500 62% —
JTA JAL 24,400 57% 24,400 57% | 24,400 57% | 24,400 57% —
Kk (BidG) =H1E ] E JAL/JTA| _JTA 21,500 62 23,100 60% | 21,500 62% | 21.500 62% —
HEE [H@EE | JTA [JAL/JTA| 24400 57% 24,400 57% | 24,400 57% | 24,400 57% —
2EHE (P =25 B HE (P8 R ARG TR | JAL JAL 1,000 64% £ 1:23.400. H:21,800 23,900 59% | 21.800 63% | 21,800 63% —
LB [AEEFTE) | JAL JAL 3,000 61% % +:23,400, H:24,200 23,400 60% | 24,200 59% | 24,200 59% —
2HE(FE) =20 [LER (P EPEERB) | JTA [JTA/RAC| 18,400 67 3 18,600 22,200 60% 23,300 58% 23,300 58% -—
EaE% (%) [JTA/RAC] JTA 1,200 62% A H:21,400. £:20.400 22,400 60% | 23300 58% | 23300 58% —
BHE(hE) =h1E|2EE (P E PR FBH) | JTA JTA 9,600 68% At H:19,800 23,400 62% 24,600 60% 24,600 60% — —
AiER |EBB) | JTA JTA 8,600 70% A+ H:18,800 21,600 65% | 24,600 60% | 24,600 60% — —
IR (FFm) =/ MR TR % SR CHE) | JAL JAL 23,400 58%  +:24,600, H:25.300 23,800 57% 23,400 58% 23,400 58% —
MRS CRE)|[ JAL JAL 23,500 58% A H:24,300, £:25,300, £:24,600 27,000 51% | 23500 58% | 26,000 53 —
FLOR G Fa%) =R LU [#L8R (3 F %) | R CRIEH) | JAL JAL 24,400 62%  £:24,800. 1:24,000, B:25,600 24,800 61% 23,200 64% 23,200 64 — —
[EIIE CRE) [ JAL JAL 22,400 65% % +:24,800. H:22.200 25,900 59% | 22400 65% | 23700 63 — —
IR FHTFR) =L5 R EF TR R FRCHE) | JAL JAL 23,200 64 £:24,400, H:25,300 24,400 62% 23,200 64 23,200 64 —
L& CEE)| JAL JAL 24,100 63%  :24,900, %:26,000, £:25,600 26,000 60% | 24,100 63 25,300 61 —
AR B F8) =N AL T Fa) %[ (HE) | JAL JAL 24,800 64%  £:25200, £:23,600. H:26.800 25,200 63% | 24,800 64 24,800 64% — —
=EZE] CRE)|[ JAL JAL 22,200 67% % 1:22.800 23,200 66% | 22200 67 22,200 67% — —
IR FFm) =HZ R F TR R FRCHE) | JAL JAL 25,700 60 25,300, H:29,200 28,500 56% 25,700 60% 25,700 60% —
HER CHED|  JAL JAL 24,300 63% 27,900 57% | 24,400 62% | 27,600 57% —
IR FTFR) =FS R FH TR E|FRCHA) | JAL JAL 22,100 65¢ 26,300 58% 23,200 63% 23,200 63% —
BERE CRE) [ JAL JAL 22,400 64% H:22,200 | 29,200 54% | 24,000 62% | 25800 59% —
IR FTFm) =S R @ TR % SR CHE) | JAL JAL 24,400 61 25,600 59% 24,400 61% 24,400 61% —
BINE CHED|  JAL JAL 23,600 63% 26,800 57% | 24,000 62% | 24,200 62% —
IR FFm) =S40 IR @ TR % SR CHE) | JAL JAL 24,000 63 : 25,200 61% 24,000 63% 24,000 63% —
% CHED|  JAL JAL 24,000 63% : 26,800 59% | 24,400 62% | 25000 61% —
IR (FF %) =L [#UIR T &) % SR CHE) | JAL JAL 24,800 62 2 26,600 59% 24,800 62% 24,800 62% —
[PIES CRE) | JAL JAL 24,100 63% k- . H:24,700 27,800 57% | 24,100 63% | 26,600 59% —
AR (BT T8 =L AU [4LIR (9 F ) %[ SR CRIE) | JAL JAL 25,200 64% & . H:28,000 26,400 62% | 26.100 63% | 26,100 63% —
ElZRIES CHE)[ JAL JAL 24,400 65% & 8:23.200 27,200 61% 26,900 62% 27,100 61% — —
IR FFm) =K [HURH TR % SR CHE) | JAL JAL 25,600 63 o 23,600, H:28,000 26,800 61% 26,100 62% 26,400 62% —
ARFE CRE) [ JAL JAL 25,700 63% k- 27,300, £:26,400, H:26,100 | 27,300 60% | 26,200 62% | 29,000 58% —
IR FTFm) =RG [ G TR R FRCHE) | JAL JAL 23,600 67 & 24,800, H:27,200 26,800 63% 26,100 64% 26,400 64% —
R CRE)|[ JAL JAL 24,800 66% % 25,200 27,300 62% | 25300 65% | 27400 62% — —
FLIR (T m) =REA 4R T8 8| SR CHE) | JAL JAL 24,800 65%  £1:25600, H:27,200 26,800 62% 26,100 63% 26,400 62% —
REARR CRHE) |  JAL JAL 25,700 63%  A:26,500, £:27,300, 1:26,400 27,300 61% 26,200 63% 29,800 58% —
IR (FFm) == 5[4 FFH) % SR CHE) | JAL JAL 25,600 64 £:26,800, H:27,800 26,800 62% 26,100 63% 26,400 62% —
G CRE) [ JAL JAL 25,700 63%  :26,500, %:28,200 28,300 60% | 26,200 63% | 29,000 59% —
AR F T =R R B4R F TR [ Hm CRE) | JAL JAL 26.200 64%  £:27,000, H:27.600 27,000 63% | 26,100 64% | 26.400 64% —
ERER CRE)|[ JAL JAL 24,800 66%  £:26,600, 1:25600. H:26,200 28,800 60% | 25300 65% | 27.400 62% —
ARG TR =BEAR 1L TR %[ HR (FE) | JAL JAL 37,000 54% £ 1:37.800. H:35.800 37.800 53% — — — — —
BEABHE CHED|  JAL JAL 36,200 55%  %:38,000. H:37,000 39,800 50% — — — — —
HIREF ) =504 (B8 [ALIR (T4 [ EE CHE) [ JAL [JAL/JTA| 25400 66% :20,200, £:25,600. H:28,300 32,200 57% | 27.800 63% | 31.800 57% —
ABR(BAF) | JAL |JAL/JTA| 25,000 67% 5,800 29,000 62% | 27.400 64% | 29000 62% —
SHE(PE) | JAL JTA 23,300 69% % +:23,900. H:25500 25,600 66% | 26,400 65% | 26.400 65% —
EEIE] JAL JTA 24,300 69%  £:25100, H:26,400 25,100 68% | 26,700 66% | 28300 64% —
P8 (IRER) 5[ BUR (BH) [JAL/JTA|  JAL 26,800 64%  A:27,600. £:29,300, 1:26.200, H:28,800 29,500 60% 27,900 62% 30,400 59% — —
RBR (BAFE) [JAL/JTA[  JAL 27,400 64%  %:28,200, H:29,000 29,000 62% | 27.400 64% | 29000 62% — —
] JTA JAL 25,900 67%  ©1:27.400 27,400 65% | 26,700 66% | 28300 64% —
&k =% 5] fHEES RRCHE) [ JAL JAL 24,800 68% A 1:25600. % H:27,200 28,400 63% 26,200 66% 26,200 66% —
[HLR TR | JAL JAL 24,900 66% % +:25,600 25,600 65% | 24,900 66% | 26,500 63% — —
ZiGpIFE [RRERCHE)| JAL JAL 24,900 68%  £::28,700. +:28,100, H:27,600 28,900 63% 27,000 65% 27,000 65% — —
JAL JAL 24,900 66%  H:26.200 24,900 66% | 24,900 66% | 26,500 63% —
&R =18JIl FeEES JAL JAL 25,200 67%  A:26,000, £:27,800, £:28,100, H:26,800 27,800 64% 26,500 65% 26,500 65% —
JENIES JAL JAL 24,000 69%  A:25200. £:28,400, £:24,800, H:28,000 | 29,200 62% | 26.500 65% | 27,600 64% — —
=R =88 FHEES JAL JAL 23,800 69%  £:25400, H:26,200 25,400 66% | 25900 66% | 25900 66% — —
FIEES JAL JAL 24,200 68%  A:25,400. £:28,600. 1:25,000, H:28,200 29,400 61% 26,700 65% 21,800 63% —
[HEEETN FeEES JAL JAL 24,400 68%  A&#:25200, 1:26,000, H:28,100 26,000 65% | 25700 66% | 25700 66% —
BIEE JAL JAL 23,600 69%  £:28,100, £:27,600. H:26.000 29,200 61% | 25700 66% | 25700 66% —
AR BEEFE JAL JAL 23,900 65% > +:26,400, H:27,600 28,300 58% 26,000 62% 26,000 62% —
JAL JAL 25,500 63%  £:27.100, £:26,300, H:28.400 26,900 60% | 27.600 59% | 27,600 59% —
BE=F% JAL JAL 27,400 59%  2:28,200, 1:25,800, H:28,300 29,800 55% | 30,300 55% | 30,300 55% —
JAL JAL 29,800 49% % H:30.600 30,600 48% | 29,800 49% | 29,800 49% —
JAL JAL 26,200 61%  :27.400, £:28,300, 1:26,600. H:25800 | 32,300 52% | 29,500 56% | 30,600 54% —
JAL JAL 29,800 49% % H:31.400 31,400 46% | 29.800 49% | 29,800 49% —
[ JAL JAL 24,600 63% % H:25400 26,600 60% | 27.900 58% | 27,900 58% —
JAL JAL 24,600 63%  A:25400. £:28,600 29,800 55% | 27.100 59% | 27.400 59% —
BE=1E% JAL JAL 29,400 49% % H:31,000 31,000 46% | 27,000 53% | 27,000 53% —
JAL JAL 29,400 49% % H:31.400 31,400 45% — — — — —
[T JAL JAL 23,700 61%  A#:24500. H:24,100 24,900 59% 25,400 59% 25,400 59% —
JAL JAL 22,000 60% % H:22,800. 1:21,600 22,800 58% | 22,200 60% | 22,200 60% —
JAL JAL 23,700 61%  A:24,900, %:27,700, £:25,700 28,900 53% | 25400 59% | 26,500 57% — —
JAL JAL 22,800 58% % H:23.200 23,200 58% | 23400 57% | 23400 57% —
1B =17 JAL JAL 22,800 58%  + H:23,200 22,800 58% — — —- — —
JAL JAL 29,100 46% 32,200 40 29,900 44% | 29,900 44% —
JAL JAL 23,200 58%  £:25000, H:22,300 25,000 54 — — —- — — —
JAL JAL 29,100 46% 32,600 39 31,300 42% | 31.300 42% —
BE=%8 JAL JAL 21,000 59% 21,000 59 19,200 62% 19,200 62% —
JAL JAL 21,800 57% 21,800 57% | 20.000 61% | 20.000 61% —
FafE =/ JAL JAL 24,000 59%  £:25200, H:26,800 26,000 56% | 25700 56% | 25700 56% —
JAL JAL 23,400 60%  A:25.200., £:27.000, £:24.400, H:24,300 | 30,000 49% | 25700 56% | 28400 52% —
== JTA _[JTA/RAC| 17,200 62% 17,200 62 20,200 55% 20,200 55% —
JTA/RAC| _JTA 0.200 55% % H:21,000 1,000 53 20,200 55% | 20,200 55% —
BE=RE JTA JTA 8,400 64% 8,400 64 21,400 58% | 21,400 58% —
AHEHE ) JTA JTA 8,400 64 8,400 64 21,400 58% | 21.400 58% — —
ESEEIRTE ESES REFTH) | JAL JAL 3,100 54%  H:23.900 3,100 54 23,100 54 23,100 54 — —
MEH [HREGETH | JAL JAL 22,800 54% £ +:23900 24,700 50 22,800 54 22,800 54 —
ESEEIENRA S TE RCEE)|[ JAL JAL 22,700 64% 24,900 60% 22,700 64 22,700 64 —
IMAFE (FE) | JAL JAL 22,700 64 26.200 58% | 22,700 64 22,700 64 — —
ESEEIRIET ESTLES CRHE) | JAL JAL 24,500 66% 25,000 65% 23,300 67% 23,300 67% — —
FE LI CRHE) | JAL JAL 23,200 67% 26,600 63% 22,800 68% 22,800 68% — —
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Zimp=HE ESTELE 25,800 64% 28,200, 1:27,800, H:30.900 28,200 61% 25,800 64% 25,800 64% — —
HES 23,600 67%  1:26.800. H:25.700 26,900 63% | 23700 67% | 23700 67% —
ESEEIEE T ESTLE 24,900 66% 6,500, +:25,700, H:29.200 26,500 64% 24,900 66% 24,900 66% —
HALLISE 25,200 65% £ 1+:28000. H:26,800 28,000 62% 25,200 65% 25,200 65% — —
TEJIT=/M FEIES 23,000 63%  H:27.200 23,800 61% | 23000 63% | 23000 63% — —
AT 23,000 63%  £:26,500, £:26,200, H:24.500 26,500 57% | 23000 63% | 23000 63% —
B =Rl JENE: 24,800 64%  H:25200 24,800 64 23,600 66% 23,600 66% —
i LI 5 23,100 67 £:25,400, £:25,200., H:23.900 25,400 64 23,100 67% 23,100 67% — —
TEI=HE FEIES CRE)|[ JAL JAL 26,100 63%  £:28,500, H:28,700 28,500 60 26,100 63% | 26,100 63% — —
HE (FE) | JAL JAL 25,500 64% % +:26,800. H:26,700 29,500 58" 25,500 64% | 25500 64% —
JENI=#l JENIE:S CHE)[ JAL JAL 25,200 65% 2:26,800. H:26,100 26,800 62% 25,200 65% 25,200 65% —
[ITE CRE)|[ JAL JAL 25,200 65%  £:27.300, £:27,100, H:25.600 27,300 62% | 25200 65% | 25200 65% — —
SRR =i SR CRE) | JAL JAL 23,200 62%  +:22,200, H:28,800 24,000 61% 23,200 62% 23,200 62% — —
IMASE (FE) | JAL JAL 22,400 63 £:23,200, H:24,700 23,200 62% | 22400 63% | 22400 63% —
$l1% =Fal L1 FEE3 CRE)| JAL JAL 25,000 64% 6,900 25,000 64% 23,800 66% 23,800 66% —
[EMIE CRE)|[ JAL JAL 22,500 67%  £:23.800, £:23,000, H:24.100 24,100 65% | 22500 67% | 22500 67% —
SRR =HE FEE CRE)| JAL JAL 26,300 63% 2:28,700, H:30,400 28,700 59% 26,300 63% 26,300 63% —
HE (FE) | JAL JAL 23,100 67%  ©1:24,200. H:24.700 25,000 64% | 23400 67% | 23400 67% —
fllgg =424 HFE 3 CRE)| JAL JAL 25,400 64% 7,000, H:27,800 27,000 62% 25,400 64% 25,400 64% —
[T (FE) | JAL JAL 24,200 66% % +:26,200, H:25.800 26,200 63% | 24,200 66% | 24,200 66% —
wL=IMA LS CRE) [ JAL JAL 22,200 63% £:24,400, H:25400 25,200 58% | 22200 63% | 22200 63% —
MRS (FE) | JAL JAL 22,200 63% 23,000 62% | 22,200 63% | 22,200 63% —
L =FE Wl LS CRED [ JAL JAL 24,000 65% 25,300 63% 22,800 67% 22,800 67% —
[EITE:S CRHE)| JAL JAL 22,800 67% 24,700 64% 22,300 67% 22,300 67% —
HLE=HE LS CRED [ JAL JAL 25,300 64% 28,500 59% 25,300 64% 25,300 64% —
HE (FE) | JAL JAL 24,700 65% 25,900 63% | 24,700 65% | 24,700 65% —
wIE=#0 L CRED [ JAL JAL 24,400 65% 26,800 62% 24,400 65% 24,400 65% —
[N (FE) | JAL JAL 24,800 65% 26,800 62% | 24,800 65% | 24,800 65% —
EEE =/ EEER CRHE) |  JAL JAL 23,100 57% 23,700 56% 23,100 57% 23,100 57% —
MRS (FE) | JAL JAL 22,500 58% % +:25000. H:26,100 26,100 51% | 22500 58% | 22500 58% —
EEE=FE Ll EEER CRHE) | JAL JAL 24,700 60% _H:28,000 24,700 60% 23,500 62% 23,500 62% —
G CRE)|[ JAL JAL 23,100 62%  £:25,600, £:25300, H:24.700 27,800 55% | 22,300 64% | 22,300 64% —
HEE=HE EEER CHE)[ JAL JAL 26,000 59% 2:28,400, H:31,700 28,400 55% 26,000 59% 26,000 59% —
HE (FE) | JAL JAL 23,500 63%  £:27.600, £:27,300. H:26.100 28,700 54% | 23500 63% | 23500 63% —
EEE =L ENEER CHE)[ JAL JAL 25,100 60% 2:26,700, H:29,400 26,700 58% 25,100 60% 25,100 60% —
[NITE CRE)|[ JAL JAL 25,100 60 :28,800, £:28,200. H:27.200 29,900 53% | 25100 60% | 25100 60% —
g =4t M B CRBE)| JAL JAL 25,900 62% 6,300, H:28,800 26,300 61% 27,600 59% 27,600 59% —
EZPES CRHE)| JAL JAL 23,900 65 £:26,400, H:26,800 217,500 60% 26,000 62% 26,000 62% —
HEE=K% EEER CRBE)| JAL JAL 25,900 61% 5,500, H:29,200 26,700 60% 27,600 59% 27,600 59% —
RH% (FE) | JAL JAL 25,500 62 28,000, H:28.400 29,100 57% | 26,000 61% | 26,300 61% —
EHEE =R EEER CRE) | JAL JAL 25,500 64%  H:28.400 26,900 62% 27,600 61% 27,600 61% —
RIG% CRE)|[ JAL JAL 24,500 65%  £:26.400, £:26,000, H:28.400 29,100 59% | 26,000 63% | 26,300 63% — —
HEE=REX EREER CRBE)| JAL JAL 25,100 63% 2:25,500, H:28,400 26,900 60% 27,600 59% 27,600 59% — —
AR (FE) | JAL JAL 22,700 67% % +:25200, H:27.200 26,300 61% | 26,000 62% | 26,000 62% —
EHEE = B CRBE)| JAL JAL 25,100 63% 6,700, £:26,300, B:29,200 26,900 60% 27,600 59% 27,600 59% —
EEE (FE)| JAL JAL 24,700 64 28,300 58% 26,000 62% 26,000 62% — —
HE=ERS BEER CRHE) | JAL JAL 26,900 62% 28,300 60% 27,600 61% 27,600 61% — —
ERBR CRE)|[ JAL JAL 24,100 66% % 1:26.400. H:28.000 28,700 59% | 26,000 63% | 26.000 63% —
HE=BZAE | BEAEH CRE) | JAL JAL 35,900 54% x:37,800. H:40,600 40,500 48% — — — — —
HHR=/ML HHR CRED [ JAL JAL 25,100 52 1:23.600 21,300 48% 26,000 50% 26,000 50% — —
IMAFE CHED|  JAL JAL 25,100 52% 26,800 48% | 26,800 48% | 26,800 48% — —
A=W HHH (FE)| JAL JAL 26,900 55% A+ H:25.400 21,900 54% 26,600 56% 26,600 56% —
[EIES CRE)|[ JAL JAL 25,300 58%  £:25800, 1:25000, H:26,100 27,200 55% | 26,900 55% | 26,900 55% —
AHR=LE HHR (FE)| JAL JAL 25,800 58% At H:25.000. £:26,600 28,200 54% 26,600 56% 26,600 56% —
L5% CHED|  JAL JAL 25,800 58%  £:27400, 1:25000. H:26,600 29,000 52% | 28200 54% | 28200 54% —
HFH=LOFH HHR (FE)| JAL JAL 27,400 58% A H:25.800. £:24,200 29,000 55% 28,200 56% 28,200 56% —
N=EZTE3 CHED|  JAL JAL 24,200 63% 25,400 61% | 25800 60% | 25800 60% —
HAHR=HE BEHRE [EEE)| JAL JAL 25,900 58%  £:27,900. H:27,500 28,700 53% 26,700 57% 26,700 57% —
KRB JAL JAC 28,300 49% 29,800 47% | 29,800 47% | 29,800 47% —
HE FR(HHE)| JAL JAL 217,700 55%  £:28,100. H:28,300 29,700 52% 29,300 52% 29,300 52% —
AR (FF| JAC JAL 26,200 53% 27,400 51% 26,200 53% 26,200 53% —
AHR=E HHR RCHE)|[  JAL JAL 24,700 59% 30,100 49% 26,600 55% 26,600 55% —
BERE CHED|  JAL JAL 24,700 59% 30,100 49% | 27400 54 27,400 54 —
HHx=mi HHR (FE)| JAL JAL 21,000 55% :27.800, H:26.200 29,400 51% 21,800 53 27,800 53 —
BINE CHED|  JAL JAL 25,800 57% :27,500 27,600 54% | 27400 54 27,400 54 —
AHR=mA HHR (FE)| JAL JAL 26,600 57% . £:27,400, B:25,800 29,000 53% 27,400 55 27,400 55 —
BH%E CHED|  JAL JAL 26,600 57% :27,300 29,300 52% | 28200 54% | 28200 54% —
HHF=l HHR (FE)| JAL JAL 21,400 56% 30,300 51% 28,200 55% 28,200 55% —
[IES CHED|  JAL JAL 27,400 56% . 28,200 55% | 28,200 55% | 28,200 55% —
EHx=dAM EHER CHED [ JAL JAL 21,800 58% H:26,200, $:28.600 30,200 55% 29,500 56% 29,500 56% —
EZRES CRHE) |  JAL JAL 26,600 60% 7,400 28,200 58% 30,300 55% 30,300 55% —
BAHR=AS HFHEE  [ERCRE)| JAL JAL 28,200 57% H:26,600, £:25,800 30,600 53% 29,500 55% 29,800 55% —
KRB JAL JAL 30,700 45% 31,800 43% | 31,800 43% | 31,800 43% —
A9%E  |ERCREH)| JAL JAL 28,200 57 £:27.800. B:29,000 29,800 55% 30,300 54% 30,600 53% —
HEH=RE HFHRE  [EzE)| JAL JAL 26,200 62% At H:25800, £:27,400 30,600 56% 29,500 57% 29,800 57% —
ABR (B | JAL JAL 28,800 54% £ 1:29.800. H:29.400 29,800 52% 31,000 50% 31,000 50% —
RB%E [ERCRE)| JAL JAL 28,200 59%  H:28,800 29,800 57% 30,300 56% 30,600 56% —
HHR=REX BEHRE [EEE)| JAL JAL 25,400 62%  £:27.400, £:26,200, H:25.800 30,600 54% 29,500 56% 29,800 55% —
JAL JAL 31,700 47% 31,700 47% | 31,700 47% | 31,700 47% —
JAL JAL 25,400 62% _ H:26.600 27,000 60% | 28,700 57% | 28,700 57% — —
JAL JAL 31,300 48% _ £:31,700. H:31,900 31,700 47% | 31,300 48% | 31,300 48% — —
JAL JAL 26,200 61% %+ H:26,600 30,600 54% | 29,500 56% | 29,800 55% —
JAL JAL 31,400 48% % H:31,900 33,400 45% | 31,700 47% | 31,700 47% —
JAL JAL 26,200 61%  H:28,200 27,800 58% | 30.300 55% | 30.300 55% — —
JAL JAL 31,400 48% 2t H:31.900 33,300 45% | 32100 47% | 32100 47% — —
JAL JAL 27,800 60% _H + H:27.200. %:28,800 30,600 56% | 29,500 57% | 29,800 57% —
JAL JAC 30,600 52% % +:31,800, H:31,000 31,800 50% | 30,600 52% | 30,600 52% —
JAL JAL 28,200 59%  H:29,300 29,800 57% | 30.300 56% | 30.600 56% — —
JAC JAL 30,200 52%  %:30,600, £:31,000, H:31,800 30,600 52% | 30,200 52% | 30,200 52% — —
JAL JAL 37,600 51% % 1:38.400 39,200 49% — — — — —
JAL JAL 39,600 48%  H:41,200 41,200 46% — — — — —
JAL JAL 39,600 46% 41,200, H:42,000 41,200 43% — — — — —
JAL JAL 23,200 55%  +:22200, H:24,800 24,400 53% | 22800 56% | 22800 56% —
JAL JAL 23,200 55%  H:23,900 24,400 53% | 24,400 53% | 24,400 53% —
JAL JAL 25,000 58% 25,400 57% | 23400 61% | 23400 61% —
JAL JAL 22,300 63 22,700 62% | 22,700 62% | 22,700 62% —
JAL JAL 23,800 61% < H:24,600 25,000 59% | 24,200 60% | 24,200 60% —
JAL JAL 23,000 62% % H:24,600 25,800 57% | 24,200 60% | 24,200 60% —
JAL JAL 25,400 60%  +:23,800 25,800 60% | 25000 61% | 25000 61% —
JAL JAL 23,800 63" 25,000 61% | 25000 61% | 25000 61% —
JAL JAL 26,300 57% % H:28300 29,100 52% | 25900 57% | 25900 57% —
JAL JAL 24,200 60% % 1:25800 26,200 57% | 25400 58% | 25400 58% —
JAL JAL 22,700 62% 26,900 54% | 24,200 59% | 24,200 59% —
JAL JAL 22,700 62 27,700 53% | 25000 58% | 25000 58% —
JAL JAL 25,000 58% % H:25800 26,200 56% | 24,600 58% | 24,600 58% — —
JAL JAL 23,800 60% % 1:24,600 26,000 56% | 24,600 58% | 24,600 58% —
JAL JAL 24,600 60% % H:25400 25,800 58% | 24,600 60% | 24,600 60% —
JAL JAL 22,200 64% % 1:23,000 23,400 62% | 23800 61% | 23800 61% —
JAL JAL 25,400 59% % H:27,000 27,400 55% | 25000 59% | 25000 59% — —
JAL JAL 24,600 60% _ H:25000 25,800 58% | 25800 58% | 25800 58% —
JAL JAL 25,800 61%  £:26,600 27,000 59% | 26,300 60% | 26,300 60% —
JAL JAL 24,600 63 25,800 61% | 27,900 58% | 27,900 58% —
JAL JAL 26,200 60%  £:24,600 27,400 58% | 27100 58% | 27100 58% —
JAL JAL 26,200 60° 27,400 58% | 27,900 57% | 28200 57% —
JAL JAL 24,200 65% & H:25.400 27,400 60% | 27.100 60% | 27.400 60% —
JAL JAL 26,200 62% 27,400 60% | 27.900 59% | 28,200 59% —
JAL JAL 24,200 63% % H:25400 27,400 59% | 27100 59% | 27100 59% —
JAL JAL 23,400 65%  H:25000 24,600 63% | 27,900 58% | 27,900 58% — —
JAL JAL 24,200 63%  £:27,000, £:25,400, H:26,200 27,400 59% | 27100 59% | 27100 59% — —
JAL JAL 25,400 62 25,800 61% | 27,900 58% | 27,900 58% —
JAL JAL 25,800 62% % H:26,200 27,400 60% | 27.100 60% | 27.400 60% —
ER JAL JAL 25,800 62 27,000 61% | 27.900 59% | 27.900 59% — —
SR=BEAE | BEABE CHED|  JAL JAL 37,600 50%  H:38,400 38,800 49% — — —- — — —
E =/ ES CHED [ JAL JAL 21,900 53%  £:22,700. H:24,300 23,500 49% 21,900 53% 21,900 53% —
INSE CGHED| JAL JAL 21,500 54%  H:22,600 21,900 53% | 21,900 53% | 21,900 53% — —
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=M 23,700 57% & H:24.500 24,500 55% 22,500 59% 22,500 59% — —
22,100 60% 23,600 57% | 21,700 60% | 21,700 60% —
RE=L8 22,500 59% % H:24,100, £:23,300 24,100 56% | 22500 59% | 22500 59% —
22,900 59%  H:23,300 22,500 59% | 22500 59% | 22500 59% — —
ME=LAFE 24,100 59% % H:24,900. £:23,700 24,900 58% 24,100 59% 24,100 59% — —
21,700 63%  H:22,500 21,700 63% | 21,700 63% | 21,700 63% —
ME=HE 24,600 56% 25,100 25,400 55% 24,600 56% 24,600 56% —
2,000 58% 4 :22,400 2,400 57% | 23400 55% | 23400 55% — —
HE R (HE) | JAL JAL 2,500 60% 24,100, H:22,600 4,500 56% | 22900 59% | 22900 59% — —
ABR (51| JAC JAL 8,800 64% £ H:19.600. 1:18,400 9,600 62% 21,000 60% 21,000 60% —
ME=S EFE FCRE)|  JAL JAL 1,400 60% z + H:22,200 6,000 52% 22,500 58% 22,500 58% —
BB (FE) | JAL JAL 20,500 62 :20,900 23,600 56% | 22,500 58% | 22500 58% — —
HRE=5K (5 CRE)|[ JAL JAL 23,700 56% % H:25300, £:23,900 25,300 53% | 23700 56% | 23700 56% — —
% (FE) | JAL JAL 22,100 59% % +:22,900, H:22,500 24,300 55% | 22500 58% | 22500 58% —
ME== (ER 5 CRE)| JAL JAL 23,300 58% x H:24,900 24,900 56% 23,300 58% 23,300 58% —
% (FE) | JAL JAL 21,300 62%  %&1:22,100 22,500 60% | 22,900 59% | 22,900 59% —
E=#L ER F& CRE) | JAL JAL 24,100 57% x H:26,500 26,500 53% 24,100 57% 24,100 57% —
[T (FE) | JAL JAL 23,700 58% 24,100 57% | 24,100 57% | 24,100 57% —
FE =4t FXE 5 CHE)[ JAL JAL 24,500 60% 2:26,100, H:25,300 26,100 57% 25,400 59% 25,400 59% —
EAMFE CRHE)| JAL JAL 24,100 61%  £:24,500. 1:24,300, B:23,300 24,900 59% 25,400 59% 25,400 59% —
ME=X% MEFE [ERECHH)| JAL JAL 24,900 59% z H:25,700, £:24,100 26,500 56% 25,400 58% 25,700 57% —
RER(FFD | JAL JAL 23,200 56% % H:24.400 24,400 53% | 24,600 53% | 24,600 53% —
As%E  [ERCRE)| JAL JAL 24,100 60%  +:23,700. H:24,900 24,100 60% 25,400 58% 25,400 58% —
HE =Rk MEE [EZECRE)|[ JAL JAL 23,300 63% 2 H:24,900. £:24,100 26,500 58% 25,400 60% 25,700 60% —
JAL JAL 21,000 64% % 122,800, H:22,000 22,800 61% | 25400 57% | 25400 57% —
RIG% (T JAL JAL 24,100 62% _ H:24,900 24,100 62% | 25400 60% | 25400 60% —
ME=REX MEE [REGIH)|[ JAL JAL 24,100 61% £ 1:25700. H:24,900 26,500 57% 25,400 59% 25,700 58% —
RBR(FFD | JAL JAL 23,900 58% % H:24.300 24,300 57% | 24,500 57% | 24,500 57% —
EAE  [Ez(RE)| JAL JAL 23,700 61% 24,100 61% 25,400 59% 25,400 59% —
RER(BFD [ JAL JAL 23,100 59%  £:23900, £:22,700. H:24.700 23,900 58% | 25300 55% | 25300 55% —
ME== MEE [REGIHE)|[ JAL JAL 22,900 63% 2:26,500, 1:24,900, H:25,700 26,500 57% 25,400 59% 25,700 58% —
KER(BFD [ JAL JAL 24,400 57%  £:26,800, H:26.400 26,800 53% | 25300 55% | 25300 55% —
EEFE  [ERCRE)| JAL JAL 22,500 63%  H:24,100 22,900 63% 25,400 59% 25,400 59% —
KER(BFD [ JAL JAL 23,900 58% % H:25,500. £:24.400 25,500 55% | 26,100 54% | 26,100 54% —
HE=ERS MEE [REGIH)|[ JAL JAL 24,700 61% 7,100, +:25,500, H:25,700 27,100 57% 25,400 60% 25,700 60% —
KER(BFD [ JAL JAC 22,800 62 24,800, H:23.200 24,800 59% | 25000 58% | 25000 58% —
EREH [EZz(EHE)| JAL JAL 23,700 63%  H:24,500 23,700 63% 25,400 60% 25,400 60% —
ABR (51| JAC JAL 22,000 63%  £:22,800, £:23,200, H:24,000 22,800 62% 24,200 60% 24,200 60% —
MEH=BEZKXS EFE ["RRCEA)| JAL JAL 36,300 49% £ +:37,900 37,900 46% — — — — —
BEABHE [ERCREH)| JAL JAL 35,500 50%  H:37.100 35,500 50% — — — — —
ABR(EFD | JAL JAL 32,600 53%  £:33,400, £:32,200, H:34,200 33,400 52% — — —- — —
I 3 RCRA)|  JAL JAL 20,500 49% __ H:22.400 20,500 49% — — — — — —
INHAFE CHED|  JAL JAL 21,600 46%  H:22,400 21,600 46% — — —- — — —
Wiz =W iz CRHE) | JAL JAL 21,000 57% 21,000 57% — — — — —
ENES CHED|  JAL JAL 20,600 57% 20,600 57% — — —- — —
W=IE5 },Z3 CRHE)| JAL JAL 20,700 58%  £:23,200. H:22,300 23,200 53% — — — — — —
LE% CRE)|[ JAL JAL 20,700 58% 20,700 58% — — — — — —
Wi=Wwn=sa [ L% CRE)|[  JAL JAL 22,300 58% % H:23,200 23,200 56% — — — — —
IN=EZTED CRE)|[ JAL JAL 21,000 60% 21,400 59% — — — — —
I =tHE Wifg%  [RECHE)| JAL JAL 25,100 49% % H:26,600 25,100 49% — — — — — —
KRB JAL JAC 26,600 48% 31,500 38% | 31.300 39% | 31300 39% — —
HE FR(HHE)| JAL JAL 22,800 54%  $1:24,600 24,600 50% — — — — —
AR (| JAC JAL 26,600 48% 28,600 44% 21,700 46% 21,700 46% —
W =%5 23 ROCRHE)| JAL JAL 21,000 56% 23,600 51% — — — — —
EEH CHED|  JAL JAL 20,500 57% 23,600 51% — — —- — —
Wi =m# iz CRE)| JAL JAL 20,500 57%  #H:22,300 22,300 53% — — — — —
BINE CRE) | JAL JAL 21,400 55% 21,400 55% — — — — —
Wiz ="=4% iz CRHE)| JAL JAL 21,400 57%  £:22,300, H:23400 22,300 55% — — — — —
B CHED|  JAL JAL 20,500 59% % +:21,400 21,400 57% — — — — —
Wiz =#al WL % CRE)|[ JAL JAL 21,900 56% % H:22,300 22,300 55% — — — — —
PITED CHED|  JAL JAL 22,300 55%  H:23,200 22,300 55% — — — — —
Wit =4k EZIPIES (FE)|  JAL JAL 23,200 58% H:22.800 23,200 58% — — — — —
WL =K% L% [EECRE)| JAL JAL 23,200 57% 23,200 57% — — — — —
RBR(FFD | JAL JAL 28,300 45% 33,100 35% | 33100 35% | 33100 35% —
ADFE |[RRCHE)| JAL JAL 21,900 59%  H:24,100 21,900 59% — — — — —
iy = Rig Wigs  [EECEE)| JAL JAL 21,900 62% £ H:24,100 25,900 55% — — — — —
ABR(FFH | JAL JAL 30,700 47% __H:30,000 32,200 44% 33,600 42% 33,600 42% — —
RIEFE [ERCRE)| JAL JAL 22,800 60% 22,800 60% — — — — —
ARFF|  JAL JAL 30,700 47% 33,100 43 33,600 42% 33,600 42% —
Wifg=fex Wifgs  [EERCEE)| JAL JAL 22,800 58% 123,200 25,000 54 — — — — —
ARFF|  JAL JAL 29,100 47% 33,000 40 33,000 40% 33,000 40% — —
AR [EmEORE)| JAL JAL 21,900 60% 21,900 60 — — — — —
KRB JAL JAL 29,100 47% 33,500 40% | 32600 41% | 32600 41% —
Wi ="EiE Wifgs  [EERCEE)| JAL JAL 22,800 58%  #1:24,100 25,000 54% — — — — —
KRB JAL JAL 29,100 47% 36,500 34% | 33500 40% | 33500 40% —
BERE [ERCRE)| JAL JAL 22,800 58%  H:24,100 22,800 58% — — — — —
KRB JAL JAL 29,100 47% 35,300 36% | 33500 40% | 33500 40% —
wWi=ERE Wifgs  [EERCEE)| JAL JAL 21,900 62% £ H:24,600 25,900 55% — — — — —
KRB JAL JAC 30,700 48% 34,400 41% | 33100 44% | 33100 44% —
BRBF [ERCHA)| JAL JAL 23,200 59% 23,200 59% — — — — — —
PN JAC JAL 30,700 48% 32,200 45% | 31300 47% | 31.300 47% — —
e =HE JAL JAC 21,400 57%  H:20,600 21,400 57% 21,400 57% 21,400 57% —
JAC JAL 18,800 62% % H:20,200. £:19,000 20,800 58% 19,000 62% 19,000 62% —
=K% JAL JAL 22,600 55% % H:23,800 23,800 52% | 23800 52% | 23800 52% — —
JAL JAL 20,600 59% 22,200 56% | 23800 52% | 23800 52% — —
& =ik JAL JAL 22,900 59% 23,800 58% 24,200 57% 24,200 57% —
JAL JAL 21,800 61% 25,000 56% | 23800 58% | 23800 58% —
e =X JAL JAL 22,500 59% 22,900 23,700 56% 23,700 56% 23,700 56% — —
JAL JAL 22,900 58% :24,500 25,300 53% | 22900 58% | 22900 58% — —
e =2k JAL JAL 23,800 56%  £:27,000, £:25,000, H:26,200 21,800 49% 24,100 56% 24,100 56% —
JAL JAL 24,100 56% 2 H:26,100. £:24,600 26,900 50% | 24,100 56% | 24,100 56% —
e=kR JAL JAC 23,800 59% % +:25.800, H:24,600 25,800 55% 23,800 59% 23,800 59% —
JAC JAL 23,800 59%  £:25800, 1:24,200. H:24,800 25,800 55% | 24,200 58% | 24,200 58% —
WE=8BXXE JAL JAL 32,000 52%  ©1:32,800 32,800 51% — — — — —
JAL JAL 32,800 51%  £:34,000, H:34,800 34,000 49% — — — — —
FBR=—mE JAL JAC 20,800 57%  H:18,200 20,800 57% | 21.400 56% | 21.400 56% —
JAC JAL 17,800 63% 17,800 63% 17,800 63% 17,800 63% —
JAL JAL 20,600 57% % H:21,400 21,400 56% | 22,000 54% | 22,000 54% —
JAL JAL 20,600 57%  H:21,400 20,600 57% | 22000 54% | 22000 54% —
JAL JAL 21,200 61 H:21,800 21,800 60% | 23400 57% | 23400 57% —
JAL JAL 21,000 62% 21,800 21,800 60% | 23000 58% | 23000 58% — —
JAL JAL 22,500 57 22,500 57% | 22500 57% | 22500 57% —
JAL JAL 22,100 58%  H:22,900 22,100 58% | 22100 58% | 22100 58% —
JAL JAL 23,800 55% % +:25000 25,000 52% | 23800 55% | 23800 55% —
JAL JAL 22,900 56% % H:23,700 23,700 55% | 22900 56% | 22900 56% — —
HR=ER JAL JAC 23,000 59% % 1:23.800 23,800 57% 23,000 59% 23,000 59% —
JAC JAL 21,000 62% 1 21,000 62% | 21,000 62% | 21,000 62% —
/MA=FEL JAL JAL 20,900 60% E 21,200 59% | 20,900 60% | 20.900 60% —
JAL JAL 21,500 59% 22,400, B:23,100 22,600 57% | 21,500 59% | 21,500 59% — —
IMA=TEB JAL JAL 22,200 58% :22,800, H:23,500 23,200 56% | 22,200 58% | 22,200 58% —
JAL JAL 22,800 57%  £:23,600, £:22,600, H:24,300 24,000 54% | 22800 57% | 22800 57% —
MA=ILOFE JAL JAL 22,000 61%  :22.800, H:23,500 22,800 60% 22,000 61% 22,000 61% —
JAL JAL 21,000 63%  +:22,000, H:22,700 21,200 62% | 21,000 63% | 21,000 63% —
IMNE=HE JAL JAL 24,500 54% £ H:24,700 26,900 50% | 24,500 54% | 24,500 54% —
JAL JAL 23,900 55%  £:24,300, £:23,600, H:24,700 25,100 53 23,900 55% | 23900 55% —
IME=TEE JAL JAL 21,700 58% 2 H:22,500 26,300 49 22,800 56% 22,800 56% —
JAL JAL 21,200 59%  +:22,400, H:22,500 25,500 50 22,800 56% | 22800 56% —
M= JAL JAL 23,200 55% 25,600 50! 24,000 53% 24,000 53% — —
= JAL JAL 22,400 56% %t H:23,200 23,800 54 22,800 56% | 22800 56% — —
IMNA=EE INEASE CRHE)| JAL JAL 21,200 60%  £:22,000. H:23,700 22,000 59 22,400 58% 22,400 58% —
BA%E CRE) [ JAL JAL 22,800 57%  £:24,400, £ H:24,700 24,800 53 23,200 56% | 23200 56% —
M=l INEASE CRHE)| JAL JAL 23,600 56% & H:25100 25,200 53 23,600 56% 23,600 56% — —
PTIES CRE) [ JAL JAL 24,400 55%  +:25100, H:25000 24,400 55% | 24,400 55% | 24,400 55% — —
R=dtAm | MRE CHE)| JAL JAL 24,800 58% £ H:25,600, £:24,400 25,600 56% 25,700 56% 25,700 56% —
EZRIES CRE)[  JAL JAL 24,800 58%  %::25200, £:26,200, H:23,500 25,200 57% 25,700 56% 25,700 56% -— —
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4/1-26  EEY EEH EEY EEE [4/28-4/30 EEH
Em 5/7-5/10 H3IE % YO aEiw | Y mmiE | Y2 mEE | 5ss6 BEIE

IMA=K%H JAL JAL 22,800 60%  A#:24,400, 1+:24,000, B:25.100 25,200 56% 24,900 57% 25,200 56% — —
JAL JAL 24,400 58%  £:24,800, £:24,000. H:26.400 25,300 56% | 25700 55% | 25700 55% —
M=l JAL JAL 22,800 63%  £:23,600, £:23,200, H:24,300 25,200 59% 24,900 59% 25,200 59% —

JAL JAL 24,400 60% _ H:26,000 25,200 59% | 24,900 59% | 25200 59% — —

IME=RER JAL JAL 22,600 61%  £:24,400, £:24,000, H:24,300 25,200 57% | 24,900 58% | 25200 57% — —
JAL JAL 24,400 58° 25,300, H:26.000 25,200 57% | 25700 56% | 25700 56% —
IME=EE JAL JAL 23,600 60% :24,400, +:24,000, H:24,300 25,200 57% | 24,900 58% | 25200 57% —

JAL JAL 24,400 58%  H:26,000 25,200 57% | 25700 56% | 25700 56% — —

MA=ERE JAL JAL 24,200 60%  £:25800, £:24,600, H:24,700 25,800 58% | 24,900 59% | 25200 59% — —
JAL JAL 24,400 60% 23,600, H:27.400 25,200 59% | 25700 58% | 25700 58% —
INA=BEXE JAL JAL 35,800 47% % 1:36.600 36,600 46% — — — — —

ESN} JAL JAL 35,800 47 34,800, H:38,200 36.600 46% — — — — — —

M= IS JTA _[JTA/RAC| 25,200 57% 4 1:27,600 25,200 57% 25,200 57% 25,200 57% — —
BaR JTA/RAC| JTA 22,100 62 H:24.500 22,100 62% | 22,100 62% | 22,100 62% —
IMA=F1E IS JTA JTA 23,100 64% 2 1:25500 23,100 64% 23,100 64% 23,100 64% —
AiEF JTA JTA 23,100 64% F H:25,500 23,100 64% | 23100 64% | 23100 64% —
fEl=5d i LU 5 JTA _[JTA/RAC| 23,100 55% @ 1:25500 23,100 55% 20,000 61% 20,000 61% —
BaE | JTA/RAC| JTA 23,100 55%  H:25.500 23,100 55% | 23,100 55% | 23,100 55% —
fEl=Fia EIE JTA JTA 24,400 57% 4 1:26,800 24,400 57 21,000 63% 21,000 63% —
RiES JTA JTA 21,000 63%  H:23.400 21,000 63 21,000 63% 21,000 63% —
BAN=2k S JAL/JAC| _JAC 23,200 47%  %:24,100, £ H:24,200 24,100 44 — — — — —
EGE JAC _[JAL/JAG| 23.200 47% £+ H:24.100 4,100 44 — — — — —
BEXB=5H |EZABX JAC JAC 6,500 38% 6,500 38% 6,500 38% 6,500 38% —
% 3 JAC JAC 6.500 38% 6,500 38% 6,500 38% 6,500 38% —
BEAB=AKRE| EEXBH JAC JAC 5,500 48% 6,300 45% 6,300 45% 6,300 45% —
ok AR JAC JAC 5,500 48% 6,300 45% 6.300 45% 6.300 45% —
RGBT =K [HRER) % JAL/JTA] _JAL 9,300 59%  +:28,400. H:30,000 0,900 56% 2,000 55% 2,000 55% —
HHH JAL _[JAL/JTA[ 27.200 62%  £:30,000 36,000 49% 31,200 56% 35,100 50% —
SRHR(IRER) = =R [ GRE) % JAL/JTA] _JAL 27,300 61%  H:29,700 28,500 59% 29,600 58% 29,600 58% —
5 JAL _|JAL/JTA| 25,200 64%  £:29,400, H:27.400 32,800 53% | 28800 59% 32,000 54% —
PR GRE) =RE [hEE]) R JAL/JTA] _JAL 25,200 61% 24,300, H:28,400 25,200 61% 27,100 59% 27,100 59% —
RS JAL _|JAL/JTA| 24,700 62%  £:28,900, £:25700. H:25.600 31,900 51% | 27100 59% 31,100 52% —
SRR G =Lfe [FE (E) % JAL/JTA|_JAL 23,800 60%  + H:24,400 23,800 60% — — — — —
L % JAL_|JAL/JTA| 23800 60% H:24.900 29,300 50% — — — — —
SHHRGIRER) =1LE [ CGRE) % JTA JAL 26,000 63% 2 1:26,800 26,800 62% 28,400 60% 28,400 60% —
L& 5 JAL JTA 24,900 65% % H:25,200 25,700 64% | 28400 60% | 28400 60% —
HRGIRER) =/Ma [ GRER) % JAL/JTA] _JAL 25,500 59% 26,300 58% 26,600 58% 26,600 58% —
MRS JAL _|JAL/JTA| 24,200 61%  £:28,700, £:24,400. H:26.300 32,200 49% | 27.400 56% | 31.400 50% —
PR =28 [hE ] R JTA [JAL/JAC] 24,700 52% 26,200 49% — — — — —
BE% JAL/JAC| _JTA 24,700 52 27,000 47% — — — — —
hHRGIRER) =#a L PR GRER) JTA JAC 23,500 51% 25,800 47% 25,400 47% 25,400 47% —

PALLISE JAC JTA 23,500 51 25,400 47 25,400 47% 25,400 47% — —

R (RE) =BEAR|RR(RA) R JAL JAC 26,800 57% H:27.800 28,800 54 29,100 53% | 29,100 53% — —
JAL JAL 33,800 42% __ 7:34,700, % £:35.600 35,600 39 — — — — —
BEXBR JAC JAL 26,800 57% % H:28.300 28,300 54 29,100 53% 29,500 52% —

JAL JAL 32,000 45t 32,000 45 — — — — — —

RECHR) =ERB|RRCAB) X[ _ERE JAL JAC 31,400 50% 32,300 49% 31,200 51% 31,200 51% — —
EEKRS | JAL JAC 34,200 39% 35,100 37% — — — — —
ERER | ERE JAC JAL 30,100 52% 30,800 51% | 30800 51% | 31.200 51% —

BEKE | JAC JAL 34,200 39% 34,200 39% - — — — — —

RECHR) =#2B|RRCABR) X[ _ERE JAL JAC 31,300 52% 32,400 33,300 49% 32,200 51% 32,600 50% — —
BEAE [ UAL JAC 36,500 39% & 1:37.400 37,400 37% — — — — —
R | ERE JAC JAL 31,300 52% 31,300 52% | 32200 51% | 32200 51% —
EEAE [ JAC JAL 36,500 39%  H:37.400 36,500 39% — — — — —
RE(PE)=HARB[RZCAR)X| ERE JAL JAC 31,800 54% 32,800 52% 33,100 52% 33,100 52% —
HkRERE | ERE JAC JAL 31,800 54%  £:32,600. H:34,200 32,700 52% 33,100 52% 33,500 51% —
& | JAC JAL 38,700 39%  H:39,600 38,700 39% — — — — —
HR(CHA) =5# JAL JAC 33,800 52% _ £:34,700 34,700 50% | 33600 52% | 33600 52% —
JAC JAL 33,100 53%  H:34,700 33,100 53% | 33600 52% | 34,000 51% —
g | JAC JAL 40,400 39% _ H:41,300 40,400 39% — — — — —
KR () =BEAB| AR (BF) %[ E! JAC JAC 25,900 48% _ £:26,800, 1:26,300 26,800 46% 25,900 48% 25,900 48% —
BEABRE | B! JAC JAC 25,300 49% 25,300 49% 25,300 49% 25,300 49% —

AR (FF) =B R 6| KR (7 |_E! JAC JAC 28,000 45% x 1:28,900 28,900 43% 28,000 45% 28,000 45% — —
EEKXS | JAL JAC 28,800 37 #£1:29,700 29,700 35% — — — — —
ERGR ERE JAC JAC 28,500 44% 29,400 42% 28,500 44% 28,500 44% —
EEKXE | JAC JAL 28,800 37 28,800 37% — — — — —

AR (B =RBzB| KRG | _ERS JAC JAC 29,000 46% 29,900 44% 29,000 46% 29,000 46% — —
EEKXS | JAL JAC 31,100 37 32,000 35% — — — — —
(Rt ERE JAC JAC 29,800 44% 29,800 44% 29,800 44% 29,800 44% —
EEKXE | JAC JAL 31,100 37 31,100 37% — — — — —
KR () =k RE| AR (B X[ ER JAC JAC 29,900 47% 30,800 45% 29,900 47% 29,900 47% —
HKBERRE | R JAC JAC 30,300 46" 30,300 46% 30,300 46% 30,300 46% —
AR (D) =5 [AREF ] ER JAC JAC 30,400 47% 31,300 46% 30,400 47% 30,400 47% —
5% EER JAC JAC 31,300 46% € H:32.200 32,200 44% 31,300 46% 31,300 46% —
EE=EXXE R JAC JAC 21,500 48% 21,500 48% 21,500 48% 21,500 48% —
& BER JAC JAC 21,500 48% 21,500 48% | 21,500 48% | 21,500 48% —
BE=ERS fHEES R JAC JAC 23,100 46% 23,100 46% 23,100 46% 23,100 46% —
EEKXE | JAC JAC 22,900 45% 22,900 45% 22,900 45% 22,900 45% —
ERER | ERE JAC JAC 24,100 44% 24,100 44% | 24100 44% | 24100 44% —

EEKXE | JAC JAC 22,900 45% 22,900 45% 22,900 45% 22,900 45% — —

BE=EZ8 fHEES ERE JAC JAC 25,500 44% 25,500 44 25,500 44 25,500 44 — —
EEKXE | JAC JAC 25,200 44 25,200 44 25,200 44 25,200 44 —
(Rt RS JAC JAC 25,500 44% 25,500 44 25,500 44 25,500 44 —

EEKXE | JAC JAC 25,200 44 25,200 44 25,200 44 25,200 44 — —

1ERE =K RE HHES ERE JAC JAC 26,000 46% 26,000 46% 26,000 46% 26,000 46% — —
HkRERE | ERE JAC JAC 26,000 46% 26,000 46% 26,000 46% 26,000 46% —
FEAE | JAC JAC 27,400 44% 27,400 44% | 27400 44% | 27400 44% —

1B =55 [HEES BERE JAC JAC 25,500 49% 25,500 49% 25,500 49% 25,500 49% — —

5 ERE JAC JAC 25,500 49% 25,500 49% | 25500 49% | 25500 49% — —

FEARE | JAC JAC 29,100 44% 29,100 44% | 29100 44% | 29100 44% — —
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E o =1
X tE3::EuI0) RERH 5/11-5/31 g;i %
| RE® | REQ "
RRECHHE) =% [EECHHE) | (IRE) [JAL/JTA[JTA/RAC| 21,900 62% | H:23,000
Eo% | AMBGRE) [JTA/RAC|JAL/JTA| 23,100 60% [+:21,900, H:25,500
RR(CPHE)=R1E [R’ZECHE) |44 B5) [JAL/JTA|  JTA 23,100 64% | H:24,300
AiEFH |[HEGREH)| JTA [JAL/JTA| 23,100 64% | 1:22,300
KBR (1) =% Al | KR (B FH R CHE) | JAL JAL 23,600 63% | F:24,400, % 1:25,200, H:24,800
HIEFTFE)|  JAL JAL 24,000 62% % +:25,600
Zaa%E [RE(HE)| JAL JAL 23,700 63% | A:24,900, £:25,700, £:25,300, H:27,200
HIEFTFR)|  JAL JAL 24,000 62% | H:25,600
KB (B7E) =i Al | Kok (B9 7E) | SR CHE) | JAL JAL 23,600 63% | F:24,400, % 1:25,200, H:24,800
HIEFTFR)|  JAL JAL 24,000 62% % +:25,600
Zaa% [RE(HE)| JAL JAL 23,700 63% | A:24,900, £:25,700, £:25,300, H:27,200
HIEFTFR)|  JAL JAL 24,000 62% | H:25,600
KR (RFH =neNl [ KB (5} [ BRE CHHE) | JAL JAL 24,400 61% | F:24,800, %:26,300, 1:25,600, H:24,600
JBJI%E  [ERFECHHE)| JAL JAL 23,600 62% | A%::24,800, H:25,100
KBx (BETE) =AB)II [ KRR (BEFE) | RECHE)| JAL JAL 24,400 61% | F:24,800, %:26,300, 1:25,600, H:24,600
JBJIFE  [ERFECHHE)| JAL JAL 23,600 62% | A%::24,800, H:25,100
K (RFH =438 | KBx FFH #|RRECHE) | JAL JAL 21,400 65% % +:22,200, H:23,400
IR [FRCHME)| JAL JAL 23,800 61% | A%:25,000. H:26,800
K (RFH) =% [ KR (FFD | RRCHE) | JAL JAL 24,400 60% | F:24,800, £:23,600, H:27,100
HEHE  |RFECAR)| JAL JAL 23,600 61% |A:24,800, £:25,600, £:25,200, H:24.400
KR (RF) =ERfE [ KRR (FHFD) # [ BRE CHHEH) | JAL JAL 21,500 60% &+ H:24,000
EEER [HHECHHE)| JAL JAL 22,700 58% | A%:23,900. H:26,800
KR (FH ==iR [KBiRURFD S| RECHE)| JAL JAL 22,200 57% | F:23,000, H:21,400
=] FRERCAR)| JAL JAL 22,200 57% | A%:23,400, H:23,000
Ak (BH78) S| RECHE) | JAL JAL 22,200 57%  H:23,000, H:21,400
AR (751) % o JAC JAC 18,700 41% | H:15,100
[ECES HE JAC JAC 15,100 52%
KR () =BEFS|XREFHR| BRES JAC JAC 18,100 54% | +:18.600
BFER | BEE JAC JAC 20,300 48% | £:21,300, H:21,800
KR (RFH =% [KBRUFFD E|[AEGBEH) | JAL [JTA/RAC| 21,200 59%
Ems |4 GRE;) [JTA/RAC]  JAL 24,200 53%
KR (T8 == | ABx (B578) | 448 (ABER) [JAL/JTA[JTA/RAC| 21,200 59%
Eo% |48 RE) [JTA/RAC|JAL/JTA] 24,200 53%
KR (BFH) =F1E [ KR (FFD R AEGRE) | JAL JTA 21,500 62% |&+:22.400
AR |[HEOEREH| JTA JAL 25,400 56%
KR (BETE) =R1E [ Ak (BEFE) 5|48 (BE) [JAL/JTA|  JTA 21,500 62% & +:22,400
AiEFH [HEGEE)| JTA [JAL/JTA| 25400 56%
LZHE (P =% @A |2 EE (h#) R[ALIREFTFH)|  JAL JAL 21,900 63% | & 1:24,200. H:22,600
ik Il 7 REHTFR)|  JAL JAL 24,600 58% | H:25,100
2EE(PE) =Sh|252 (P [ FEFFH)| JTA [JTA/RAC| 18400 67% | A+ H:18,600
EmS |4 GRE;) [JTA/RAC]  JTA 21,200 62% | A H:21,400, £:20,400
2WE(PE) =FE|25E(PH R BT | JTA JTA 19,600 68% | A+ H:19,800
RIEF |[HEER#HE| JTA JTA 18,600 70% | AR+ H:18,800
LR FFRR) =/MAALIRFHFR) [ RFCAE) | JAL JAL 24,200 56% |+ H:25,300
AT |EFRERCHE) | JAL JAL 24,300 56% | A H:25,100, £ 1:25,300
LR B Fa%) =R [4ALIR T %) % | B CHHE) | JAL JAL 25,200 60% %:25,600, 1:24,800, H:26,600
FEWLF [RFECHHE)| JAL JAL 23,200 64% % 1:25,600, H:23,000
IR FTFR) =LEEALIRETFR K[ RFCAHE)| JAL JAL 24,000 63% |£:25,200, H:26,300
LEE% |RFCARA)| JAL JAL 24,900 61% |A:25,700, £:27,000, £:26,400
ALIR (B F8) =L O ALIR B F5%) (/R CHE) | JAL JAL 25,600 62% |£:26,000, £:24,400, H:27,600
WO=FERF |RECHE)| JAL JAL 23,000 66% | +:23.600
ARG TR —HEREGETH) | ERCHA) | JAL JAL 26,500 59% %:29,300, 1:26,100, H:29,500
HEH [HRGIHE)| JAL JAL 25,100 61% |%::28,900, 1:26,800. H:25,500
ARG TR =E5 [AIRETH) | KR CHE) | JAL JAL 22,900 64% £:23,300, £:22,500, H:25,700
& HEREAE| JAL JAL 23,200 63% | A:23,800, £:25,500, 1:24,400, H:23,000
IR FTFR) =R LR EFTFR) [ RFCAE) |  JAL JAL 25,200 60%  |%::26,400, 1:24,800. H:27,600
I BEECHHE)| JAL JAL 24,400 61% |% 1:26,800. H:24,800
ARG T == 40 [ALIR T F%) % R CHE) | JAL JAL 24,800 62% $:26,000, 1:24,400, H:28,000
F=F RECHHE)| JAL JAL 24,800 62% | $:27,400, 1:26,800
LR G Fa%) =t [4ALIR T Fi%) % | B CHHE) | JAL JAL 25,600 61% £:27,600, £:25,200, H:27,300
MMLEE  |[RFCRAA)| JAL JAL 24,900 62% | A:25,700, %:28,600, £:28,000, H:25,500
IR FFR) =AM AR FTFR) R[EFCAAE) | JAL JAL 26,000 63% |£:27,200, £:25,600, H:28,800
dEAMFE |RFECHHE)| JAL JAL 25,200 64% |£::28,000, £:27,800. H:24,000
ARG =K [AUR Tl %R CHE) | JAL JAL 26,400 62% $:26,800, 1:24,400, H:28,800
AoFE  |ERCEIHE)| JAL JAL 26,500 62% | A:27,300. %:28,300, £:27,200, H:26,900
ARG T =RIG AR TS % KR CHE) | JAL JAL 24,400 66%  $:26,000, 1:25,600, H:28,000
b BEECHHE)| JAL JAL 25,600 65% | & 1:26,000
AR G Fi%) =R A [AUIR (T T) % R CHE) | JAL JAL 25,600 64% % 1:26,400, H:28,000
BEAH |HFCAA)| JAL JAL 26,500 62% | A:27,300, £:28,300, £:27,200
ARG T == 05 [AUIR Tl % R CHE) | JAL JAL 26,400 62% |%::27,600., H:28,800
HER  |RRCRA)| JAL JAL 26,500 62% | A:27,300, £:29,000
IR (FHFR)=ERE [+ G T8 #[/RECHH)| JAL JAL 27,000 63% |%::27,800, H:28,400
BERSF |WECHH)| JAL JAL 25,600 65% | H:27,000, 1:26,400
HIREFHTFR) =CEERS[ALIEFTH) K| RRCHMHE) | JAL JAL 37,800 53% % 1:38,600, H:36,600
EEAEH R (HHE)| JAL JAL 37,000 54% |%::38,800. H:37,800
AT =BG [ALIR (FFm) | RE(PH) |  JAL |JAL/JTA| 26,200 65% |£:30,000, £:26,400, H:29,100
AMR(B87E)| JAL |JAL/JTA[ 25,000 67% | H:25,800
ZEECHE)] JAL JTA 24,900 67% % 1:24,700. H:26,300
12 ] JAL JTA 24,300 69% |£:25,100, H:26,400
SRR (ARER) F | BRE CRHE) [JAL/JTA|  JAL 27,600 63% | A:28,400, %:30,100, 1:27,000, H:29,800
AR (B8FE) [JAL/JTA]  JAL 27,400 64% |£:28,200, H:29,000
12 fiE] JTA JAL 25,900 67% |% 1:27,400
&R =% Bl wmE% [ERERCHHE)| JAL JAL 26,800 66% | A+:27,600, £ H:29,200
HIEFTFR)|  JAL JAL 24,900 66% | 1:25,600
Ziaa%E [RE(HE)| JAL JAL 26,900 65% |£:30,900, £:30,100, H:29,600
HIEFTFE)|  JAL JAL 24,900 66% | H:26,200
12 =)l BEF [RFECHH)| JAL JAL 26,800 65% | A:27,600, %:29,800, 1:29,600, H:28,400
BIF |[EFECHHE)| JAL JAL 25,600 66% | A:26,800, £:30,000, £:26,400, H:29,600
1=hE = gIBg BEF [RFECHH)| JAL JAL 25,400 66% |£::27,000, H:27,800
HIERFE |[HFECHEH)| JAL JAL 25,800 66% | A:27,000, £:30,200, £:26,600, H:29,800
12 =I5 BE% [RECHAHE)| JAL JAL 26,800 64% | A%:27,600. H:30,800
HEE |[RERHE)| JAL JAL 26,000 65% |£:30,800, £:30,000, H:26,800
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E P =1
X Beamd BRERM 5/11-5/31 g;% Bz
RED | REQ "
12 =g EERE  [ERCGEIE)| JAL JAL 24,700 64% | & 1:27,200. H:28,400
HEEX |[EFECHE)| JAL JAL 26,300 61% |£:27,900, £:27,100. H:29,200
EE=5% EERE [EEGIE)| JAL JAL 27.400 59% |£:28,200, £:25,800, H:28,300
ABR ()| JAL JAL 29,800 49% % H:30,600
A% |[ERECEHE)| JAL JAL 26,200 61% |A:27,400, £:28,300, £:26,600, H:25,800
ABR ()| JAL JAL 29,800 49% % H:31,400
&R ==iR BE%¥ [RFECHHE)| JAL JAL 24,600 63% | H:25.400
SRFE |ERERCHHE)| JAL JAL 24,600 63% | A1:25,400, %:28,600
&R =1t BE% [ KERUEREFD| JAL JAL 29,400 49% |% H:31,000
SR | KRUEFFD| JAL JAL 29,400 49% |% H:31.400
1&RE =FHE EE% [EECHAE)| JAL JAL 23,700 61% | A%:24,500. H:24,100
ABR(FFH|  JAL JAL 22,000 60% |& H:22,800, 1:21,600
MEX [ERERCHHE)| JAL JAL 23,700 61% | A:24,900, %:27,700. £:25,700
ABR ()| JAL JAL 22,800 58% | H:23,200
&=L BRE% [ERECHH)| JAL JAL 22,800 58% |+ H:23,200
ABR ()| JAL JAL 29,100 46%
s  [RECHHE)| JAL JAL 23,200 58% |%::25,000, H:22,300
ABR(FFH | JAL JAL 29,100 46%
BRE=%8 [ AR ()| JAL JAL 21,000 59%
| | mmBR | XREFH| JAL JAL 21,800 57%
1&RE = /MR EE% ["RECHAE)| JAL JAL 24,000 59% |£:25,200, H:26,800
IMRFE ROCHE)|  JAL JAL 23,400 60% | A:25,200, %:27,000, 1:24,400, H:24,300
BRE=2 EE%  [FEGRE) | JTA [JTA/RAC| 17,200 62%
Emsk |4 GRE;) [JTA/RAC]  JTA 20,200 55% |& H:21,000
&R =Hh1E B [EGREHR) | JTA JTA 18,400 64%
RIER |[H#EOER#E)| JTA JTA 18,400 64%
Zimhl =& ZoERIFE (AR TR  JAL JAL 23,100 54% | H:23,900
WE% [4REFH|[ JAL JAL 23,100 54% |&
i Al =M A |RERCHE)| JAL JAL 24,700 61% |
AT |EFRERCHE) | JAL JAL 24,700 61% |
i Bl = Rl ZiGAFE |RERCHE)| JAL JAL 26,500 63% |
FEWLF [RRECHE)| JAL JAL 25,200 65% & ] 27,
Taal=hE ZiamplF |[HFECHE)| JAL JAL 27,800 62% |£:30,200, £:29,800, H:32,900
HEH [HRGIHE)| JAL JAL 25,600 65% |% 1:28,800. H:27,700
A=Al ZiamplF |[HFECHE)| JAL JAL 26,900 63% |£:28,500, £:27,700, H:31,200
WMLE  |[RFECAA)| JAL JAL 27,200 63% |% 1:30,000, H:28,800
TBJI =2 KBJIFE [ERFECHHE)| JAL JAL 24,600 60% | H:29,200
AT |EFRERCHE) | JAL JAL 24,600 60% £::28,200, 1:27,800, H:26,100
TEJI =& L JBJIFE [ERFECHHE)| JAL JAL 26,400 62% | H:27,200
FEWLF [RFECHE)| JAL JAL 24,700 65% $:27,200, 1:26,700, H:25,500
BJI=HE KBJIFE [ERFECHE)| JAL JAL 27,700 61% |%::30,100, H:30,700
HE RECHHE)| JAL JAL 27,100 62% % 1:28,400, H:28,300
TBJI=#21L JBJIFE [ERFECHEH)| JAL JAL 26,800 62% $::28,400, H:28,100
WMLE  |[RFECAA)| JAL JAL 26,800 62% |%::29,300, 1:28,600. H:27,200
IR =12 HIERFE [FFECHE)| JAL JAL 24,800 59% | 1:23,800, H:30,400
AR [RFECAA)| JAL JAL 24,000 61% |% 1:24,800. H:26,300
FI% =0 HIERFE |[HFECHE)| JAL JAL 26,600 61% | H:28,900
FELF [RFECHE)| JAL JAL 24,100 65%  $:25,400, 1:24,600, H:25,700
HB/=HE g [FRCHME)| JAL JAL 27,900 60% |£:30,300, H:32,400
HE BHECHHE)| JAL JAL 24,700 65% % 1:26,600. H:26,300
BIFE =L g [FRCHME)| JAL JAL 27,000 62% |£:28,600, H:29,800
WILFE  |ERERCHE)| JAL JAL 25,800 64% |& 1:27,000. H:27,400
IR =/ HhFE  |[RECHE)| JAL JAL 24,600 59% |& 1:26,800. H:26,200
AT |EERERCHE) | JAL JAL 24,600 59% | H:28,500
IR =FELl HEFE  |RECAR)| JAL JAL 26,400 61% |4 1:26,900
FELF [RRERCHHE)| JAL JAL 25,200 63% | H:27,900
HLE=HZE HHEHE O |RFECAR)| JAL JAL 27,700 60% |& H:30,100, 1:29,700
HE HEREAE| JAL JAL 27,100 61% |£:27,500, £:27,200, H:30,600
HIL=H HEFE  |RFECAR)| JAL JAL 26,800 62% | & H:28,400, 1:28,000
WAL [RRRCRA)| JAL JAL 27,200 61% |% 1:28,400, H:29,600
BEEE=/M2 BEEEF [ERECHHE)| JAL JAL 23,900 55% | H:26,300
MAF |RFCAA)| JAL JAL 23,300 56% | % 1:25,800. H:26,300
BEAE =R L BEEF [RECHHE)| JAL JAL 25,500 59% | H:28,800
FEILFE [RFECHHE)| JAL JAL 23,900 61% $:26,400, 1:26,300, H:25,500
HEE=HE BAEH [T CHHE)| JAL JAL 26,800 57% |£:29,200, H:32,500
HE HEREAE| JAL JAL 24,300 61% |£:28,400, £:28,300, H:26,900
AR =HL BAEH [T CHHE)| JAL JAL 25,900 59% |£:27,500, H:30,400
MMLE  |[RFCAA)| JAL JAL 25,900 59% |%::29,600. £:29,200. H:28,000
EEE=dt A AR [RHECHHE)| JAL JAL 26,700 61% |£:27,100, H:29,600
dEAMFE |WFECHHE)| JAL JAL 24,700 64% % 1:27,200, H:27,600
EEE=K% HEEX |[EFECHE)| JAL JAL 26,700 60% | 1:26,300. H:30,000
An% |RFCAA)| JAL JAL 26,300 61% |% 1:28,800. H:29,200
HEE=RIA BEEEF [RE(CHHE)| JAL JAL 26,300 63% | H:29,200
EB% |RFCAHA)| JAL JAL 25,300 64% |£:27,200, £:26,800, H:29,200
ELER S BAEH [T CHHE)| JAL JAL 25,900 62% |£:26,300, H:29,200
A% |HFCAA)| JAL JAL 23,500 65% % 1:26,000. H:28,000
HEE =25 BEEEF [ERECHHE)| JAL JAL 25,900 62% |%::27,500, £:27,100. H:30,000
HUER |RRRCRA)| JAL JAL 25,500 63% |% 1:28,000, H:28,400
HE=ERS BHAEH [T CHHE)| JAL JAL 27,700 61% |£:29,300, H:30,000
ERSH |WECHH)| JAL JAL 24,900 65% % 1:27,200, H:28,800
HE=EXAE | EZAESH [HRCHAA)| JAL JAL 36,700 53% |%:38,600. H:41,400
BERFR=/MR A% |[EFECHHE)| JAL JAL 25,100 52% | A +:23.600
MRFE |RRCRA)| JAL JAL 25,100 52%
=ML A% |[EFECHHE)| JAL JAL 26,900 55% | A+ H:25,400
FELF [RFECHE)| JAL JAL 25,300 58%  %:25,800, 1:25,000, H:26,100
EHR=L5 EH%E  |[ERGHE)| JAL JAL 25,800 58% | A 1 H:25,000, £:26,600
LEE% |RFCAA)| JAL JAL 25,800 58% |£:27,400, £:25,000, H:26,600
BEHxR=ILOFE A% |[EFECHE)| JAL JAL 27,400 58% | A H:25,800, 1:24,200
WOFERFE [RECHE)| JAL JAL 24,200 63%
BEHR=HE EAE [EREE)| JAL JAL 25,900 58% |%:27,900. H:27.500
ABR ()| JAL JAC 28,300 49%
HEH [RECHH)| JAL JAL 27,700 55% |£:28,100, H:28,300

PNAGEE)

JAC JAL 26,200 53% % H:27,400
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£ P =1
X #® BRERM 5/11-5/31 g;% Bz
RED | REQ "
EHR=185 EH%E  |[ERGE)| JAL JAL 24,700 59% | A1 H:23,900
BEFE |[RRECHA)| JAL JAL 24,700 59% | H:25,500
BEHR=m0 A% |[EFERCHE)| JAL JAL 27,000 55% | H 1:25.400. £:27,800. H:26,200
=% [ERCHME)| JAL JAL 25,800 57% |£:26,200, H:27,500
EHR=H A% |[EFERCHE)| JAL JAL 26,600 57% | A 1:25,000. £:27,400. 0:25.800
=A% [ERCHME)| JAL JAL 26,600 57% |£:28,200, H:27,300
BH=HL EHR%E  |[ERGHE)| JAL JAL 27,400 56% | A H:25,800
WAL  [RRERCRA)| JAL JAL 27,400 56% | H:27,800
BFHER =AM A% |[EFERCHHE)| JAL JAL 27,800 58% | A 1 H:26,200, £:28,600
dEAMFE |RFECHHE)| JAL JAL 26,600 60% | H:27,400
BEH=KH EHE [EE@HE)| JAL JAL 28,200 57% | H H:26,600. T:25,800
ABR ()| JAL JAL 30,700 45%
AN% |EFCARA)| JAL JAL 28,200 57% | 1£:27,800. H:29,000
EHR=RIE A% |[ERERCEHE)| JAL JAL 26,200 62% | A 1 H:25,800, £:27,400
ABR (D) | JAL JAL 28,800 54% % 1:29,800, H:29,400
RIBS |RRERCHA)| JAL JAL 28,200 59% | H:28,800
BEHR=EX A% |[ERECEHE)| JAL JAL 25,400 62% |%::27,400, £:26,200. H:25,800
ABR ()| JAL JAL 31,700 47%
AR |[RER(CPHA)| JAL JAL 25,400 62% | H:26,600
ABR ()| JAL JAL 31,300 48% |%::31,700. H:31,900
BEHR=TE A% |[ERECEHE)| JAL JAL 26,200 61% |% + H:26,600
ABR (| JAL JAL 31,400 48% % H:31,900
=R |[RECRHA)| JAL JAL 26,200 61% :28,200
KER(BFD|  JAL JAL 31,400 48% | 1 H:31,900
EHR=ERE EAE [EmEEE)| JAL JAL 27,800 60% F H:27,200, £:28.800
KER(BFD|  JAL JAC 30,600 52% |& 1:31,800. H:31,000
BRE® |[HZECHHE)| JAL JAL 28,200 59% | H:29,300
KER(BFD|  JAC JAL 30,200 52% |£:30,600, £:31,000, H:31,800
EHR=EXKE A% |[EFERCHE)| JAL JAL 37,600 51% |4 1:38,400
EEREHR [HR(HHE)| JAL JAL 39,600 48% | H:41,200
ABR (| JAL JAL 39,600 46% | %::41,200. H:42,000
ZR=/ =R¥  [HEECHHE)| JAL JAL 23,200 55% | 1:22,200, H:24,800
AR [EFRERCHE) | JAL JAL 23,200 55% | H:23,900
ZiR=[E SRFE |EREIHE)| JAL JAL 25,000 58%
FELF [RECHE)| JAL JAL 22,300 63%
ZR=IL5 SRFE |EREIHE)| JAL JAL 23,800 61% | H:24,600
E5% |[RRECHA)| JAL JAL 23,000 62% |& H:24.600
SR=1LOF&H SRFE |EREIHE)| JAL JAL 25,400 60% | 1:23,800
WOFERFE [RECHE)| JAL JAL 23,800 63%
ZIR=HZE =R¥ [HEECHHE)| JAL JAL 26,300 57% | H:28.300
HE BEECHHE)| JAL JAL 24,200 60% | +:25.800
ZIR=15 SR% |RFCAA)| JAL JAL 22,700 62%
mER |RRRCHA)| JAL JAL 22,700 62%
ZR=5# SRFE |ERERCIHE)| JAL JAL 25,000 58% | H:25,800
HEREAE| JAL JAL 23,800 60% | +:24.600
ZR=54% BEECHHE)| JAL JAL 24,600 60% | H:25,400
HERPAE| JAL JAL 22,200 64% | +:23.000
ZiR=#1 BHECHHE)| JAL JAL 25,400 59% % H:27,000
HEREAE| JAL JAL 24,600 60% | H:25,000
SiR=dchMm SRFE |ERCIHE)| JAL JAL 25,800 61% %£:26,600
dEAMFE |RFECHHE)| JAL JAL 24,600 63%
ZiR=K% SRFE |EREHE)| JAL JAL 26,200 60% | 1:24,600
Ao% |RRERCHA)| JAL JAL 26,200 60%
ZiR=RI& SRFE |EREIHE)| JAL JAL 24,200 65% |& H:25.400
RIB% |RRERCHA)| JAL JAL 26,200 62%
ZIR=EEX SRFE |EREHE)| JAL JAL 24,200 63% |& H:25.400
BEAR% |HRCPHA)| JAL JAL 23,400 65% | H:25,000
SR=EI& =R%  |EmmCEAE)] JAL JAL 24,200 63% |£:27,000, £:25,400, H:26,200
HUER |RRCRA)| JAL JAL 25,400 62%
ZIR=ERS SRFE |EREIHE)| JAL JAL 25,800 62% |& H:26.200
BRES® |[HECHE)| JAL JAL 25,800 62%
SR=B|EXE | EEXEHX [Hm(PHE)| JAL JAL 37,600 50% | H:38,400
FE=/MR fEH [HRFCHAHE)| JAL JAL 21,900 53% |£:22,700, H:24,300
AT |EFRCHE) | JAL JAL 21,500 54% | H:22,600
FNE =R FEFE  [RFECHH)| JAL JAL 23,700 57% |& H:24,500
FELF [RFECHE)| JAL JAL 22,100 60%
MHA=L5 MEX |[EFERCHHE)| JAL JAL 22,500 59% |& H:24,100. 1:23,300
EE%F |[®RRECHA)| JAL JAL 22,900 59% | H:23,300
ME=ILOFE FEFE  [RECHHEH)| JAL JAL 24,100 59% | H:24,900, :23,700
WOFERFE [RECHE) | JAL JAL 21,700 63%
MHE=HZE MEFE [EERCHH)| JAL JAL 24,600 56%
RER(BFD|  JAL JAC 22,000 58%
HEH [RRECHH)| JAL JAL 22,500 60% |& 1:24,100. H:22,600
KER(BFH| JAC JAL 18,800 64% % H:19,600. T:18,400
MH=1E5 FEFE  [RFECHH)| JAL JAL 21,400 60% &+ H:22,200
mER |RRCHA)| JAL JAL 20,500 62% | H:20,900
MHA=E" FEF  [RFECHH)| JAL JAL 23,700 56% | H:25,300, £:23,900
% |[EFECHE)| JAL JAL 22,100 59% |% 1:22,900. H:22,500
MEA=EHM FEF  [RFECHH)| JAL JAL 23,300 58% | H:24.900
=A% [ERCHME)| JAL JAL 21,300 62% |&+:22,100
FNE =L FEF  [RFECHH)| JAL JAL 24,100 57% |& H:26,500
WAL  [RRERCRA)| JAL JAL 23,700 58%
A=t M FEFE  [EERCHHEH)| JAL JAL 24,500 60% |£:26,100, H:25,300
dEAMFE |RFECHHE)| JAL JAL 24,100 61% $:24,500, 1:24,300, H:23,300
ME=X% MERE  [EERGHE)| JAL JAL 24,900 59% |& H:25,700, 1:24,100
ABR ()| JAL JAL 23,200 56% | H:24,400
AH% |RFCARA)| JAL JAL 24,100 60% | 1+:23,700. H:24,900
MH=RIK MEX [ERERCHHE)| JAL JAL 23,300 63% | & H:24,900, 1:24,100
ABR ()| JAL JAL 21,000 64% % +:22,800, H:22,000
RS [RERCHA)| JAL JAL 24,100 62% | H:24,900
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= o IE Ak
X #® RERH 5/11-5/31 g;% BE
EED | RE@ "
EH=FEX MEFX [ERCHHE)| JAL JAL 24,100 61% |& 1:25,700. H:24,900
ABR ()| JAL JAL 23,900 58% % H:24,300
AR |[ERRER(CPHA)| JAL JAL 23,700 61%
ABR(FFH|  JAL JAL 23,100 59% |£:23,900, £:22,700, H:24,700
MH=Z=IF ER [EECHH)| JAL JAL 22,900 63% |£::26,500, £:24,900. H:25,700
ABR ()| JAL JAL 24,400 57% |%::26,800. H:26,400
ZER  |[RECHA)| JAL JAL 22,500 63% | H:24,100
ABR(FFH | JAL JAL 23,900 58% | & H:25,500. 1:24,400
ME=ERS EH [EECHH)| JAL JAL 24,700 61% |#:27,100, £:25,500, H:25,700
ABR ()| JAL JAC 22,800 62% % 1:24,800, H:23,200
BRER |[HZECHE)| JAL JAL 23,700 63% | H:24,500
KER(BFH| JAC JAL 22,000 63% |£:22,800, £:23,200, H:24,000
MHA=EXKE MEX |[EFERCHHE)| JAL JAL 36,300 49% € +:37,900
EEREHR [HR(HHE)| JAL JAL 35,500 50% | H:37,100
ABR(FFH|  JAL JAL 32,600 53% |£:33,400, £:32,200, H:34,200
Iz =/ Wifs%  ["m(EE)| JAL JAL 20,500 49% | H:22,400
AT |EFRERCHE) | JAL JAL 21,600 46% | H:22,400
iRz =FRL WH  [RECHE)| JAL JAL 21,000 57%
FELF [RFECHE)| JAL JAL 20,600 57%
=58 W% [EECHE)| JAL JAL 20,700 58% |£:23,200, H:22,300
LE% |RRERCHA)| JAL JAL 20,700 58%
Wz =1LAFER W%  |[RECHE)| JAL JAL 22,300 58% % H:23,200
WOFERFE [BRECHE) | JAL JAL 21,000 60%
== \Wif% "R (EE)| JAL JAL 25,100 49% |& H:26.600
ABR(FFH | JAL JAC 26,600 48%
HE BEECHHE)| JAL JAL 22,800 54% |&+:24.600
ABR (5| JAC JAL 26,600 48%
=5 Wifis%  ["m(HE)| JAL JAL 21,000 56%
mER |ERCHA)| JAL JAL 20,500 57%
LT =24 Wifs%  [Rm(HE)| JAL JAL 20,500 57% |& H:22,300
=% [ERCHME)| JAL JAL 21,400 55%
IRz ==%0 W% [EECHE)| JAL JAL 21,400 57% |£:22,300, H:23,400
=A% [ERCHME)| JAL JAL 20,500 59% | +:21.400
Wiz =#x0 Wifis%  ["m(EE)| JAL JAL 21,900 56% | H:22,300
WAL |RRCRA)| JAL JAL 22,300 55% | H:23,200
WifE =de S dEAMFE |RRECHHE)| JAL JAL 23,200 58% | H:22,800
wf=X% \WiR%  ["m(EE)| JAL JAL 23,200 57%
ABR (| JAL JAL 28,300 45%
AonFE  |ERCIHE)| JAL JAL 21,900 59% | H:24,100
i =Ri& \WiR%  ["m(EE)| JAL JAL 21,900 62% |& H:24,100
ABR (| JAL JAL 30,700 47% | H:30,000
RIS |[RECRA)| JAL JAL 22,800 60%
ABR(FFH | JAL JAL 30,700 47%
Iz =ReAR \WiR%  ["m(EE)| JAL JAL 22,800 58% |%:23,200
ABR ()| JAL JAL 29,100 47%
AR |[RER(CPH)| JAL JAL 21,900 60%
ABR(F#FH) | JAL JAL 29,100 47%
==& iRz % ["m(EE)| JAL JAL 22,800 58% |&+:24,100
ABR ()| JAL JAL 29,100 47%
ZER  |[RECRA)| JAL JAL 22,800 58% | H:24,100
ABR (D) | JAL JAL 29,100 47%
WE=ERS \WiR%  ["m(EE)| JAL JAL 21,900 62% |& H:24.600
ABR(FFH) | JAL JAC 30,700 48%
BRE® |[HZECHHE)| JAL JAL 23,200 59%
ABR(F#FH)| JAC JAL 30,700 48%
E=HE s ABR(FFH | JAL JAC 21,400 57% | H:20,600
HE AR (FR)| JAC JAL 18,800 62% | H:20,200, :19,000
wE=xX% s ABR(FFH | JAL JAL 22,600 55% | H:23.800
AoFE | RBRUFFH| JAL JAL 20,600 59% |% 1:22,200, H:23,000
E =R & AR (| JAL JAL 22,900 59% |% 1:23,800. H:23,400
RIBFE | KBRUFFH| JAL JAL 21,800 61% |£:22,600, H:23,400
& ==X & KER(BFD|  JAL JAL 22,500 59% |& H:23,700. 1:22,900
REARE | KBRUFFD| JAL JAL 22,900 58% |£:23,700, H:24,500
E == WEFK [KERURFD| JAL JAL 23,800 56% |£:27,000, £:25,000, H:26,200
=R | RKERUFFD| JAL JAL 24,100 56% | H:26,100, £:24,600
E=ERS & AR (| JAL JAC 23,800 59% |% £:25,800. H:24,600
EREEH |[KERURFD| JAC JAL 23,800 59% |£:25,800, £:24,200, H:24,800
E=&E%xXKE = KER(BFD|  JAL JAL 32,000 52% |4 1:32,800
EEAEH | KIRUFFD| JAL JAL 32,800 51% |%:34,000. H:34.800
Hin=HE #Fim¥ [ KERURFD| JAL JAC 20,800 57% | H:18,200
HE AR ()| JAC JAL 17,800 63%
Him=K% #Fim¥ [ KERURFD| JAL JAL 20,600 57% |& H:21.400
AnFE | RBRUFFH| JAL JAL 20,600 57% | H:21,400
Fin=RIA #Fim¥ [ KERURFD| JAL JAL 21,200 61% &+ H:21,800
RIGRE | KBRUFFH| JAL JAL 21,000 62% | H:21,800
Fim=REX #Fim¥ [ KERURFD| JAL JAL 22,500 57%
REAFRE | KBRUFFH| JAL JAL 22,100 58% | H:22,900
Hin=2=5 #Fim¥ [ KERURFD| JAL JAL 23,800 55% | +:25.000
=GR | RKBRUFFD| JAL JAL 22,900 56% | H:23,700
FR=ERS #Fim¥ [ KERURFD| JAL JAC 23,000 59% | +:23.800
BEREFE |ARUEF)| JAC JAL 21,000 62% |+ H:22,200
M= AT |EFRERCHE)| JAL JAL 20,900 60% | H:21,600
FEWLF [RFECHHE)| JAL JAL 21,500 59% | %:22,000, 1:22,400, H:23,100
IMA=]EE AT |EFRERCHE)| JAL JAL 22,200 58% $:23,200, 1:22,800, H:23,500
LEE% |RFCARA)| JAL JAL 22,800 57% |%:23,600, £:22,600, H:24,300
M= LOFE AR |EFRERCHE)|  JAL JAL 22,000 61% |£:22,800, H:23,500
WO=FERF |RECHE)| JAL JAL 21,000 63% | 1:22,000, H:22,700
IMA=HE AR [EFRCHE) | JAL JAL 24,500 54% % H:24,700
HE HEREAE| JAL JAL 23,900 55% |%:24,300, £:23,600, H:24,700
IMR=T85 AT |EFRERCHE)| JAL JAL 21,700 58% | H:22,500
mER |ERCHHE)| JAL JAL 21,200 59% | 1£:22,400, H:22,500
INA =T MRFE |RFCAA)| JAL JAL 23,200 55%
EN%  [ERGIHE)| JAL JAL 22,400 56% &+ H:23,200

JAL/JTA/JAC/RAC



[FEH#EI5128  EER(GA11H~31BEES)

EEERA 2012/1/24 ~
= o IE Ak
X #® RERH 5/11-5/31 g;% BE
EED | RE@ "
INA=T MRFE |RRCRA)| JAL JAL 21,200 60% |£:22,000, H:23,700
A% |[EFERCHE)| JAL JAL 22,800 57% |%::24,400, £ H:24,700
IMA=#2L AT |EERERCHE) | JAL JAL 23,600 56% | H:25.100
WILFE  |ERERCHE)| JAL JAL 24,400 55% | 1£:25,100, H:25,000
AMR=JE M IMAFE  |ERFERCAE)|[ JAL JAL 24,800 58% |4 H:25,600, 1:24,400
dEAMFE [WECHHE)| JAL JAL 24,800 58% |%::25,200, £:26,200. H:23,500
IMA=K5Y NAFE [EFECHE)| JAL JAL 22,800 60% | A%:24,400, 1:24,000. B:25,100
A% |RFCARA)| JAL JAL 24,400 58% |%::24,800, 1:24,000. H:26,400
My =RIE NAE [EFECHE)| JAL JAL 22,800 63% |£:23,600, £:23,200, H:24,300
RIBS |RRERCHA)| JAL JAL 24,400 60% | H:26,000
IMA=REAR NAFE [EFECHE)| JAL JAL 22,600 61% |%:24,400, £:24,000, H:24,300
REARF [HFE(CHH)| JAL JAL 24,400 58% | 1£:25,300. H:26,000
IMNR=E & MRF |RFECAA)| JAL JAL 23,600 60% | £::24,400, £:24,000. H:24,300
EUER |RRCHA)| JAL JAL 24,400 58% | H:26,000
IMA=ERE AT |EFRERCHE) | JAL JAL 24,200 60% |%::25,800, 1:24,600. H:24,700
BEREF |WECHH)| JAL JAL 24,400 60% | 1+:23,600, H:27,400
INA=TEKE AT |EFRERCHE) | JAL JAL 35,800 47%  |%& +:36.600
EEAEH [HRRECHHE)| JAL JAL 35,800 47% | £:34,800, H:38,200
IMR=ETH IMNZE [FEGRE) | JTA [JTA/RAC| 25,200 57% |&+:27.600
Emsk |4 GRE;) [JTA/RAC]  JTA 22,100 62% | A B:24,500
IMA=F1E VAT R GRER) | JTA JTA 23,100 64% % 1:25500
AIER [HEOEREH)| JTA JTA 23,100 64% | A H:25,500
EL=2%& FELLFE |48 (EB%)| JTA |[JTA/RAC| 23,100 55% & 1:25,500
Ems |4 GRE;) [JTA/RAC]  JTA 23,100 55% | H:25,500
EIL=RiE RELF  [PEGRE) | JTA JTA 24,400 57% % 1:26,800
RIER |[HEEREHE| JTA JTA 21,000 63% | H:23,400
B =5k =k 2R |JAL/JAC| JAC 23,200 47% |£:24,100, X H:24,200
HIEE [ JAC _[JUAL/JAC] 23,200 47% &+ H:24,100
BEXRE=5# |EZASH | HKkBRE | JAC JAC 16,500 38%
CE 3 ShKEEE | JAC JAC 16,500 38%
BEERE=TKRE| BEXEH 5 JAC JAC 15,500 48%
5 JAC JAC 15,500 48%
R (BB =FH RECHA) [JAL/JTA]  JAL 29,300 59% | 1:28,400. H:30,000
RERCHE)| JAL [JAL/JTA[ 27,200 62% |%:30,000
PR (AER) ==IR [ B (FE) [JAL/JTA[  JAL 27,300 61% | H:29,700
ZR%¥E |[EmE@HE)| JAL |JAL/JTA[ 25,200 64%  |%::29,400, H:27,400
PR (ERER) =FAE 4R (BRER) H | R CHHE) [JAL/JTA|  JAL 25,200 61% | 1:24,300. H:28,400
FEH  [EmCHAE)| JAL [JAL/JTA[ 24,700 62% |%::28,900, £:25,700. H:25,600
PRGN ER) =1L [hEE (BRER) % | R CHHE) [JAL/JTA|  JAL 23,800 60% |+ H:24,400
W% [EECHE)| JAL  |JAL/JTA[ 23,800 60% | H:24,900
R RE) =E [PECGRE) |  ERH JTA JAL 26,000 63% | +:26.800
=3 12 [l JAL JTA 24,900 65% | H:25.200
PR (ERER) =/MR 4R (BRER) % | R CHHE) [JAL/JTA|  JAL 25,500 59% | 1:24,600, H:29,500
IMAFE  |ERFERCRE)| JAL [JAL/JTA| 24,200 61% $:28,700, 1:24,400, H:26,300
B (RER) =240 DMEREBR X BE JTA _[JAL/JAC| 24,700 52%
=k 18 [JAL/JAC] JTA 24,700 52%
R GRE) =l B GRE) | 1ER JTA JAC 23,500 51%
FALLISE =] JAC JTA 23,500 51%
RRCAE)=BZXB|RR(PH) | BRES JAL JAC 26,800 57% H:27,800
KR (D[ JAL JAL 33,800 42% | AK:34,700, & 1:35,600
BEXRER | ERS JAC JAL 26,800 57% |& H:28.300
ABR(FFH | JAL JAL 32,000 45% | H:33,400
RROCHA)=ERE|RR(PE)R| ERES JAL JAC 31,400 50% |%:32,300
EEKRS | JAL JAC 34,200 39% % +:35100
ERER BERS JAC JAL 30,100 52% | H:30,800
EEKRE | JAC JAL 34,200 39% | H:35,100
RROHA)=#ZE|RRPE)R| ERES JAL JAC 31,300 52% | H:32,400
EEKRS | JAL JAC 36,500 39% % +:37.400
meER BERS JAC JAL 31,300 52%
EEKRE | JAC JAL 36,500 39% | H:37,400
RRCAE) =4XkRB[RRACAH%| BRES JAL JAC 31,800 54%
HXERE | ERE JAC JAL 31,800 54% |£:32,600, H:34,200
EEXKRE | JAC JAL 38,700 39% | H:39,600
RRCHB) =5#% AR (AR | BERS JAL JAC 33,800 52% |%:34,700
CE 13 BRE JAC JAL 33,100 53% | H:34,700
EEKRE | JAC JAL 40,400 39% | H:41,300
KRB =BZXE|XR(FEME| BERE JAC JAC 25,900 48% |£:26,800, £:26,300
| | ®BEXE®R | BERS JAC JAC 25,300 49%
KR () =ERE|XKR(BFFHR| _ERES JAC JAC 28,000 45% & +:28.900
EEKRS | JAL JAC 28,800 37% % £:29,700
ERER BERS JAC JAC 28,500 44% % H:29.400
EEXKRE | JAC JAL 28,800 37% | H:29,700
KRR () =2 B| KR (FFHFE|_ERE JAC JAC 29,000 46% % +:29,900
EEKRS | JAL JAC 31,100 37% % 1:32,000
[PACE S BERS JAC JAC 29,800 44% | H:30,300
EEXKRE | JAC JAL 31,100 37% | H:32,000
KR (D) =k RES | KR (RFD | BERS JAC JAC 29,900 47% % +:30.800
PXERE | ERS JAC JAC 30,300 46% | £:30,800, H:31,700
ABR(FD =5# [ KR(FDFE| BRE JAC JAC 30,400 47% | +:31.300
CE 3 ERS JAC JAC 31,300 46% | H:32,200
ERE=EEXXS [ BRE JAC JAC 21,500 48%
BEXAER | BERS JAC JAC 21,500 48%
RBE=E85 EEEES BERS JAC JAC 23,100 46%
EEXKRE | JAC JAC 22,900 45%
ERER BERS JAC JAC 24,100 44%
EEXKRE | JAC JAC 22,900 45%
B =8 EEEES BERS JAC JAC 25,500 44%
EEKRE | JAC JAC 25,200 44%
[PACE S BERS JAC JAC 25,500 44%
EEKRE | JAC JAC 25,200 44%
18l =ihk RED [ BRE JAC JAC 26,000 46%
MKBRERE | BRES JAC JAC 26,000 46%
TEXRE | JUAC JAC 27,400 44%
ER=5H PR BERE JAC JAC 25,500 49%
CE 13 ERS JAC JAC 25,500 49%
BEXE | JAC JAC 29,100 44%

JAL/JTA/JAC/RAC



o
FFE#BNGI28 EHER (6A1H~30HEES) JAL/JTA/JAG/RAG
EEEAA 2012/1/24 ~
N - .
EY] Zamd BRERH 6/1-6/7 ;Z’%;g % 6/8-6/30 ;Z’%;g %
RED | XEQ@ i -
BROPE)=Ed [RZECHA) & H4 G 8) [JAL/JTA[JTA/RAC| 21,900 62% | H:23,000 26,200 55% |£:27.400, £:27,200, H:27.000
Eo% |G [JTA/RAC[JAL/JTA] 23,100 60% |+:21,900, H:25,500 26,300 55% | H:28,700
RHRCPR)=F1E [FFECHE) F[HE @) [JAL/JTA[  JTA 23,100 64% | H:24,300 26,700 58% |£:28.600, 1:28400, H:28.300
AEH [FEGRE)| JTA [JAL/JTA] 23100 64% | +:22,300 27,600 57% | H:28,200
KR () =% 31 | KPR (%) SR CRE) | JAL JAL 23,600 63% | H:24.400. 2 £:25,200, H:24,800 23,600 63% | H:24.400, £ 1:27,600, H:22.800
AR TR [ JAL JAL 24,800 60% | +:26.400 26,400 58% % 1:28,000
ZinBl% [EECHE)| JAL JAL 23,700 63% | A:24,900, £:25,700. F:25,300. H:27,200 23,700 63% | A:24,900, £:27,300. F:26,900. H:28,400
AR TR [ JAL JAL 24,800 60% | H:26,400 26,400 58% | H:28,000
KBR (B8TE) =% &3 | KPR (BE#E) [ /T CHE) | JAL JAL 23,600 63% | H:24.400. 2 £:25,200, H:24,800 23,600 63% | H:24.400, £ 1:27,600, H:22.800
AR TR [ JAL JAL 24,800 60% | +:26.400 26,400 58% % 1:28,000
ESES JAL JAL 23,700 63% | A:24,900, £:25,700. F:25,300. H:27,200 23,700 63% | A:24,900, £:27,300. F:26,900. H:28,400
JAL JAL 24,800 60% | H:26,400 26,400 58% | H:28,000
KB (RFH =781l [ KB (FFH) % JAL JAL 24,400 61% | F:24,800, £:26,300. F:25,600. H:24,600 24,400 61% | F:24,800, £:26,300. F:25,600. H:24,600
FENIE JAL JAL 24,400 61% | A$:25,600, H:25,100 24,400 61% | A%:25,600, H:25,100
K (BI#E) =fBJIl | KBk (BAFE) % JAL JAL 24,400 61% : :26,300, F:25,600. H:24,600 24,400 61% : :26,300, F:25,600. H:24,600
FENIE JAL JAL 24,400 61% 25,100 24,400 61% 25,100
KB (R FH =8IE% | KRR (5 5 JAL JAL 21,400 65% 24,200 21,400 65% 24,200
Pz JAL JAL 23,800 61% H:26,800 23,800 61% B:26,800
KB (RFH =I5 [ KB () 5 JAL JAL 24,400 60% | 5:24,800, 1:23,600, H:27.100 24,400 60% | 5:24,800, 1:23,600, H:27.100
BILFE JAL JAL 23,600 61% 4,800, £:25,600, 1:25,200, H:24,400 23,600 61% 4,800, £:25,600, 1:25.200, H:24.400
KR (R FH) =BRfE | KRR (5 % JAL JAL 21,500 60% 21,500 60%
EEES JAL JAL 22,700 58% 22,700 58%
pPNAGIES JAL JAL 22,200 57% 1 3,000, H:21,400 22,200 57% 1 3,000, H:21,400
ZR%E JAL JAL 22,200 57% | A%:23,400, H:23,000 22,200 57% | A%:23,400, H:23,000
PNACEIEIES JAL JAL 22,200 57% | F:23,000. B:21,400 22,200 57% | H:23,000. B:21,400
pNAGEE ] JAC JAC 18,700 41% |H:15,100 18,700 41% |H:15,100
[ETE = JAC JAC 15,100 52% 15,100 52%
KR (B =FB ([ KREFED % ERS JAC JAC 18,100 54% |&+:18.600 18,100 54% |£1:18,600
BYER | BERE JAC JAC 20,300 48% | +:21,300, H:21,800 20,300 48% | +:21,300, H:21,800
KR (RFH =2% [KXR(FMHE[F#@EGEM| JAL [JTA/RAC| 21,200 59% 24,200 53%
Em% PRI [JTA/RAC]  JAL 23,200 55% | H:24,200 26,200 49% |H:27,200
KB (BT == | KBk (BI#6) %[ GBIR) [JAL/JTA[JTA/RAC| 21,200 59% 24,200 53%
Eo% | ##GRE) [JTA/RAC[JAL/JTA] 23,200 55% | H:24,200 26,200 49% |H:27,200
KR (RFH =518 [ KR (FF F[94E GRE) | JAL JTA 21,500 62% |2 +:22,400 23,900 58% | % £:25,400
AEHX [FEER)| JTA JAL 24,400 57% | H:25400 27,400 52% | H:28,400
KB (BT) =F1E [ KBk (BI#E) F[948 GBI [JAL/JTA[ JTA 21,500 62% |2 +:22,400 23,900 58% | % £:25,400
REH [ JTA [JAL/JTA] 24,400 57% | H:25400 27,400 52% | H:28,400
ZHE (P =25 |2 EE (PE) %[ 4 JAL JAL 26,600 55% | % £:28,700 26,600 55% % 1:28,700
2 i B 56 JAL JAL 28,200 52% | H:28,700 28,200 52% | H:28,700
ZEE(hE) =EH[25B(FE % JTA [JTA/RAC] 18,400 67% | A+t H:18,600 24,100 57% E3 EI :24,300., %:23,400, +£:23,600
B JTA/RAC| JTA 21,200 62% | AH:21,400, 1:20,400 26,000 54%
ZEE(hE) =FIE|25B(FE % JTA JTA 19,600 68% | A+ H:19,800 25,300 59%
RiEFE JTA JTA 18,600 70% |A+£H:18,800 24,300 61%
HIRFHTFR) =/MRARF TR % JAL JAL 24,200 56% |+ H:25,300 24,200 56%
INEASE JAL JAL 24,300 56% A H:25,100, & 1:25,300 24,300 56% .
AIRFHTFR) =R [HEFTR % JAL JAL 25,200 60% |£:25.600, 1:24,800, H:26.600 25,200 60% 5,600, 1:24,800. H:26,600
e LI 5 JAL JAL 23,200 64% | % £:25,600, H:23,000 24,000 62% :26,000
WIRFHTFR) =LB[HLREFTRE JAL JAL 24,000 63% |%:25,200. H:26,300 24,000 63% |%:25200. H:26,300
LEE% JAL JAL 24,900 61% |A:25700, £:27,000, +:26,400 24,900 61% |A:25700, £:27,000, +:26,400
AREF TR =LOFH[ARFTR % JAL JAL 25,600 62% [%:26,000, 1:24,400. H:27,600 25,600 62% | 4::26,000, +:24,400, H:27,600
WO ERSE JAL JAL 23,000 66% 23,200 66% +:25,600, H:23,000_
WRFHTFR) =HELRFTRE JAL JAL 26,500 59% 6,100, H:29,500 26,500 59% 9,300, +:26,100, H:29,500
HEF JAL JAL 25,100 61% 6,800, H:25,500 25,100 61% 8,900, :27,600,
WIRFH TR =BBLREFETRH JAL JAL 22,900 64% 2,500, H:25,700 22,900 64%
B 5 JAL JAL 23,200 63% 5,500, £:24,400, H:23,000 23,600 63%
WIRFHTFR) =" [ARFETR % JAL JAL 25,200 60% +:24,800, H:27,600 25,200 60%
BInFE JAL JAL 24,400 61% 24,800 61%
WIRFHTFR) ="M [ALREFTR % JAL JAL 24,800 62% 24,800 62%
BT JAL JAL 24,800 62% 25,200 61%
HIRFHTFR) =ML [HLREFTR % JAL JAL 25,600 61% 25,600 61%
NIE JAL JAL 26,400 60% 26,800 59%
IR B F %) =LA LR FF ) JAL JAL 26,000 63% 26,000 63%
EZED JAL JAL 26,800 62% 27,200 61% :24,
WIRFTFR) =KD [LRFTR % JAL JAL 26,400 62% } 26,400 62% +:24,400. H:28,800
K535 JAL JAL 26,500 62% 8,300. T:27.200. H:26.900 26,500 62% 8,300, 1:28,000. H:26,900
WIRFHTFR) =RE[ALREFTR % JAL JAL 24,400 66% 5,600, H:28,000 24,400 66% 5,600, H:28,000
RIG5 JAL JAL 25,600 65% 25,600 65%
HWIRFHTFR) =BR[ARFTR % JAL JAL 25,600 64% 25,600 64% 6.400. H:28,000
EARF JAL JAL 26,500 62% 26,800 62% 7,300, %:28,300, £:28,100, H:26,500
AR TR -6 ARG % JAL JAL 26,400 62% 26,400 62% 7,600, H:28,800
e JAL JAL 26,500 62% 26,500 62% 7,300, %:29,000. £:28,000
WIRFFHR) =BRS AR FHTR R JAL JAL 27,000 63% 27,000 63% 7,800, H:28,400
BERE% JAL JAL 25,600 65% 3 25,600 65%
WREF TR =BEAB[ARFTR R JAL JAL 37,800 53% :38,600, H:36,600 37,800 53%
B 5% JAL JAL 37,000 54% 8,800, H:37,800 37,000 54%
IR FFR) =4l (BT | ALIR (BT 3%) % [ 2 JAL [JAL/JTA] 26,200 65% 0,000, +:26,400. H:29,100 29,000 61%
JAL [JAL/JTA] 25,000 67% | H:25800 27,400 64% H 23 200
JAL JTA 27,100 64% | H:28,700 30,900 59%
] JAL JTA 24,300 69% 5,100, H:26,400 25,100 68%
hEE (B F|RZE (BH) [JAL/JTA[  JAL 27,600 63% | A:28,400, £:30,100, £:27,800, H:29,800 30,000 60%
KB (B876) [JAL/JTA] JAL 27,400 64% | ::28,200, H:29,000 29,800 61%
] JTA JAL 25,900 67% 26,700 66%
& = & Bl BEIFE [ERERCEE)| JAL JAL 26,800 66% 26,800 66%
AR TR [ JAL JAL 25,700 65% 25,700 65%
ZimplFE [ERCRAE)| JAL JAL 26,900 65% 26,900 65%
I JAL JAL 25,700 65% I 25,700 65% I
& =8I [ERES = JAL JAL 26,800 65% | A:27,600, £:29,800, £:29,600, H:28,400 26,800 65% | A:27,600, £:29,800, £:29,600, H:28,400
JENIE = JAL JAL 26,400 65% | A:27,600, £:30,600. H:30,000 26,400 65% | A:27,600, £:30,600. H:30,000
= =2 [EEES 5 JAL JAL 25,400 66% | %:27, 25,400 66% |:27.
SERF = JAL JAL 25,800 66% | 7K:27.000. %:30.200. 26,600, H:29.800 25,800 66% | 7K:27.000. %:30.200. 26,600, H:29.800
w'E="F5 Fe e = JAL JAL 26,800 64% | A%:27,600, H:30,800 26,800 64% | A$::27,600, H:30,800
HIEFE = JAL JAL 26,000 65% |#::30,800, 1:30,000. H:26,800 26,000 65% |#::30,800, 1:30,000. H:26,800
1B =R [EEES = JAL JAL 24,700 64% 7,200, H:28,400 24,700 64% 7.200, H:28,400
BERF 5 JAL JAL 26,300 61% 7,900, F:27,100. H:29,200 26,300 61% 7,900, +:27,100. H:30,700
EE=FH% HEE N EEACE JAL JAL 27,400 59% 8,200, 1:25,800, H:28,300 27,400 59% 8,200, 1:25,800, H:28,300
KR (RF JAL JAL 29,800 49% 30,600 48%
EHHE [ERCEE)| JAL JAL 26,200 61% 26,200 61%
KR (D[ JAL JAL 29,800 49% 29,800 49%
wBRE==R BEE ["RERCHAE)| JAL JAL 24,600 63% 24,600 63%
HRECHE)| JAL JAL 24,600 63% 24,600 63%
B =15 BEH | KRED| JAL JAL 29,400 49% 31,000 46%
eEFE  [KREFD| JAL JAL 29,400 49% & 29,400 49% &
&R =#m| BEIFE [ERERCEE)| JAL JAL 23,700 61% |4 , 23,700 61% |4
RiR(FFD|  JAL JAL 22,000 60% | H:22,800, £:21,600 23,600 57% | H:24,400, £:23,200
MEFE [ERCEE)| JAL JAL 23,700 61% | A:24,900, £:27,700, £:25,700 23,700 61% | A:24,900, £:27,700, £:25,700
PRGN JAL 22,800 58% |4 H:23,200 22,800 58% |4 H:23,200




o
FFE#BNGI28 EHER (6A1H~30HEES) JAL/JTA/IAG/RAG
EEEAA 2012/1/24 ~
N - .
R #Zeltd BERH 6/1-6/7 %;2 s 6/8-6/30 %;2 s
RED | XEQ@ " i
fEE =1L wE% [RRHA)| JAL JAL 22,800 58% |+ H:23,200 22,800 58% |+ H:23,200
KR (D[ JAL JAL 29,100 46% 29,100 46%
WWR%E  [REER)] JAL JAL 23,200 58% | £:25,000. H:22,300 23,200 58% | %:25,000. H:22,300
KR (D[ JAL JAL 29,100 46% 29,100 46%
EE=%R KB (FFD[ JAL JAL 21,000 59% 22,600 56%
3 ENAGZSINN JAL 21,800 57% 21,800 57%
1ERE =/ EEH% |[RRCHIA)| JAL JAL 24,000 59% |£:25,200. H:26,800 24,000 59% |%:25,200. H:26,800
AMAFE  [RERER(CRE)|  JAL JAL 23,400 60% |[AH:25.200. £:29,000. 1:24,400 23,400 60% |[AH:25.200, £:29,000. 1:24,400
EE==4 fEE%  [FEGRE)| JTA [JTA/RAC] 17,200 62% 19,200 57%
B 8 (GRH) [JTA/RAC]  JTA 20,200 55% | H:21,000 22,000 51% | H:23.000
tEE=FhiE [ERES hi8 GRER) [ JTA JTA 18,400 64% 20,400 60%
AEHX  [FEEHR)| JTA JTA 18,400 64% 20,400 60%
ZimE =& ZimAlFE [AR@EETFR| JAL JAL 23,900 52% 23,900 52%
il & % EEHFE) | JAL JAL 23,900 52% 23,900 52%
A=/ ESE S HCHE | JAL JAL 24,700 61% % 1:26,900. H:29,000 24,700 61% |% +:28,500, H:30,200
R FOCRE)|[  JAL JAL 25,500 60% 6,300, +:26,200. H:28,600 25,500 60% 9,000, 1:28,600. H:26,300
23 A = Rl L ESLES FCRE)|  JAL JAL 26,500 63% 26,500 63% 8,600, H:30,400
e LI 5 FCRE)|  JAL JAL 25,200 65% 25,200 65% 9,200
TRl =HE EShE S FOCRE)|  JAL JAL 27,800 62% 27,800 62% 1,400, H:34,100
HEF = [ JAL JAL 25,600 65% 25,600 65% 1,200
bR =l ESCEIES = [ JAL JAL 26,900 63% 26,900 63% 9,300, H:32,400
PALFE = [ JAL JAL 27,200 63% 27,200 63% % 1:32,400. B:26,500
BN =/ JEIES = [ JAL JAL 25,400 59% 25,400 59% H :29,200
INEASE = [ JAL JAL 25,400 59% |%.28.000. £.27.800. H:27.000 25,400 59% |:28,200, +:27,800, H:27,000
JBIII=MWL NI = [ JAL JAL 27,200 61% 27,200 61%
e LI 5 = [ JAL JAL 24,700 65% | €::27,200, +:26,700, H:25500 24,700 65% | €:27,200, +:26,700, H:25500
BII=HE FENIE = [ JAL JAL 28,500 60% 0,900, H:30,700 28,500 60% 0,900, H:30,700
HEF = [ JAL JAL 27,100 62% % 1:28,400. H:28,300 27,100 62% % 1:28,400. H:28,300
JBIII=#0 NI = [ JAL JAL 27,600 61% | £:29,200. H:28,100 27,600 61% | £:29,200. H:28,100
PALLFE = [ JAL JAL 26,800 62% 9,300, +:28,600. H:27,200 26,800 62% 9,300, +:28,600. H:27,200
HIER =/ SERFE = )| JAL JAL 24,800 59% 3,800, H:30,400 24,800 59% 3,800, H:30,400
INMAFE = [ JAL JAL 24,800 59% 6,400, 1:25,600. H:28,000 24,800 59% 6,400, 1:25,600. H:28,000
#IEE=FE0 SERF = [ JAL JAL 26,600 61% 8,900 26,600 61% 8,900
i L1y 5 = [ JAL JAL 24,100 65% 5,400, 1:24,600. H:26,500 24,100 65% 5,400, +:24,600. H:26,500
fiR=HE SERF = [ JAL JAL 27,900 60% 27,900 60%
HEF = [ JAL JAL 24,700 65% 24,700 65%
FIEE=#i0 SERFE = [ JAL JAL 27,000 62% 27,000 62%
PALFE = [ JAL JAL 25,800 64% 25,800 64%
L=/ ELF = [ JAL JAL 24,600 59% 24,600 59%
INMAFE = [ JAL JAL 25,400 58% 25,400 58%
HIL=FELl L = )| JAL JAL 26,400 61% 26,400 61%
el LI 5 = [ JAL JAL 25,200 63% H 27 900 25,200 63% H 27 900
HL=HE HmILFE = [ JAL JAL 27,700 60% |2 27,700 60% |&
HE = [ JAL JAL 27,100 61% 27,100 61%
L= BILFE = [ JAL JAL 26,800 62% X 26,800 62% X
PALLFE = [ JAL JAL 27,200 61% :28,400, H:29,600 27,200 61% :28,400, H:29,600
EERINA HEES = [ JAL JAL 23,900 55% | H:26,300 23,900 55% | H:26,300
INMAFE = [ JAL JAL 23,300 56% | +:25,800, H:26,300 23,300 56% | +:25,800, H:26,300
EEE=ML HEES = [ JAL JAL 25,500 59% | H:28,800 25,500 59% | H:29,500
i LI 5 = [ JAL JAL 23,900 61% | £:26,400, 1:26,300. H:25,500 23,900 61% | £:26,400, 1:26,300. H:25,500
HiE=HE BERF = [ JAL JAL 26,800 57% 26,800 57%
HE = [ JAL JAL 24,300 61% 24,300 61%
BEE=HL BERF = [ JAL JAL 25,900 59% 25,900 59%
PALLFE = [ JAL JAL 25,900 59% 25,900 59%
EfE=dt M BRERF = [ JAL JAL 26,700 61% 26,700 61%
EIZRIES = [ JAL JAL 24,700 64% 24,700 64%
HEiE=X% BERF = )| JAL JAL 26,700 60% ] ] 26,700 60% ] .
K% = [ JAL JAL 26,300 61% % 1:28,800. H:29,200 26,300 61% % 1:28,800. H:29,200
HEE=RIG BERF = [ JAL JAL 26,300 63% | H:29,200 26,300 63% | H:30,700
RIBFE = [ JAL JAL 25,300 64% | %:27,200. 1:26,800. H:29,200 25,300 64% | %:27,200, 1:26,800. H:29,200
HEE=REA AR5 = [ JAL JAL 25,900 62% 6,300, H:29,200 25,900 62% 6,300, H:30,700
REA S = [ JAL JAL 23,500 65% :26,000. H:28,000 23,500 65% :26,000, H:28,000
B AR5 = [ JAL JAL 25,900 62% 25,900 62%
HiEF = [ JAL JAL 25,500 63% 25,500 63%
HE=ERS AR5 = [ JAL JAL 27,700 61% 27,700 61%
BRESR = [ JAL JAL 24,900 65% 24,900 65%
HE=EEZXE | BEXBH [Hx )| JAL JAL 36,700 53% |2 36,700 53% |3
BEHR=/MR AR = ) JAL JAL 25,100 52% 3 £:23,600 25,100 52% 3 £:23,600
IMAFE = [ JAL JAL 25,100 52% 25,100 52%
HEH=MWL EHR = [ JAL JAL 26,900 55% |H + H:25.400 26,900 55% |H + H:25.400
[N = [ JAL JAL 25,300 58% |:25,800, +:25,000, H:26,100 25,300 58% |:25,800, +:25,000, H:26,100
EH=LE EHR = [ JAL JAL 25,800 58% | A £ H:25,000., %:26,600 25,800 58% | A £ H:25,000. %:26,600
NEES = [ JAL JAL 25,800 58% |4:27,400, +:25,000, H:26,600 25,800 58% |4:27,400, +:25,000, H:26,600
BEHx=ILOFE AR = ) JAL JAL 27,400 58% | A H:25,800, 1:24,200 27,400 58% | A H:25,800, 1:24,200
IIEEEAES: [ JAL JAL 24,200 63% 24,200 63%
BEHR=HE ERR = [ JAL JAL 25,900 58% | %:27,900. B:27,500 25,900 58% | %:27,900. B:27,500
| JAL JAC 28,300 49% 28,300 49%
[ JAL JAL 27,700 55% | %:28,100. H:28,300 27,700 55% | %:28,100. H:28,300
)| JAC JAL 26,200 53% £ H:27.400 26,200 53% |% H:27.400
EH=15 [ JAL JAL 24,700 59% A+ H:23,900 24,700 59% A+ H:23,900
[ JAL JAL 24,700 59% | H:25,500 24,700 59% | H:25,500
EH=mi [ JAL JAL 27,000 55% | A +£:25,400, £:27,800. H:26.200 27,000 55% | A +£:25,400, £:27,800. H:26.200
[ JAL JAL 25,800 57% | £:26,200. B:27,500 25,800 57% | £:26,200. B:27,500
EH=m4 [ JAL JAL 26,600 57% | A +£:25,000, £:27,400. H:25.800 26,600 57% | A +£:25,000, £:27,400. H:25.800
[ JAL JAL 26,600 57% |4::28,200, H:27,300 26,600 57% |4::28,200, H:27,300
HH=#ul [ JAL JAL 27,400 56% A+t H:25,800 27,400 56% At H:25,800
[ JAL JAL 27,400 56% | H:27,800 27,400 56% | H:27,800
BEHx=dtAM [ JAL JAL 27,800 58% | A £ H:26,200, %:28,600 27,800 58% | A+ H:26,200, £:28,600
[ JAL JAL 26,600 60% | H:27,400 26,600 60% | H:27,400
BEHR=KS JAL JAL 28,200 57% | H:26,600, 1:25,800 28,200 57% | H:26,600, 1:25,800
JAL JAL 30,700 45% 30,700 45%
JAL JAL 28,200 57% |+:27.800. H:29,000 28,200 57% | £:27,800. B:29,000
EH=RE JAL JAL 26,200 62% | A £ H:25,800., %:27,400 26,200 62% | A £ H:25,800., %:27,400
JAL JAL 28,800 54% | % £:29,800, H:29,400 28,800 54% | % £:29,800, H:29,400
JAL JAL 28,200 59% | H:28,800 28,200 59% | H:28,800
EHR=EX JAL JAL 25,400 62% | %:27,400. 1:26,200. H:25.800 25,400 62% |#::27.400, 1:26,200. H:25,800
JAL JAL 31,700 47% 31,700 47%
JAL JAL 25,400 62% | H:26,600 25,400 62% | H:26,600
JAL JAL 31,300 48% :31,700, H:31,900 31,300 48% :31,700, H:31,900
EH=05 JAL JAL 26,200 61% . 26,200 61% .
JAL JAL 31,400 48% 31,400 48%
EEXE [REREH| JAL JAL 26,200 61% 26,200 61%
RBR(FFD[  JAL JAL 31,400 48% 31, 31,400 48% 231,
EHR=ERE EHFE [EZREE)| JAL JAL 27,800 60% :27,200, %:28,800 27,800 60% :27,200, £:28,800
RiR(FFD|  JAL JAC 30,600 52% :31,800, H:31,000 30,600 52% :31,800, H:31,000
BREFE [RR(CRHE)| JAL JAL 28,200 59% | H:29,300 28,200 59% | H:29,300
KR (FFH|  JAC JAL 30,200 52% | £:30,600, +:31,000, H:31,800 30,200 52% |#::30,600, 1:31,000. H:31,800




o
FFE#BNGI28 EHER (6A1H~30HEES) JAL/JTA/JAG/RAG
EEEAA 2012/1/24 ~
N - .
P8 2 end BERH 6/1-6/7 %;g % 6/8-6/30 %;g %
RED | XEQ@ " -
BER=EEXE EHFE [HRRERCEE)| JAL JAL 37,600 51% %i 38,400 37,600 51% %i 38,400
BERER [RECHH)| JAL JAL 39,600 48% 1,200 39,600 48% 1,200
RBR(FFD[  JAL JAL 39,600 46% 1,200, H:42,000 39,600 46% 1,200, H:42,000
HCHE | JAL JAL 23,200 55% 2,200, B:24,800 23,200 55% 2,200, B:24,800
FCRE)|  JAL JAL 24,000 53% |4 H:24,800 24,000 53% |4 H:24,800
= [ JAL JAL 25,000 58% 25,000 58%
= [ JAL JAL 22,300 63% 22,300 63%
= [ JAL JAL 23,800 61% 23,800 61%
= [ JAL JAL 23,000 62% 23,000 62%
= [ JAL JAL 25,400 60% |4 25,400 60% |4
= [ JAL JAL 23,800 63% 23,800 63%
= [ JAL JAL 26,300 57% |4 H:28,300 26,300 57% |4 H:28,300
= [ JAL JAL 24,200 60% % +:25,800 24,200 60% % 1:25,800
= [ JAL JAL 22,700 62% 22,700 62%
= [ JAL JAL 22,700 62% 22,700 62%
= [ JAL JAL 25,000 58% 25,000 58%
= [ JAL JAL 23,800 60% 23,800 60%
= [ JAL JAL 24,600 60% 24,600 60%
= [ JAL JAL 22,200 64% 22,200 64%
= [ JAL JAL 25,400 59% 25,400 59%
= [ JAL JAL 24,600 60% 24,600 60%
ZiR=JhM = [ JAL JAL 25,800 61% 25,800 61%
= [ JAL JAL 24,600 63% 24,600 63%
R=K% = [ JAL JAL 26,200 60% | £:24,600 26,200 60% | £:24,600
= [ JAL JAL 26,200 60% 26,200 60%
=Rk = )| JAL JAL 24,200 65% |% H:25.400 24,200 65% | & H:25.400
= [ JAL JAL 26,200 62% 26,200 62%
R=FEK = [ JAL JAL 24,200 63% |4 H:25,400 24,200 63% |4 H:25,400
= [ JAL JAL 23,400 65% | H:25,000 23,400 65% | H:25,000
B = [ JAL JAL 24,200 63% | €::27,000, +:25,400, H:26,200 24,200 63% | €:27,000, +:25,400, H:26,200
= [ JAL JAL 25,400 62% 25,400 62%
ZR=ERE = [ JAL JAL 25,800 62% |4 H:26.200 25,800 62% | H:26.200
= [ JAL JAL 25,800 62% 25,800 62%
= [ JAL JAL 37,600 50% | H:38,400 37,600 50% | H:38,400
= [ JAL JAL 21,900 53% | %:22,700. B:24,300 21,900 53% | %:22,700. B:24,300
= [ JAL JAL 21,900 53% 2,700, H:23,500 21,900 53% 2,700, H:23,500
FEA =L FREFE = [ JAL JAL 23,700 57% :24,500 23,700 57% :24,500
] L1 5 = [ JAL JAL 22,100 60% 22,100 60%
MEA=L5 A= = ) JAL JAL 22,500 59% | H:24,100, £:23,300 22,500 59% | H:24,100, £:23,300
NEES = [ JAL JAL 22,900 59% | H:23,300 22,900 59% | H:23,300
MA=LAFE FREFE = )| JAL JAL 24,100 59% |4 H:24,900, £:23,700 24,100 59% |4 H:24,900, £:23,700
IEEEAES: [ JAL JAL 21,700 63% :22 21,700 63% 22
MH=HZE PGB IESS [ JAL JAL 24,600 56% 24,600 56%
KR (FFD[ JAL JAC 22,000 58% 22,000 58%
HER [RRCHE)| JAL JAL 22,500 60% 22,500 60%
KR ([ JAC JAL 18,800 64% 18,800 64%
ME=E5 PEFE = [ JAL JAL 21,400 60% 21,400 60%
BEFE = ) JAL JAL 20,500 62% :20, 20,500 62% :20,
MEA=En FREFE = )| JAL JAL 23,700 56% |4 H:25,300, £:23,900 23,700 56% |4 H:25,300, £:23,900
EARFE = [ JAL JAL 22,100 59% |%£:22,900, H:22,500 22,100 59% |%£:22,900, H:22,500
ME=5 S = [ JAL JAL 23,300 58% 23,300 58%
[SRES = [ JAL JAL 21,300 62% 21,300 62%
FE=#0 WN=ES = [ JAL JAL 24,100 57% |% H:26.500 24,100 57% | H:26.500
NIt = [ JAL JAL 23,700 58% 23,700 58%
FE=dtAM WN=ES = [ JAL JAL 24,500 60% |#::26,100, H:25,300 24,500 60% |#::26,100, H:25,300
EIZRIE:3 G [ JAL JAL 24,100 61% 24,100 61%
MEA=X% PEEES = JAL JAL 24,900 59% 24,900 59%
ES R&(W}) JAL JAL 23,200 56% 23,200 56%
A9F  [ERER(CHH)| JAL JAL 24,100 60% 24,100 60%
FE=RIG MEX [RRGHA)| JAL JAL 23,300 63% :24,900, +:24,100 23,300 63% :24,900, +:24,100
RBR(FFD[  JAL JAL 21,000 64% % 1:22,800. H:22,000 21,000 64% % 1:22,800. B:22,000
B [RmCEHA)| JAL JAL 24,100 62% | H:24,900 24,100 62% | H:24,900
HME=FX EFE [ERCEE)| JAL JAL 24,100 61% |%£:25700, H:24,900 24,100 61% |%+£:25,700, H:24,900
RBR(FFD[  JAL JAL 23,900 58% |% H:24.300 23,900 58% & H:24.300
BA% [ERCEE)| JAL JAL 23,700 61% 23,700 61%
RIR(FFD|  JAL JAL 23,100 59% 3,900, +:22,700. H:24,700 23,100 59% 3,900, +:22,700. H:24,700
ME== BEFE [ERCEE)| JAL JAL 22,900 63% 6,500, 1:24,900, H:25,700 22,900 63% 6,500, 1:24,900, H:25,700
RiR(FFD|  JAL JAL 24,400 57% 6,800, H:26,400 24,400 57% 6,800, H:26,400
BEBE [EE@R)] JAL JAL 22,500 63% | H:24,100 22,500 63% | H:24,100
RBR(FFD[  JAL JAL 23,900 58% | H:25,500, £:24,400 23,900 58% | H:25,500, £:24,400
MHA=ERS MEX [RRGHA)| JAL JAL 24,700 61% 7,100, £:25,500, H:25,700 24,700 61% 7,100, £:25,500, H:25,700
RiR(FFD|  JAL JAC 22,800 62% :24,800, H:23,200 22,800 62% :24,800, H:23,200
BREFE [ER(CRHE)| JAL JAL 23,700 63% | H:24,500 23,700 63% | H:24,500
KB (D[ JAC JAL 22,000 63% | %:22,800, 1:23,200. H:24,000 22,000 63% |£:22,800. 1:23.200. H:24.000
ME=EXXE BEFE [ERERCEE)| JAL JAL 36,300 49% £ +:37.900 36,300 49% £ +:37,900
EEXEH [ERECHAE)| JAL JAL 35,500 50% | H:37,100 35,500 50% | H:37,100
AR JAL JAL 32,600 53% | %:33,400, 1:32,200. H:34,200 32,600 53% |£:33,400. 1:32.200. H:34.200
WL =/vi It HCHE | JAL JAL 20,500 49% | H:22,400 20,500 49% | H:22,400
INEASE HCHE | JAL JAL 21,600 46% | H:22,400 21,600 46% | H:22,400
L =R I3 FOCRE)| JAL JAL 21,000 57% 21,000 57%
i LI 5 FCRE)|  JAL JAL 20,600 57% 20,600 57%
=158 It 5 H)[ JAL JAL 20,700 58% |::23,200, H:22,300 20,700 58% |::23,200, H:22,300
= 5 [ JAL JAL 20,700 58% 20,700 58%
W= AFE 23 G H)[ JAL JAL 22,300 58% |% H:23.200 22,300 58% | H:23.200
I=EEAES: H)| JAL JAL 21,000 60% 21,000 60%
Ifis=HZE L% [RERGE| JAL JAL 25,100 49% | H:26.600 25,100 49% % H:26,600
RiR(FFD|  JAL JAC 26,600 48% 26,600 48%
HE RRECHE) [ JAL JAL 22,800 54% |&+:24.600 22,800 54% |&+:24.600
KR (BFD| JAC JAL 26,600 48% 26,600 48%
=5 23 FOHE)| JAL JAL 21,000 56% 21,000 56%
EE = [ JAL JAL 20,500 57% 20,500 57%
== i3 = )| JAL JAL 20,500 57% | H:22.300 20,500 57% |£H:22,300
BInFE = [ JAL JAL 21,400 55% 21,400 55%
Wiz ==% 23 = [ JAL JAL 21,400 57% 2,300, H:23,400 21,400 57% 2,300, H:23,400
IS = [ JAL JAL 20,500 59% :21,400 20,500 59% :21,400
L =#210 L5 5 = [ JAL JAL 21,900 56% :22,300 21,900 56% :22,300
HALLFE = [ JAL JAL 22,300 55% H :23,200 22,300 55% H :23,200
=dthM EIZINLE G [ JAL JAL 23,200 58% | H:22,800 23,200 58% | H:22,800
Wifis =K% itz = JAL JAL 23,200 57% 23,200 57%
B W}) JAL JAL 28,300 45% 28,300 45%
AH%E [ERERCHE)| JAL JAL 21,900 59% | H:24,100 21,900 59% | H:24,100
Wi =Rk W% [ERECHE)| JAL JAL 21,900 62% | H:24.100 21,900 62% |£H:24.100
RBR(FFD[  JAL JAL 30,700 47% | H:30,000 30,700 47% | H:30,000
RIG%E  [EERCEE)| JAL JAL 22,800 60% 22,800 60%
KR (D[ JAL JAL 30,700 47% 30,700 47%
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FFE#BNGI28 EHER (6A1H~30HEES) JAL/JTA/IAG/RAG
EEEAA 2012/1/24 ~
N - .
P8 Eet® BERH 6/1-6/7 %;g % 6/8-6/30 %;g e
EEQD | KEQ " -
AT ES W% [ERCGEE)| JAL JAL 22,800 58% |%:23,200 22,800 58% |%::23200
KR (D[ JAL JAL 29,100 47% 29,100 47%
BA% [ERCEE)| JAL JAL 21,900 60% 21,900 60%
KR (D[ JAL JAL 29,100 47% 29,100 47%
=2k W% [EECHE)| JAL JAL 22,800 58% |&+:24.100 22,800 58% |£+:24.100
KR (D[ JAL JAL 29,100 47% 29,100 47%
BEBE [EE@R)] JAL JAL 22,800 58% | H:24,100 22,800 58% | H:24,100
KR (D[ JAL JAL 29,100 47% 29,100 47%
IW=ERS W% [ERECHE)| JAL JAL 21,900 62% |% H:24.600 21,900 62% | H:24.600
KR (D[ JAL JAC 30,700 48% 30,700 48%
BRERE [EE(CRH)| JAL JAL 23,200 59% 23,200 59%
KR ([ JAC JAL 30,700 48% 30,700 48%
E=HE e [KERERD| JAL JAC 21,400 57% | H:20,600 21,400 57% | H:20,600
HER [ KR(FFD] JAC JAL 18,800 62% :20,200, £:19,000 18,800 62% :20,200, £:19,000
=K% ez [XKERUEFD|[ JAL JAL 22,600 55% :23,800 22,600 55% :23,800
KA [REREED| JAL JAL 20,600 59% :22,200, H:23,000 20,600 59% :22,200, H:23,000
B=RIK ez  [XERUEFD|[ JAL JAL 22,900 59% :23,800, H:23,400 22,900 59% :23,800, H:23,400
R [ KR(EFEFD| JAL JAL 21,800 61% 2,600, H:23,400 21,800 61% 2,600, H:23,400
s =Rx e [KERERD| JAL JAL 22,500 59% :23,700, £:22,900 22,500 59% :23,700, +:22,900
BEA%E [RKIRUEFD| JAL JAL 22,900 58% 3,700, H:24,500 22,900 58% 3,700, H:24,500
& ==& Es  [KERERD| JAL JAL 23,800 56% 7,000, £:25,000. H:26,200 23,800 56% 7,000, £:25,000. H:26,200
=% [ RR(FFD] JAL JAL 24,100 56% :26,100, F:24,600 24,100 56% :26,100, F:24,600
eE=kERS hEs  [KERERD| JAL JAC 23,800 59% = +.25,800. H:24,600 23,800 59% = +.25,800. H:24,600
BRERE |XR(EFM| JAC JAL 23,800 59% 5,800, 1:24,200, H:24,800 23,800 59% 5,800, 1:24,200, H:24,800
E=EXXE EaFE [XREFEFD| JAL JAL 32,000 52% :32,800 32,000 52% :32,800
BERER [KRUFEFR| JAL JAL 32,800 51% |%::34,000, H:34,800 32,800 51% |%::34,000, H:34,800
FR=HE FiR%  |KREED| JAL JAC 20,800 57% | H:18,200 20,800 57% | H:18,200
KR (D[ JAC JAL 17,800 63% 17,800 63%
FR=X5 RIR(FFD|  JAL JAL 20,600 57% £ H:21,400 20,600 57% £ H:21,400
KB (FFD[ JAL JAL 20,600 57% | H:21,400 20,600 57% | H:21,400
FR=RIE KB (FFD[ JAL JAL 21,200 61% [+ H:21.800 21,200 61% [+ H:21.800
KB (FFD [ JAL JAL 21,000 62% | H:21,800 21,000 62% | H:21,800
FR=RX % [ RIRUFFD| JAL JAL 22,500 57% 22,500 57%
% [ RIRWED| JAL JAL 22,100 58% | H:22,900 22,100 58% | H:22,900
FR== ¥ [ KERW@GFD| JAL JAL 23,800 55% |4 +:25,000 23,800 55% % 1:25,000
% [RKIRUFD| JAL JAL 22,900 56% |4 H:23,700 22,900 56% |4 H:23,700
FR=ERE FhE [ KERUFD|[ JAL JAC 23,000 59% 23,000 59%
BRERE |XR(E| JAC JAL 21,000 62% 21,000 62%
INR=FE 1L INMAFE FCRE)|  JAL JAL 21,700 58% 21,700 58%
i Ly 5 FCRE)| JAL JAL 21,500 59% 21,500 59%
INR=TRS IR = [ JAL JAL 22,800 57% 22,800 57%
LE% = [ JAL JAL 22,800 57% 22,800 57%
MA=ILAFE IMAFE = [ JAL JAL 22,800 60% : 22,800 60% :
I=EE A [ JAL JAL 21,000 63% | +.22.000. H:22.700 21,000 63% | +.22.000. H:22.700
INA=HE INEASE = [ JAL JAL 24,700 54% 24,700 54%
HEF = [ JAL JAL 23,900 55% :24,300, £:23,600, H:24,700 23,900 55% :24,300, £:23,600, H:24,700
IMNA=FES INAFE = [ JAL JAL 21,700 58% :22,500 21,700 58% :22,500
BEFE = [ JAL JAL 21,200 59% 2,400, B:22,500 21,200 59% 2,400, B:22,500
INA=EH IMAFE = [ JAL JAL 23,200 55% 23,200 55%
BIFE = [ JAL JAL 22,400 56% |%t H:23,200 22,400 56% |%t H:23,200
M= INEASE = [ JAL JAL 22,000 59% 3,600, H:24,600 22,000 59% 3,600, H:24,600
S = [ JAL JAL 22,800 57% 4,400, + B:24,700 22,800 57% 4,400, 1 B:24,700
M= INMAFE = [ JAL JAL 24,400 55% :25,100 24,400 55% :25,100
PALLFE = [ JAL JAL 24,400 55% . B:25,000 24,400 55% . H:25,000
I =FE R INMAFE = )| JAL JAL 24,800 58% . H:25,600 24,800 58% . H:25,600
EIZINIE = [ JAL JAL 24,800 58% +£:26,200. B:23,500 24,800 58% +£:26,200. B:23,500
IMNR=K5 INMRFE = [ JAL JAL 23,600 59% :26,000, +:24,000 23,600 59% :26,000, £:24.000
K% = [ JAL JAL 24,400 58% 4,000, B:26,400 24,400 58% 4,000, B:26,400
MA=RIE | MR = [ JAL JAL 22,800 63% 25200, £:23.200 22,800 63% 25200, £:23.200
RIBFE = [ JAL JAL 24,400 60% :26, 24,400 60% :26,
INA=FER INMAFE = [ JAL JAL 22,600 61% :25,200, £:24,000 22,600 61% :25,200, F:24,000
REA S = [ JAL JAL 24,400 58% 24,400 58%
INE=TE B INMAFE = [ JAL JAL 24,400 58% 24,400 58%
e = [ JAL JAL 24,400 58% 24,400 58%
IMNA=ERE INMRFE = [ JAL JAL 24,200 60% 24,200 60%
BREH G [ JAL JAL 24,400 60% 24,400 60%
IMNA=BEXE IMAFE = [ JAL JAL 35,800 47% 35,800 47%
FEEXEH [RRCHAAE)[ JAL JAL 35,800 47% 35,800 47%
IMNA=ETH IMFE h4E (BB | JTA [JTA/RAC[ 25200 57% :27, 27,600 53% :30,
B @ (FRF) [JTA/RAC]  JTA 22,100 62% | A H:24,500 24,500 58% | A H:26,900
INR=F1E | /MaFE BT [ JTA JTA 23,100 64% |2 +:25500 25,500 60% |£+:27.900
AiEH WA | JTA JTA 23,100 64% | A H:25,500 25,500 60% | A H:27.900
== e LI 5 @ERF | JTA [JTA/RAC| 20,000 61% % 1:22,400 22,400 57% |&+:24.800
=EH%E @ (FRF) [JTA/RAC]  JTA 23,100 55% | H:25,500 25,500 51% | H:27,900
=518 [N BT | JTA JTA 21,000 63% | % £:23,400 23,400 59% % 1:25,800
RIEFE W | JTA JTA 21,000 63% | H:23,400 23,400 59% | H:25,800
BH=E& BT JAL/JAC] JAC 23,200 47% |%:24,100. £ H:24,200 23,200 47% |%:24,100. £ H:24,200
HIEFE JAC [JAL/JAG| 23,200 47% &+ H:24.100 23,200 47% &+ H:24,100
BERE=5#H |BEXEHR JAC JAC 16,500 38% 16,500 38%
5% JAC JAC 16,500 38% 16,500 38%
BEXB=/KRE| BEXBH JAC JAC 15,500 48% 15,500 48%
X JAC JAC 15,500 48% 15,500 48%
(BB =F H) [JAL/JTA]  JAL 29,300 59% | +:28,400. H:30,000 31,700 55% | +:30,800. H:34,100
)| JAL [JAL/JTA] 27,200 62% |%:30,000 30,800 57% | F:29,600, £:34,400. F:29,800. H:30,100
R GRE) ) [JAL/JTA[ JAL 27,300 61% | H:29,700 29,700 58% | H:32,100
RE [X )| JAL [JAL/JTA] 25,200 64% 9,400, H:27,400 28,800 59% 2,400, H:31,000
AR (RER) =FEA [P GRE) 5 ) [JAL/JTA[  JAL 25,200 61% 4,300, H:28,400 27,600 58% 7,500, H:30,800
FRE S )| JAL  [JAL/JTA] 24,700 62% 8,900, 1:25,700. H:25,600 27,500 58% 1,900, £:28,100. B:29,200
R (RER) = Ufz B8 GRER) 5 ) [JAL/JTA[  JAL 23,800 60% 27,500 53%
I )| JAL  [JAL/JTA] 23,800 60% 27,900 53%
B (BB =& [P GRER) % JTA JAL 26,000 63% 26,800 62%
& % JAL JTA 24,900 65% 25,700 64%
B (ERER) =/ [hEE GRE) | CRIEA) [JAL/JTA[  JAL 25,500 59% :29, 27,900 56%
MA%  [EFEEGE)| JAL [JAL/JTA] 24,200 61% 8,700, 1:24,400. H:26,300 27,800 56% 2,200, H:29,900
ERE) =2 MEGRR) F|  ERE JTA [UAL/JAC] 24,700 52% 24,700 52%
BHFE 1Eh  [UAL/UAC] JTA 24,700 52% 24,700 52%
iR (RER) =L FF%%(%}BE)% = JTA JAC 23,500 51% 23,500 51%
PALLFE FEE] JAC JTA 23,500 51% 23,500 51%
RRCAE) =RZAE | RR(PTHE X ERS JAL JAC 26,800 57% | H:27,800 26,800 57% | H:27,800
KB (FFD[ JAL JAL 33,800 42% | K:34,700. £ +:35,600 33,800 42% | K:34,700. £ +:35,600
BERER | ERB JAC JAL 26,800 57% |4 H:28,300 26,800 57% |% H:28.300
KB (FFD[ JAL JAL 32,000 45% | H:33400 32,000 45% | H:33400
FRCHB) =ERS(ERCAR) R[] ER JAL JAC 31,400 50% |£:32.300 31,400 50% |%:32,300
BEAE | JAL JAC 34,200 39% |£1£:35,100 34,200 39% [&+:35.100
ERER ER JAC JAL 30,100 52% | H:30,800 30,100 52% | H:30,800
BEAE | JUAC JAL 34,200 39% | H:35,100 34,200 39% | H:35,100




FFE#BNGI28 EHER (6A1H~30HEES) JAL/JTA/JAG/RAG
EEEAA 2012/1/24 ~
N - .
EY] Zamd BERH 6/1-6/7 %;g % 6/8-6/30 %;g %
_ | KED | XEQ@ " -
FRCHB) =25 (ERCAR) %] ER JAL JAC 31,300 52% | H:32,400 31,300 52% | H:32,400
BEAE | JAL JAC 36,500 39% |£1:37.400 36,500 39% [&+:37.400
EPAE BEIR JAC JAL 31,300 52% 31,300 52%
BEAE | JAC JAL 36,500 39% | H:37,400 36,500 39% | H:37,400
RRCAE) =4k RH [ /ACAE E| ER JAL JAC 31,800 54% 31,800 54%
hKRER | ER JAC JAL 31,800 54% |%::32,600, H:34,200 31,800 54% |%::32,600, H:34,200
BEAE | JUAC JAL 38,700 39% | H:39,600 38,700 39% | H:39,600
RRCPE)=5%# RRE(RE | ER JAL JAC 33,800 52% |£:34,700 33,800 52% |%:34,700
BiwF BER JAC JAL 33,100 53% | H:34,700 33,100 53% | H:34,700
BEAE | JAC JAL 40,400 39% | H:41,300 40,400 39% | H:41,300
KR (P =&ZRE[ARFFDE] ER JAC JAC 24,800 50% | %:25,300. H:25,000 24,800 50% | %:25,300. H:25,000
BEEXAEXR | BRE JAC JAC 25,300 49% 25,300 49%
AR (FFH =ERB| KR (R #|_ER JAC JAC 28,000 45% |4 +:28,900 28,000 45% % 1:28,900
BEAE | JAL JAC 28,800 37% |£1£:29,700 28,800 37%
ERER BR JAC JAC 28,500 44% |3 28,500 44%
BEAE | JAC JAL 28,800 37% 28,800 37%
KR () =@z B| KR (R % ER JAC JAC 29,000 46% 29,000 46%
BEAE | JAL JAC 31,100 37% 31,100 37%
EPAE BEIR JAC JAC 27,800 48% 27,800 48%
BEAE | JAC JAL 31,100 37% 31,100 37%
KIR (77D =k RE | KBR RFD %] ER JAC JAC 29,900 47% 29,900 47%
PKERER | BR JAC JAC 30,300 46% 30,300 46%
KR (RFH =53 (KRB E| ER JAC JAC 30,400 47% 30,400 47%
ER JAC JAC 31,300 46% 31,300 46%
EBE=EXXE [ERES BER JAC JAC 21,300 49% 21,300 49%
EEXEH | BER JAC JAC 21,000 50% 21,000 50%
EHR=ERE HEES BER JAC JAC 23,100 46% 23,100 46%
BEAE | JAC JAC 22,900 45% 22,900 45%
ERER BER JAC JAC 24,100 44% 24,100 44%
BEAE | JAC JAC 22,900 45% 22,900 45%
EE=fEz5 HEES BER JAC JAC 25,500 44% 25,500 44%
BEAE | JAC JAC 25,200 44% 25,200 44%
EPAE BEIR JAC JAC 25,500 44% 25,500 44%
BEAE | JAC JAC 25,200 44% 25,200 44%
a8 =ihk REB [EEES ER JAC JAC 26,000 46% 26,000 46%
hKRER | ER JAC JAC 26,000 46% 26,000 46%
BEAE | JAC JAC 27,400 44% 27,400 44%
EE=5#% [EEES ER JAC JAC 25,500 49% 25,500 49%
BiwF BER JAC JAC 25,500 49% 25,500 49%
BEXRE | JAC JAC 29,100 44% 29,100 44%




